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ogeeogm  dgdsbogsls gem-ghmo  §sdyzebo  segomo  mgegzas 03 bsgbgdl
Am0l, GmIgmoi FeOdmseggbl mgmeogm 3sbsb olgmo Bgdbogg®o Lsgbgdobsmgol,
Amgme0iss  Jsbogsms  gsddmgmds, 35676930Ls s 397960B39801 09060,
©Og390m30L ngme0s, bsdgbgdmm 39ds6oss, JoGsgmoags s dGsgsmo libg.

3096 gm0l Lsgombgdmsb gomse  3Gsddognmo  $dmsbgdols sdmygoegdmse
3dmbLbol Bggazgdol Esnamgdsl. LHmege o3 sdm3sbsl gdlsby®gds 83 3e9dgemdo
'83(%\)60!20 aameﬂﬁ)n 800’)00)06360.

[0bsdmgdsty  30gdmmdo  Femdmeagbomos sdm(306900, GMImgdo s zdsme
sLboboggb  dsmemgls Badboga® Lobfogmaomgd8o  msbsdgedmgy  Lsbfsgmm
30 Asdgdomn 3smgemobfobgdmm 0gdsgogel. goggm  0gdsby  3gdnmdo
dmggsboemos  Gs3egbodg  Hodog®o  sdmisbol  Esfzdomgdomo  33mblbs  Lsgatim
I 300909mo 3ndsmdabsmgol, bmme o3 3dm(386900  33mbLGs  Ie39dmemas
Foabol  demremTo.
bsgoobgdo s dmgdgmos  Iglsdsdobo  gmedgmgdo. sdmigsbol  gs@Bgzols s
6‘3@1}015 Ba’bébéao’bo h\)dnm’babn, 806;‘)0({)06 .)8 dﬁab‘aQ'Bn 8("783\)60@0 8("160:78 mamﬁ)n‘ag’gn
(3603980 396 Bg(33m06 mgmEonm babgmddmgsbgmml.  Laln®ggmos sdm3sbgdols
0469L Bgbsdsdolo Igmmeg®o domamgdgdo.
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§1. 065303001 M INSNMNSK0D SAMGBI6S

00653030 doromswo 336mborsb gsdmdrabsty, bogmog®o M §g&@oemoals
3cdGsmdols 336 mgds dgodmgds Bsofgeml Lbgsesbbgs Lebom:

1) gaddbeodamo bsboo: mW= F . (1.1)
bosy M - Faddomols dobss, W - dobo shecrgds, |E - T968omBy

dcn g0 dsggdols Bme Jdgea.
2) ©943659b 2d6s3 JsBoymbs yeomEpobsos boligds do:

mX=X, my=Y, mZ=2 (1.2)
baas(s X,y,Z2 M {96 ool gmmér@absggdos, X, y ,Z - T9oomol W

3B Jsérgdals ggadoemgdos, XY, Z - o Jdgeo IE dogmols g9adoggdo.

3) goetpobsos d76286a3 bobpgdsdo  (d7bgdtozo  Beogoeol
©96dgdby - %, i, b ): mdv/dt=F,, mv¥p=F, O=F,,
(1.3)

bos(y Vi - F90Gomol LobJsdols ggadomos Besgdmeool dbgdby, v -
BboBJo®ol ooy, p - HOsgddmdool Lodermeal Gspongbos Faddomols
smgdmen  dpgdeérgmdsdo, Fr, F, Fy - dosmols g93d0mgdo dgbsdsdolse

B®s9dBme00ls Ibgdby (%), Gmﬁaaog%a(ﬁ ) 5 dabm&dsemby (6)

d) 06530306 302330 NHNNSK0 SAMGO6S

o7 dmigdamos m dsbols bogmogmo M(X,y,z) g6 omol dmd@smdols
30693580360 336 mgdgde 933689 JomGEobsggdda x=fi(t), y=fy (1),
z=f3(t), 35806 3 dcmdAsmdol 35333930 IE(X,Y,Z) dsgols  39a3dagrgdo

3360bsbm3698006  (1.2)  gm&mdnmgdon, bowmm ogon IE dsgols boporg ©s
dodsGrorgemgds asbolsbmgzdgds gmednmadom:
F =\X*+Y+Z72, (1.4)
Cos(x,” F )=X/F, Cos(y,* F )=Y/F, Cos(z* F)=Z/F.  (1.5)
oy dmgdnemos M dobols Gogmogho M Fg&d ool dmdesmdals
2968 megds 396936030 Labom s=f(t), 35806 lE (Fo,F,Fy) dsemols  gqadogmgdo
2360Lsb3693056 (1.3) gmednmadon, bswsg

v, =ds/dt. (1.6)
dools bopowpg s 803o€)mﬂgabo aaﬁcﬂm%Qg)ﬁgba RGN gdoo :
F=vVE? +F,?2 ; (1.7)

Cos(T , F)=FJ/F, Cos(ii,> E)=F,/F, Cos(b > F )0,

| T, ﬁ, b - FgLsdedoloe BMsgddmeool  dbgdol, bm@dsemols o
30bm®dsgmals dg9bsggdas.

A0NI0IIBS: ©06s3o 30l 306390 dotomseo  sdm3sbol 33mbLbs
6930396090 mmos 8930 0865303g30mdom: 1) gsdmzgbsbemm bsbsbby (o
9L Lsgotms)  bogmogdo OB omol d0deobstry  dgdsdgmds s dsbby
Inpgdymo, Gmaemdy sJBomda, sbgzg 830l Ggsdiools dsgmgdo; 2) sgodbomo
3OmOEabsBms  Lsmsbspe  Laliggds; 3) dmd®omdals  dm(3gdnmo ebmbol
dobgegom as63LsbmgOmn FgoOBomal  sBJsdrgds s dobo  gggdoggdo
b gmmcrobsgm 096dqdbg;  4) 3M0ObsBms  s®hgmmo Lol gdals
JgLsdedolog 39390g06m0  FgoBomol  IndBsmdols  ©0ggMgb(30sm @O0
296Bmmgdqgde  (1.2) o6 (1.3) Lsboo; 5) gebBmemgdsms  dopgdmemo
Lobgdowsb gsbgbsbmgtmm ibmdo Lopowggdoa.

SANBI6S 1.1. m=2 43 dsbol bogmogeo FgOomol  dmdAremdals
396060 333molbsbgds  asbBmmadgdom:  x=3t-2t" (L), y=-4t*+1 (1),
z=5t+4 (1.9),
bosg t aodmbobyemoas 339630,

336LsbmzGgo FooBombg dmddgeo degrol bopory =1 3 3dg6@ do.

AL L6Y. ToOdomby dmddgeo F dogmols a9ad0emgdo
3360Lsbm3698056 (1.2) ge®dnmgdon.

33m(39601 3063030086 333mI0bstry: X =18t-4, y=-8, 7 =0. 330 md,
(1.2)-0b onsbobdo 6980L30gé t dmdgbBo: X=2(18t-4), Y=-16, Z=0.

t=1 {3 3dq6830: X=28, Y=-16, Z=0.

F dsmol ooy o0f6gds: F=V X+Y>+Z2 =2V 255 =31,9 6.

S3(MBH6S 1.2 bogmogo FgoBomo dcmddsmdls R=8 3 &owoqlol
Feg9Gomsy, s=2t* 3 396mboor  (t — (939880). 3s6Lsbmgzegem 33 FadBomols
Lo, oy (36mdomoas, G@d, Gogs =2 3-L, 3sFab  FgOBomby dmdgeo
dogmols Loowgs F =5 6.

SIMEL6Y. Toodomo  Idersmdls Fo9Go0dy, 3domd
30%563gfmbogos  gedmgoggbmm  gmmeEobsBms  d7bgdcoga Boligds.

Toodomby  Imddgeo F dsmol  ggadomgdo  asbolebmamgdost  (1.3)
QO gdoo. (1.6)—0b  0sbsbds v =ds/dt= 4t; GHgFodrbg dmd@rscmdalisls
vi=v=4t; s30md  g39698s:
F.,=mdv./dt=4m; F,=mv¥R=2mt;  F=0.
(1.7) - ob  sbsbdsg F dogmols  bopopg  ©Omol  6gdoldoge  t
dmdgbBobsmgals:

F=VF?2 +F,2, s65 F=v16m>+4m’" ; (*)



3060l 0365bds@ s=2t% 3d0md, Mmool ol dmdgbdo, Gmes
To6OBomo  gsogmal s=2  3-L, o0g6qds 2=212, g0. =13, 6@l 3
93968 0bsmgols F=V5 .

(*) Homodopsh  dogomgde  (t=1¢3, F = V5 6) :

V5 =v16m’*+4m? ; 1 , m=0,56.

OIIBO6S 1.3. «dérezo 0 mged 4 99 33r7bsg demm 3By sbzgmmo
0mgol msgolmeggem dmmmby QodoggaogﬁQ’oo P=12 46 Gmbol Bgo60m0,
G0dgmoi Iddsmdl W=g/2 b Gomo  shJedgdom. as6lsboghgn mmgol
©s3ad7mmds, Bmis brgds Bzo6mols 8§ g3..

SAELES. $3060Bg 30390931 m60 degms: P -8 g06m0ls

103dodol dsgms s T - 0m 3ol sgodnmmdals dsems. ©absdogols
4060050 3sbmbol  0msbsbdse B30Mmol ImdGsmdals  3s6mbo
069ds: mW=P+T. (*)
303050000 X mgHdo  $30000L  dmd@smdol  bstgl
(Bgdmm) ©s s3939330e0mo (*) Bmenmds 33 mg@dby. dogomgdo:
mw =-P+T; sjgeosb T=mw+P =P/g- g/2 +P =3P/2=1,8 46.

QH5352Jd9: 336Lsbm3tge  omzol  sgadnmmds,
O3S $306000 3md@smdls J3gz00. 3slmbo:
T=0,6 46.

SIMGY6S 1.4 m = 0,2 33 9sbal  bogmogeo Fadpoma  IndGHsmdls
go6mbom X =8+ 3 (3), y=3t-4 (3). asbLsbwgtgm F9OEomby dmdgeo
dsmols ggadoemgdo t=1 {3 dmdg6¢8do. 3sbmbo X =3,26, Y=
0.

SIMBI6S 1.5. m =1 33 kol 6bogmogho §goBomo ddrscmdls
3obmboo: r= | e + J Cos’t -k %, bssg T - GodOBomol  Gopoqyl -
39J@oG0s smgemols  0Xxyz obgézomemo Loliggdols dodséror (I - 3g8e9ddo, t -
§939380). 3s6Lsbmztgm FooGomby dmJdgeo dsemols Lopowpy ©Omols bsfyol
t,=0 3m3dg6¢do. .

3sbmbo: F,=26

SIMBO6S 1.6. Lodo 3mwdogo Ifl, Ifz, |f3 dogms, G™3gemms
bowopggdo s33sgmagamgdl FiiF,:F=1: 2: 3 065306003, 3 Jdgegdl m=3
33 9sbol  FadBomby  gohmo ©s 0dsgy dods@orgmgdon s sboggdl dob
w=3 8/%’82 3B Jocr9dsls. 03(*)330’) ®omemgneo 83 dogmols Logowy.

3skmbo: F1=1,56; F,=36; F;=4,56.

SIMBY6S 1.7. m =1 43 3dsbol 6Gogmogho FodO@omo  cdescmdls

smgmols oGaF)GOQQo OXYZ 13015@330 d0dse0 ™G0 dgedogo dsgmols

dcmJdgegdom: F fl + 2 j +3 k © IE 2:374- 2 ] + R (6). Aoy
sbJsérgd00  dmdGrsmdls FgdBoema? _
3sbmbo: w=4V5 3/ Ga.

SIGB6S 1.8. m dskol  bogmogHo  FgoGomo  dmdersmdl smzmals
obgézommo 0xyz Lob@ggdol dodséro Lsdo dmmdogo dsemols dmJdgegdom:

F=i+j+k, F=2i+2]+2k, F=37-3]+s5k ().
Omam6 o 390bgl sEa g6l FodGomal sBJser1960l 39]@mt0 3omeEbsGos Oy

096 dns67? 5
3sbmbo: o = m/2.
SIMGH6S 1.9. P =49 6 Gobol bogmogto (goomo dcnderscmdls
3060bmbEomne boddgygdo dmmszlgdnmo R=9 13 cswoqlol Fegfomty

s=8t 1,3 396mbom. 3sblsbmzmgm 33 FgOBom by dmddgeo If dogmols Lowoey s
30dsrmmemads t =1 3 3cdg68 3o. 3slmbo: F =46; tgo =
3/4;
(o 360l 3moby 'f dogmsls s Bgledsdols Geomll dmeols).

SIBI6S 1.10. m=1 43 dsbob bogmogHo FodB oo dmdtrsmdls R=13
Gspogbol  FogFomol @ gemby s=t* -t + 1 3906mboor (5-398¢9dda, t -
§939080). as6lsbeztgn FooEomby dmdgeo IE dogms eémol t=0,5 3
dm3dg6¢) do.

3olgbo: |E =27 6.

SAMGBIE6S 1.11. R= 10 13 Gowoqglol omgzby wsbggnmo  omgol
0s30bnsm  dmmeby  sgoegdgmoas P= 800 6 fmbols @zotmo. momgo
3r7bsgls =30 \;’8" 39067960 LobJseom. asb6Lsbmztgm mm ol sFodgmmds,
GoiEs $306m0: o) soffg39; 8) 983980 (0b. bab.1).  3slmbor ) 10456 ) 555
6.

SIIBI6S 1.12. P Gmbol  Bzotmo, Gmdgmoi  ©8300g89m0s

afmboe s dodse  dsgodby, soffggs  gdoms
39083990L  LoBgemgdom.  gsesd(zgdo  dgdebobdols

9939689300 dsbgdo o .
Fobsomds mammagdgmgsgoom. m

396LsBm3Mg0 dsg060l EsFodnmemdals f dogos,
oy ases;39dol 0; mgsmol Gspoglos R s dolo

390b 60 bohJotrg ogemgds  @=kt 386cmbom, Loy _
k smgdomo dmwdogos.  3slbmbo: T =P(1+ Rk/g). Bab. 2.
S3MBS6S 1.13. mndomoliols
960 3gmomeol  B@sdzsol gsgmbo, GmImols ol
3¢l m = 800033 , 593985 30 dobrol gyHEmdYLy
bsdsgodm & 30bogbon
v = 1,6 3§3  LoBjetom. ggoomdo  @sbGommos
3mGH0bmbBolswdo o=30° 3aoboo.
336LsbmzGgmdsgotols s F0dnmmmds 393060l




05658560 ©583980bs1 s sdbANFgdalisl, o sdnbemdgdol pom t= 4 3.
3cdtsmdol Fobsmmdals bsgom 3mgnaiogbdos = 0,15.
©sdnbGOnFgdolel gsgmbo dmdGemdl msbsdse Bgbgmadmmsc.
3slgbo: T, =29,146; T,=32,3 36.
%) 065303006 33MHI INSHNMSKN  SAMBS6S

Fea39979cm0s bogmoyco 6 v.z2) Goedocol  dsbs  (m) s
Facom By dmfdawo  dsems IE (X.Y.2). bsgoms  303mzmo  [Fatioemols
IedGsmdols yobydsdogmtio gsb§emengdgdo.

33 833860 83 Loblbgmoe Faddomol dsbobs s dmddgeo dsemols

39mEs  bsgodms s3cgm3gg 303megm  Inddsmdals Lefgolo  3oMmdgdo, by
d0ddsmdols  Lofgob t, 3mdg63 o FgdBomol  Lefgolbo  dwgdstrgmds

M,(XeYorZo) @5 LsGgobo boBgsérg V, (X'y,y'Z,).

AONIDVISS.  ©0bsdogol  Igmerg  dotromso  sdegebol  s3mblbs
694039609 mmos bermmegl dgdrgae 086530dpg30md0m: 1) gedmglsbmo
Bobobby (0 gl Lsgodes) 6bogmogh Fgdgomby 3mddgreo, Gmgmt(s
sd@omco, sbggg 3ol @gsdools dsemgdo; 2) sz0@bomm  jmedEobsBms
Losmsbsem  Loliggds;  3)  Bsgfgdmo  FgdBomol  dmdcsmdol  Lafgolo
3063930 4) 393900060 bogmog®o Toodomols 3mdGsmdols
039696305 NM0 336 memgdgdo; 5) 3906930 domgdmo
3963 mmgdsms  LolBgds ©s dmdBsmdol  Lsfgobo 306mbdgdal  dobgogom
2363bsb3Omm  0bBgacgdols  dmedoggdo; 6) 3obedzgdmemm  abggamgdols
Fgegase  doegdmmo  FgOdomol  Inddemdol  gebBmmagdgdomn  @s
2963Lsbm3Omn 736md0 Lowowggdo.

T90omby dmJdgeo dsgmgdol Bmenddgreo IE (s bsgomtreobsgm
©0g®dgdbg dobo a93doemgda) Lsbmgswme  Fgodmgds  agml  dnodogo b

psdmzoegdnmo  ogml FgoO@omol  dpgdstgmdsty (T), 3bo dc0désomdols

Boh JoergBy (V) ©s EOmby (t): F=F (F, V.1).
dnedogo  dsgmols  dsgemomos  boddodol  dogms  (rgredafols
3sbredmdsBo); EOmby ©sdmgogdnmo dsemols dsgsmomas 3gGom@nense
(339mgos@a dogmgdo, GMAmgdai 039396 FaOBomol 86 Lbymmol Gbgzom
9c0dMsmdgol; dgdstgmbsty sdmgoegdnmo dsmol dsgsmomos  bsddstol
a9godz00m 86 939993000 Gocdmddbomo dsms; gl dems  3GM3mG30mmas
b330l Esgdgemadol o6 Fq313d30bs. LobJegby ©sdmgowgdnmo dsemal
dsg5momos 3s9M0b 86 Fgmols GFobsmmdal dsgs; gl dogms 3GM3mEommos
ddésgo  FodBomol  (Lbgnmol)  Lohetols  (306g  LoBJscrolal) o6
LboBJscr0ls 3350MsE0bs (oo LobJséolsb).
300ObsBms  Lob@Bgdol  s®hgzs  brgds FgOdomol  Inddrsmdals
bslbosool  (FHg030, 3G ygmo 96  dOmefodnmo) ©s dsbby  dmJdgeo

dogmgdols 3969301 dobgegom. F9Lsdsdoba 309496900 ImdArsmdals
©0%9A 96300 n® 336Bmmgdgdls (1.2) s6 (1.3) Lsboo.

SIBI6S 1.14. m = 333 dsbol bogmoge FodBomby dmJdgogdls
dogs, Gedmals ggadoemgdo s gmmdreobsBm mgedgdby s¢0s6: X= 926, Y=
126, Z=0. 3s6bsbo3tgo §Foo@omol 3ndersmdol 3sb6mbo, o ogo gsdmzgows
300ObsBms LolBgdol bsmsgoess LobdsGom, G®mImol ggadomagdos: V=
0, v,,=6 3/§3, v,=53/a.

SAELES:  sbsbds (1.2) 7 jmgdobls, GogoO@omol  dmdesmdols
03996300 M0 3sbBmmgdgdo ogujvusu.

mX=9t; mVy=12; mZ=0. ()
dcdAsmdols Lofgobo 3o6Hmdgdos:
Omgs t=1,=0, 85806 x,=y,=2,=0, )
Xo=Ve=0, Y=V, =6, Z,=v,=5.
39068936000 (3) Hommdgdo; dogomgdo:
mX=3t+c; my=12t+c,; mZ=c, )
9L Homemdgdo gamsg 30068 g3¢mm; dogomgdm:
mx = 3/4 t* +c t +¢,; my = 6t +e,t + o5y mz= et + ¢ ()

(3) © (o) Bowedlddo gsdmgzoggbom dmdGsmdol  bsfyobo (3)
306mdgdo; Gm@Es t, =0, dogomgdm:

mv,=C;; MV, = Cy; MV, =C3; MX,=C,; MY, =Cs; MZ=Cq;

bsosbsi €= O c,=18, c;=15, c,=cs=cs=0.

83 3603369mmdgdols (©) Powmdgddo  JgBsbon  dogomgdo
T9680mols 3mdersmdals as6@megdgél  (m = 3):

x=1/4t93;, y=2+6t 3; z=5ta.

SIBI6S 1.15. m= 0,1 43 dsbol 6ogmogo FgoBomo dcdHscmdls

dmG0beobBocmndmo  FHgogo abol aolfgeog 5 /G LobdsGom. O™l

39633900 3mdgbdoesd wsofgm Fooomby Fobsmmbol dywdogo IE
dogmols dmJdgegds. Gl Mool gl dsegms, o) dogmols dmJdgegdols ©sfygdols

33968 oesb FToddomo gshgdes 13-0ls gsgmol 9dwqa.
S L6S ©Amols asbbsbomggem  Fmemgedo, g.o0. If dogmals

4>

dmEgdols ImdgbBowsb gshgmgdsdry, [oO@ombg dmddgregdgb Loddodals s
6990l N s Fobseomdols F dsgmgdo. 8@bol 39-2
N
396mbols 03bsbds g394690:
5

mW=P+N +F. ()
303350000 X g@do 3nGobmb@smndo

abol gob{3603 ©s ©sz9a93d0mmo (3) Bommds



33 @gedby, dogomadm: m X=-F. 6ob. 4
3535068936000 gk Gomeds: mX=-Ft+c,. ()

3cdrsmdals Lafgolo 3ommdgdos: t=t,=0, 35306 XOZVOZS /g3, x,=0. (a)

33083 t,=0 3m3g68 30 (3)—sb g39dbgds: mv,=cp;; (3) Fowmds sby

Boa(géads:

m X =-Ft +mv,. (o)
©sdgem  FgoOdomo  gohge Tsdol  Fgdwga. g.0., GOm@Es 7T,
35806 X =v=0. 5303 (©)-s6 dog =-Ft+mv,, Lsopsbsy T =mv,/F

9.

(©) Bowmdol 06@ga6980m dogomadm: mx= -1/2- Ft*+ mv t+e,.  (9)

3d €y 3960bsbmatnds Imdesmdol  Lsfgolo (3) 306mdgdowsb: Gm(3s
t=t,= 0, 35806 x=X,=0 s g3gdbgds ¢,= 0. 3 360336gmmdals (9) -Bo
Y9 sbom dogowgdm: mx=-1/2- Ft*+ mv,t. (3)

T 3330 Lbypmds gsostrs x=5=13 dsbdogmo s gohgems; sdogmad,
Oois t=1T, (3)-s6 dogomgdm: ms=-1/2-Ft* + mv,t ;

99308 6mm 3§ T b 360dgbgmmds: ms = -1/2- F(mv,/F)* + mv,

(mv,/F);

sdgess  F=mv,/2s=1,256. F=1.256.

SIMBI6S 1.16. dmmbomed=gemg 58370 3mO0bmbEolswdo o=60°
gnobon  sbéorm  5=100 3 Log@dol gyHEmdt]. mbomsdnmgdol  mmzmby
Lerosegmals  bobabol  3mggoiogb@os  =0,1. 356Lbsbmgeigm  dmoboemsdn®ols

593980 ©Om (1) ©s bobjsdg (V) xg6emdol dmmmdo, onf 839800
©sbsFgoldo  Lohjséy 6ol Boemo ogm. 35960l Fobsmmds

VB VR)OY2Y00-
SAIELES.  jomeEabsBos  dstmgmgobs  0Xy  Lolbgdol  bsmsgy

Icngsmagbmm  Imobomsdn@ols ©sdz9d0l  Lafgol 0 FgoO@omdo s 0x
096 do dogdstrmmmn gemdal asbf3mo3 J3g300m.

dndGsmbols Lafgobo 3o6mdgdos:

Geogs t=t=0, 3806 x =x,=0, X= X ,=v,=0. ()

dmnbomsdnmgby  Imddgegdl  Loddodols P:mg dogs,  ggeEmd0l
695Jool dogms N s 0mgembg mbomasdnegdols
Leosgmol babmbols dogms IE b » 3033OM 7O
ddesmbols Lofobssmdegyme.

6oBmbol 39-2 356mbol MmsbsbIsc:

mW=P +N +F,.

©s35393domon gl Bommds 00X s

0y ©ghdgdby: mX= mgSina-F,,  (3)

0=-mg Cosat + N .
(30650056 dmoboemsdny  dmdGomdl  0X  g@dol  goliff3mog, s3o@md
w,= Y =0).
(3)-006 N =mgCosa; bobabols dsgms Fy= N =fmgCosa. a3394690s:
m X = mg Sino - f mgCosa. ,
b X = g(Sina- f Cosa ).

33 Bommdol g gH obRacainm Jogomagdo:

X = gt(Sino. - f Cos 9 (2)
x=1/2 gt Q(Sina -feuswy o ytte,.

sg 0bBgacigdal ¢ s €, Inredaggdo  asbalsbwzg@gdash  dmdGsmdbals
LaGgobo  (8) 3ommdgdom: Gegs t=1,=0, (3)-s6 dogomgdo:

c, = XOZ 0, ¢;=%x,=0. (3) BHoemdgdo sy asesoffgmgds
X = gt(Sina - f Cosa), ()
x =1/2 gt (Sina. - f Cosav).

B9OEmol gogmsl dmobomsdnég sbmdgdls T Fadl; sdoBmd, Gmge
=T, 35706 dmnbomsdydy asogmol X = dsbdogl s ggHEMIL dnermBo
LoBJsérg 046938 X =v,. (©)-ws6 dogomgdo:

v,= gt (Sina - f Cosa),
s = 1/2 gt*(Sina- f Cosav).

83 3968 mm939380 Fg30896mm 33m(3360L 306mdom dmggdmmo (S, 1,
o, g=9,8 8/%’82) bopowggdol  36033b6gmmdgdo s 33mzgblbso  doegdgmo
Lobggds. 33946908 :T=35Gd, v, = 40 3/Ga.

dAMBY6Y 1.17. P =10 6 Gmbol Ubgmmo dcmdtromdl (3300000
F=10(1- t) 6 dsgol dmJdgreqgdom (t - §3-80). s T @l  Fgdwgy
aohgowgds  Lbgmmo, o Lsfgol 3mdg68380 v,.= 20 13/{3 s F dogms
99mb393s  Lohdscol  dodstrormemadsl. s s dsbdogmls  gsogemols  Lbgmmo

39hg69659009 ?

SAEL6S . 33m(3360L  30Ombol  0bsbds  dogrols  dodsGromgds
99mb3935  LobJs®ol  dodsrormegdsls 83 dodsGormmgdel.  sgsdmbzomm
bsgomeeobsgem 0X mg®do, Lomsgom 0 FgodomBo.  dmddsmdols  Lsfgolo

3o6mdgdos: =0, x,=0, Xo =V,. ()
3ddGsmdols aggg@b30sen® 336 mmgdsl sbgmo bsby oq3l:
m¥X=10(1-1).
gobsos6  m = P/g, a39f693s:  X=g (I-t). 3 Fomedol
06 gatgdom dogomgdo: X =-1/2-g(1-t ) +c. )



LsGgobo  (3)  306mdol  msbsbds:  Gogs t, = 0, X =V (3)-wsb
dogomgdo: vV, =-1/2 g+ c;;  ofgesb: ¢, =v,+ 1/2 g 3g3086mm (4)-Bo:
X =-1/2 g(1-t)* + v, + 1/2- g. (@)

b Bowmds 3odmbobagl Lbygmol Lohdstigl Omol bgdoldoge  t
dcd968)do.

Lbgmmo Bgdegds T §edol dgdegy, 9.0. t =T dmdgbd do X =v=0. (3)-
w6 3394698s: 0=-1/2 g (1-1)° + v, +1/2- g, Vsowsbsg
1=2,02 §3-L; (s g=980 L3/FaN

asbgmomo s dsbdogols gs8 10 @ 350689a6m0 (3) BHomds;

dogomgdom: x=1/6-g(1-ty- _ )it +c,. ()
Goge t=1,=0, 35806 X = X, = 0; (r)-s6 3394690 ¢, = -1/ 6- g;
35Bsbosdy: x =1/6- g(1-t)* + (v, + 1/2- gt — 1/ 6-g. (9

t=1 (380 Lbgnmds as056s s dsbdogmo s gshgdes. s30mad (g) —
©sb 339693 s=1/6 -g(1-1)* + (v, + 1/2-g) 1~ 1/ 6:g= 692 13.
s= 692 1a.
SAMGB6S 1.18. 0 FgoBomowsb 3meobmbgobsedo o snoboo ©s
Vo bofgobo Lobdedom as@gm@sbogos m dsbol bogmogdo oo omo.
336Lsbm3zege  F9oOBomol dmdesmdol  BEsgddmeos, BEsgddmGool
Lodsmeog (H), $gmei36ol LoBmérg (£), 56gbol o6 (T). 3960l Fobspemdals

dogms 3 e dgmySgoo-
S 6. T96Bomals  3mderomdolsl  dsbby dmddgegel  Ibmemme

96m0  dsgns — dobo Loddodols P dogms. 30650056 Lsfgolo \70 Lo docrg o

P doms 3938693 39OB0gem e LoddBggdo, sdogmd oo omoal
d0ddemds3 93 LoddBggdo brgds.  gedmgoyzsbmm Y
T968omol dmdAsmdols asb@Bmemgdgdo. Vv
3moOEobsBms  Oxy Lob@gdol  Lomsgge
sg306Bomm  asBgmegbol 0 Foddomo s X myedo

d03dsOmmo  ImEobmbEol  golfaoz, Y @ghdo = Bsk. 6.

d03dsH0nmm dols 396803568, Fodomol
3cdr3m0l bafgobo 3oGmdgdas: Gegs t=t=0, 3s30b:

X, =0, y,=0, X,=V,=V,Cosa, Y,=V,=V Sina. ()
T9o&omol 3cdersmdols 053990305 e 3368 mmgdqol

39380m9ddo sbgmo Lobg sdzo: mX= 0, my= - P. gobsopst P = mg,

339J69%s: X=0, y =-g.

33 Bmmemdgdol 0b@gadgdom dogomgdom: X=c,, y:-gt+cz. ®)
0bBgacigdol ¢ s €, Inedoggdo gebolsbrg®gdosh Lsfgolo ()

306mdgdon: G t, =0, a394690s: V,Cosa =¢,, V, Sina=c,.

() oLy BsoFg@gds: X =V Cosa ;

y=-gt +V Sina . ()
39506893000 gl Bmmmdgdo;  dogomgdm:
x =V, t Cosa +c;; ()

y =—1/2- gt?+V.t Sinatc,.
(3) LoFgobo 306Hm3gdowsb, Gogs t=t=0, (w)-psb6 x,=c; =0, y,=c,=0;
3585Lssdg () sbg hsofgdgds:
x =V, t Cosa; (9
y= """ -V.tSino.
9 Bommdgdo FaGdme OB omols dImdBsmdol gsbBmmgdgol.

T96Gomol BHsggE@mmaos sbswggbse 3 dersemdals (9)
33568me9d9d00s6 333m3M0bmm EOMOL t 3568398 G0;  dogomgdom:
y=-(g/2V}7 Cos’o)x* + x tgo. . (3)

B®39dB ™08 30l 3sGredmens.
psm335m F9oomol 3mGobmbEsmndo Bymeibol Lodmégs 0A =/
dsbdogo s IndGemol T (odol 3s6dsgememdsdo.
A 3pgdstrgmdsBo: t=1, Xx=/{, y=0; s308md (5)-0s6 dozomgdo:
=V Cosa,;
0=-1/2- gt*+V,1Sina .
3J9sb  dmdMsmdol MM 1 =2V /g Sina , bowmo {60l
3mGH0bB0bB om0 Byme 6ol Lodmeg
£=V,/g: Sin2o.,
3G960l  Lodspmal  3sblsbmzMolomgal  Lsgodms  godmgmo (3)

Bommdon Iniggdnmo gnbiool dsjbodndo; dogowmgdom:
Yo =H =V Sin*a./ 2g.

SIBH6S 1.19. m =200 3 3dsbol bogmogto §Fgoomo dedogo F
=26  dool  ImJdgegdom  ImdBsmdl  dmEobmbemgdo  0X  mg@dol
aob§ 3603, Lofgol 3mdgb o X,=3 3, V=4 3/(d. gsblebmatdgo §godomals
ImdGemdals gobmmgdes. 3olmbo: x = (5 +
4t+3) 4.

SIMBO6S 1.20. m  Fsbol  bogmogho  FgohBomo  dmdBsmdl
3m0bmbBomnd  0xy  Loddgggdo; dsbby ImJdgegdl  degms,  Gmdmol
39330egd0  bsgmm®obsm mg@dgdby séosb: Fy =amSinwt; F, =0 (a, o-
dm(3939emo dne3039809). 256Lsbm3zMgm T96BHomol 3cdGsmdols
396 mmgdgda, o7 bsfgol 3mdgbdo: x,=y,=0; V,=-a/w; V,=0.

3obmbo: X = -a/oSino t; y =

0.
SIMGH6S 1.21. 33303564365 3mdGremdl 3ol 3mG0bmbBsmné [Hgog
«9356%9 90 30/bo  LoBfsGom. EOmol  Gmdgmomsy  dmdgbB 8o dBs3s



399m600gL.  goblebmgmgn  dMsgol  asdmGmgol  ImdgbBowsb  3shgMgdsdwmg
33303567560l dog®  asbgmomo  dsbdogmo s O™, o IdGHsmdalisedo
Gobsmmds 3medngos s 838 ™3sb6sbol Fmbol 0,2—0l Gmeos. 3slimbo: s
=1599; t=12,7 §a.

SIMBS6S 1.22. 99 O™IsBstgdgmoa I dGsmdes abols
do0bmbGen® [Hg03 136y 72 30/bor LobJscrom. 3535675693 Bgs3hbos
©3060La ol bbby geohgMgdnmo  FEsJBmG0 s ©sofym  IsBeMgdemoals
EsdbONFgds dsgmom, Gmdgmoai dsBeGgdmols Fmbol 0,05 —ob Feomos. @s
3s6dogmbg  Rsrmm  3d9dsbJebgd  dnbendgo, o7  dsBeMgdgmo  shgMs
(?)6oj({3)mt4mgga6 59 3o6()og3%3. 12 3olmbo: s=413 3.

SAMBY6S 1.23. m = 2, bogmogeo  Ggd@omo  IndGrsmdls
3moOEobsBms  Lob@gdol  Lsmsgowsb  doGobembema®mo  0X  mg&dol
asb{36003 s o4l LsFgobo LobJseg V,=1,5 3/G3. (gogomby dmJdgegdl

dd@smbobsedo  Fobsmmdol  dogas F_é = -kX T(G), bosig k = 6 6G3/ 3 -
EsEgbomo d9edogos. asblsbogtgm GgoBomol dmd@smdols 3sbmbo.
3olmbo: x=12(1—-e*)3.

SAMBH6Y 1.24. 39896005 3ndAsmdl Bdshy V=36 38/bo LobJstroo.
EOmol  3o6339mem 3mdg63 o dMsgs asdmEmgl s gAmo Fumols d9dcgy
3589Omals LboBdedrg 10 - %96 F9d0cs. 3eblsbmghgn gogsdmals bobdseg
o60 Ggonol 9dwega, 07 3oBsOmols dmdesmdobsedo obsmmdol dsgs dalo
Boﬁjo(‘)oh 3OHM3IG (3070, 3slbbo:  0.36 19/bo.

SAMBGS6S 1.25. 3mG0bmbBolsedo o = 30° 3noboo  @sbAa
3633 Loddgggby Lbgmmo 983908 0sbsdGse. 3sblebmggm Lbgnmol
sBJscrgds, o Loddgyy wsbamo 0bgds dmerabmbBobsedo = 45° 3amboo.

3slbor w =293 9/Gd".

SIMB6S 1.26. J3935b0 dmmoglgdamos  jomdeobsBos  bolggdals
bsmsggdo.  3meobmbBolopdo  Gmameo o ggobon  mbps  aszolBmmemn
Fn630, G0 dmzgsbzgetimm 30bs680, Gmdmols jmemdEobsBgdos x =1 33, y =
0,5 39, o9 asbOmmolsl  Fnez0l  Lofgobo Lobdotrgs V= 1000 3/§a.
35960l Fobsmmds mammgdgmgsgom. Oy @g@do dodstrorgeoas bggoom.

3slmbo: o =26° 50’ .

SAMBH6S 1.27. dstmgsmo G398 20 39 Lodsmemgby 3960350
slbgmols  Fgdega  dmdAsmdls  olbg, Gmgmai 9dgeem  Loghzgdo
3m60bmbBolewdo o=50° gamboo s V, = 1700 3/f38 LsFgobo LobJstroom
3sbOmmomo  msgolbngemo Lbgmmo. asblsboghgm szg@ol g3egbols O™
©s Lodmey, sgdgmzg BGgbol Lodsmeny.

3obmbo: T=280F3: s=30643;: H=106.4 ;9.

SINGBI6S 1.28.  +38m3sbgebs, G@Igemo dmdésmdes V=16 3/G3
Bob Jocrom, &30l 3336 m3z0ls 91396800056 0 ggol slgemasls
3mG0bmbBolsedo o = 15° gambon  sbdom  Loddggyby.  Leosmols
bobabols  goggogogbBos =0,2. 3sg@ol  Fobsmmds mamemgdgmysgomn  ©s
336Lsbm3Ggem  dsbdogmo, GMIgmbsz 33E™Bs6Jsbs gool gehgdgdsdrg; Mo
G bsgodm 33 gbol gebsgmamaew? 3slmbo: s =289 3. T=3.61 §a.

§2. VIHAOR0T 13 160920 &bI3S

m 3ol 6Gogmogmo M (oo omols FOgog dmdesmdsl 0x wmgmdals
asl3603  3smdmbomo (367 msgoliggemo) Gbgzs gfmegds, o dsbby
InJdgegdl g o smdmagbo dsems F=cx. s x=0M (0- G968 0mol
Gobslfmmmdals dpamdstgmdss) ¢ - Lobolgol (eégzsemdol) 3mgxgaiogb@o.
3560930l Gobsmmds 13 nmagdgmygmegamos.

6bg30l ©0ggMabosr 0 0 < lE M| yx
3s6Bmmgds: X +k’x=0, (k= c/m) 2.1) 6s1b.7
6330l LoFgobo oHmdgda: Gmgs 1,70, 3s8ab X=X, X=V,. (22
Abgz0L gobgmemgds: x =x,Coskt + V /k Sinkt ; (2.3)
o6 x=aSin(kt + a). 24
a—&bggol s33mogymess:  a=Vx,"+V, 7k . (2.5

(kt+ o) — @bgz0l gebo. o - Gbgzol bsfgolo gebs: tga=kx,/V,;
k- 6bgzob gagmbyco Lobdomy;
T=2rn/k=2n Vvm/c (2.6) - &bgzol 3gMomo.
v=1/T - ébggzol Lobdamy, s67 Gbgzems Gobze gom §s38o.
300000795 4. 3o0dmbogem  Gbggetby  sdmgebgéol  sdmblbs
693039698 nmos Bglenmegl d9dwgao msbsdodwgztmdoon:
1) s306B0mo gomeEbsGos  bolggds bsmsgom bogmogdo FodEomols
bgoBogn®o Fmbslfmemdol dpgmdstgmdsdo;
2) Bsgfgemm Bogmageo Fgodomoals 3mdcemdals Lsfgobo 306mdgda;
3) bsbsbby gedmgbsbmm bogmogeh (adBomby dmdgeo sdBomco oo
3dal Ggodiools dsemgdo;
4) 935030600  bogmogio FoOBomol  dmdMsemdol  ogg@9b0sm o
336 mmads Fglbsdsdol gedby a9adogmgddo;
5) dmgebeobmo 83 oggGgbosmgto  3ebBmmagdals  0bBgacgds;
0b93gd0l dnedoggols asbbsbmzMabsmgols asdmzgoggbmo Gbgzals bsfgolo
306md930.

SAMBH6S 2.1. 396080350 653dsM0L  bges  demmm  dMsgee

360l Bsdsgtgdmmo,  bome  J3ges  demedby  @szomgdmemo P {mbol
$3otmol  dmgdgegdon  Bsdds@ol  LFsgogn®o  ©ggmedsgos  dy,,= 10 3.
30600 goEslfogl Lgsognto Fobslfmmmdol deamdsmgmdowpst Xx,=15



B3 dsbdogby s dosbogl 39@B0gsmnese  J3gzom dadseommo  Lobdedg
V=99 13/G3. Bgogobgo B zo6mals Gbgzol gobGmmgds, o 0X @yédo
d0dsGomos bgoBognco Fmbslm®mdol dpamds®gmdowst J3gz0m.
Jam[fl)&).goamaboqomm 39080353 ©s30@gdgmo B33ds@ols Lsdo
3obogos: ) bs3dscrel  Lafgobo
3615095MOI0A om0 3gMmIsGgmds.
o) bs3ds601s LB ozmeo
Febs GOm0l 3gm3scrgmds-bs3ds¢0l
dogmendg P fobol  Bzocmol  @sgoegdols
Fgegase  Bs3demsd  3sbo(zeEs EIBMGIS(308
© Es3OdgmEs 8% ds6dogom. P =cd 1 >

bosg € —  Bsddotrols ©Og35em0ls
39%80(30968)00. %

3) bodBsc0bs s Fsbhby s 0037w
B306mals 3 m3scrgmds Bzodmols © | Bab.8 )
dmdersmdols dodeobséry 393569580, GmeEgls  ogo 3908 gnmos
bgoognéo

™Mbs Ly MmH™Moo MASH)MO00ESL X 05000 .
6sLGmOMd0ls dpgmdscgmdoesb ds6dagm by

306EobsBms LolBgdol bsmsgg dmzgsmsgbmm Bzotmols s j0ez0l 0
7968080, Gmwpgbsg B3o6mo 03gmiges bEsogmne obsbmemdsdo.  0x

©96do d03dsOnmm 39O B0 e YMsE  J39300.
B30cmby dmdgegél méo dsms: Bzocmols P §ebs, dodsérorgemo

J39300 @3 B83bst0l Mg z50mbals F dogms,  dodserogmo  bgzom.
o653 5333348 Inmosbse Esa®dgemes (X 1+ 1;@,) ds6dogn by, sdoBmd F =

C(X+3 )
B306m0L  dmd@smdol  Lsfgobo 3o®mdgdos:
Gogs t=t=0, 35806 x=x,, V=X=V,. ()

Bzodmo ddGmdls 3oEsBsbomse, sdomd 030 Jgodemgds
Bogmgemmm  bogmogd  Fgdomsc. B306mol  dmdAsmdols  asbBmegds
39JBmeamo Lobon skgmos: mW = |5+ IE

33 Fommdol X mgHhdby ©sggadomgdoo dogoegdo: M X=P-F,
36+ mX= CSW) - C(X+8%); 3J9esb,  Bzotmol  msgolmggsmo  Gbgzals

0530305 M0 JbBmmgds skgmos:

X +kx=0, bos(y kK*=c/m. ®)
33 oggtgbzosm o gobBmmgdol  s3mblbsl  (s)  Lofyolo
306mdgdom sbgmo Laby o3l (0b. 2.3 gmednm.): x =x,Coskt + V/

k -Sinkt ;
33m(3360T 306m30T 0msbsbdsc:
k=vVc¢/m =Vg/&,, = \980/10=9,9; V/k=10.

6bgz0l 306 mmgds 0d6gds: X = (15 Co0s9.9t + 10

Sin9.9t) 1.

SAMBH6S 2.2. P Gobol  B306mo  ©sgoegdamos  gO®dsbgmmsb
d0deg3™mdon d9g60gdmo Lbgeeslbgs C, © ¢ bobolgol
30995030968 980560 G3sgzo Bs33sG0l  dmeombg (ob. Bsb. 9 ).

336Lbsbmzdgm 83 m@dsgo  Bsddsol 93303896 G0 Beddstols
LobobBol ¢ 3mg5030968)0 s P Bz06m0ls s) &
396080350 Gbgzol Lobdomy. 15 ol Gmbs ¥ J o
D3V IOIRYNBO09.

S L6Y. 30J3s0 P #0600l dmJdgegdom
¢ Loboligol bs3dstsd  dooger ), beowe ¢,
LobolBol Bsddstred 8, Lgepogneo wsa®dgmads.

B33do69601 Fobs 03909 YMBoE0s, P P
sdopod 8, =Plc, s 8,=Plc,. Bah: 9

33 m®Isgo  bsddsG0l 9330350968 G0 c
Loboligol 53856l Lgegogn®o ©ggm®dssos 0d6gds & =816, Lswsg 8=
P/c. 3ogomgdéo P /c=Plc+Plc, .

3dgesb c=cc,/ (c; + c,).
P 3060001 6bgzol 3g@omeos: T= 2V m/c = 2nV (¢, cy)P/ gcicy;
6ba30l_LobBoty: v= 1T = 1/2n-V g c,c)/(c,+ c,)P .

SAMBS6S 2.3. P=106 Fobol @Fzodma Lsfgolbo Lobjscol goecmgdy
39600935 h = 9 13 lodsomopsb s 93935  390E0 e nd bsddstrsby
30dsg3Md e 3mG0bmbBHm e godgedeby.  Bsddedol  J3ges  deemem
MdGsg00 60l Bsdsg@gdnmo s dabo LobolBol jmgxoiogbdos ¢ =5 6/13.
336LsBmgAg0  Bzocmol Fgdpamdo dmdGemdol Jsbmbo o godgoBols ©s

B53d0601 dobs mamgdgmymuamos.
S 6. B306m0 godrgoBeby ©s(39dals 39dwg
o ggol “bgzom IndGemdsls.  Gbgzol  Lafgobo

Loh Joérg
0d6gds  Bgzodmols  LoBetg  godggodeby  s;gdol
dm3d96¢) do.
h Bodsmeroesb Lo golo Loh Js®ols
35693
0s30lgmse 396 bogma bbgmmols LoBJsérg
339900 Wx
B §9680mdo gsdmomgemgds geddgmon: Gab.10.

Vy=V2gh =v2:980-9 = 42710 13/§3.

Gbgze Focdmgol |3 dogmols I ddgegdom. Bsddscrol LB ozmgco
3ssseaomads &y, =P/c=214.



300ObsBms LobBgdol Lemsgg dmgsmsgbmm Bzommol L@ s ozneo
Fobsbfodrmdal 0 Foo@omBo s dogdstomo 0X mg®do  Jagzom. @bgzol
bsGgobo 3o6mdgdos:
Goast=t=0,  3s8ab x,=- 8,,=-2 13; V,=Vy =42V 10 13/ 8.
6bgzol gmobaeo Lobdomg
k=\'c/m=~cg/P =7V 10; V/k=6.
(2.3) gmedgmal msbsbdae Gbgzol jsbmbo sbgm Labgl owmgdl:
x = (-2Cos7N 10t + 6Sin7V 10t) 3.

SIMBI6S 24. s63pg5mO30693 gm0 500 AB 0geml A dmeee
I35 90l Bsdsg@gdmmo, beoamem B dmme  30dsgtgdgmos  bs3dsGraby,
Godmol Lobob@gol  gmgxgoiogbdos ¢ = 6 6/ 1. @goHml B dmeey
s053bgdgb Q = 30 6 Fobol  Fzocol  ©s
2839896 LoFgolo LoBJstrols 39698y, “mE .
6mdamos, g
“end P= 12 6 &zodmols bgeBogneo
I ddgegdolsl  @mgml B dome  beddecols
256939 psoffggl s = 1 13-by. geblsbogmgn Bsb.11.
b5dds601 35 Jbadsern®o 39379938 s
B30Omal Gbgz0l 3gomeo. @geml s BsddsGol Fmbs mammgdgmysgoom.

IIMEL6Y. 6gzse0 AB  @g6m Jg333°mmo B G omdo
©sdsgM9dmo  dgmey  BsddsGom, Gmdmol  Lobol@Bol  gmggoiogbdos C,.
833960l 30630l 0msbebds P = c,8, Lsowsbsi ¢, = P/s=12 6/13. +d
Jgdmbgg3zedo Bggz0dmos gognmolbdmm, Gmd BzoOmo gyhEbmds gGHmo ©s
03537  bog®dol o6  3sGemgma®ee  BsGomm € ©s C, Lobobgol
309800968 98056  b33dss (ob. Bob. 12 ). b @6dsgo  Bs3dss
993330 dsmo 933035 abB G0 gohmo  B3ddsGom , G™Imol Lobob@Bols
399803096808 C.

c -1 336Lsbm3zMabsmgals a9630Bomman Q
Bgocrmols
bgoBoggdo FebslGmeOmdols 306md0.
dbyz9emmdsdo
dogommm, Gmd Q Bzotmol dmJdgegdon mEogzg  beddsers
s 35sbsEsdy dsmo 3303500 G0 Bs3dsGs3 Fgo3mdTgds
9600 s 03037 X 3s6dogmom (X=X=X,). 33sbmsbsgy, ™6y
638569380 [o630]3690s M350 smdpagbo Q; s Q,
doggdo, Gmdgmms  Lopoweggdol  xsdo  g33038mgbd G0 C
Lobob@Bol bsddscs8o Q Bzocmon 3sdmfzgmmo ©Ggz900 X
smdegqbo dsgmal Bemos. (3beros: ‘ bah, 12

Q=cx; Q=cx; Q=cx. Q=Q;+Q,.

35Bsbosdg €X = ¢ X + €)X, bsowsbsy ¢ =c, + ¢, 6/13.

Q $30000b LB ogzndo asesseanmygds

5% =x=Q/c=5/310.
3MOEbsBmS Lob@ggdols bsmsgy dmgsmsglmm b53ds60b
b@oedogndo  Fobslfodmsal 0 Fgodomdo s X mg®do  dozdstromo
306H0go@gdee J3g3000.
c Lobobgol (93303596 me0)  bs3dscrol  Gbgzol  Lafgolo
3069039305
t=t,=0, x,=- 8b®=—5/3, V,=0.
Gbgzol gnobydo Lobdomy
k=Vc/m=+cg/Q = 18980/30 =24,25.
$306m0l Gbgzal asbBmmagds slgmos (ab. (2.3) 3968 megds):
X = -5/3Cos24,25t 1a.
adeaGZ Xinax = 5/3 \d. 61‘)3301& 39Momo: T=2n/k=0,259 ¢a.

SIMBOBS 2.5. bsddotrsby ©sz0098mma P = 9,86 Gmbol @z06m0b
396803560 GByz0L Sgomeo: 17 03mggm 83 6333560l Labol@Bols
dmaq}ogoaﬁéo C. 3slbnbo: ¢ =256/ 1.

AIIBO6S 2.6. Byes dmmmo desgee  Bsdsa®gdmmo  Bsddstols
0s30b7ggsem  dmemeby  Esgogdnmo 4,9 6 fmbol  Bzommals msgolmegsmo
6bg30l  3gG0meos T /4 3. goblsbmadgo dsgms, Gedmol  dmJdgegdomsy
6333565 3¢ dgemeqds 1 13-o0. 3olnbo: F=0.326.

SAMBH6S 2.7. 3908085 gG0  bs3dsc0l  bgos dmme  dAsgee
3¢0b  Rsdsgdgdamo, bomme  J3ges  dmmeby  dodsytgdnmo  Bzocmo
sbOnadl Gbgzom IndGemdsl  x= 10 Sin7t 13 obmbom. gsblsbmzGgm

B3390l LgoBogneo ©gum®ds30s. 3olmbo: 8%3
20 1a.

SIMBI6S2.8. ¢ =4 6/ Lobobgol 396805896  BsddotrsBy
Esgopgdnmos m=163y dsbol Bz00m0. FobslfmOmmdol dpamds®rgmdownsb
33060l gspssEaomgégh  Jzgzom 8 b3 dsbdogmbg s sbodgdgh  Lsfyol
LoBJscrgl  396@Bogemals  asbfzdogz. Gmgmeo  mbos  ogmlb  Lsfgolo V,
LoBJo®ol  Lopowpg, 6md  Bzo0mol  Fgdeamdo  Is@dmboymmo  Gbgzols
333mogmes ogml  a=1013?

3sbmbo: V, =3 13/3.
SAMBH6S 2.9. B335 @ogomgdmemo m = 133 dsbols  Bogmog@o
Foodomo sbenmagdl 3968 0gsmne  Js@dmboygen  Gbgzel  jebmboo:
x=28in(kt + 1) 13 (t - §3-3o). 6mdoemos gt ool dsfbodsemco LobJstrg
Viax=4 13/{3. 356Lsbmg69m Bo3dstrol Lobaligol jmggoogbdo C .
3slnbo: ¢ =4 6/ 3.
SAMBY652.10. m dsbols M Lbymembdy  dodsg®rgdgemas bsdo
3m60BmbBogn®o BsddsMs, GmIgmms ¢ : ¢
obobgs  Bgbedsdolo@ Cp, Cp Cp bobubo MW :
TBIDIOImY3or R 3bbobeztge  HoOmol 7
6bg3z0b 3gGomeo. 6akb. 13.

max




3sbgbo: T = 2nVm/(c, +2c,) §a.

§ 3. VISHGNR0OL 30NI3SR) bA3S

m  3dsbob  bogmogho M {gogomol  dmdsmdsls 0x  @g&dals
33lfge03 gfmegds doemggeeo Gbgzs , o LBy dmJdgegel  égzse0
smdgqgbo  dogms F = ¢x s  asboigeol  as6gdml  Gobsmmdsl  dsemoo,
Gm3gemo ToOBomols dmdésmdol Lohdsmol Fogoz0 gubgoss: R=pV  (u
- 336930l Fobsmmdols 3mgnaiogbdos).

Abg30l ©0ggGab0s M0 gabBmemads:

m X =-CX-U X . | < < ‘M
s6 X +2b X +kx=0, (3.1) 0 F R X
Lspsy  kK'=c¢/m; 2b=p/m. (3.2). 6sb. 14.

9300 LeFgobo 306mdgdo: GmEs t=t,=0, 35306 x=x,, X=V,. (3.3)
d9g0dmgds gebgobomm dmd@smdol Lsdo dgdmbgggs.

1) b <k —g0693nl §obsmmds 3306gs. 93 Bgdmbggzeda bogmageo
Foodomo e mgdls dogmage Gbggels © dmdersmdols (3.1)
09399605 G0 336 mmgdol  33mbsblbl  (GBgzol  asbGmmgdsl) szl
999ga0 Laby:

x = ¢ " [x, Cosk,t + (V + bx,)/ k,.-Sink,t ]. (34
o6 sbgomo Lobg:  x=ae ™ Sin (kit+a), (3.5
Loosg k= K-b* , (b<k); (3.6)
6bgz0l sd3mogmes: A=ae b bos(y a=\ x. HVbx )7 k% (3.7
Abg30L Lofgobo gebs -a, bepsg tgo = kix/ (V,1bX,); (3.8)
®bgzol 3géopo: T, =2m/Kk; ; (3.9)

Gm@Es t—00, 3806 X = 0. sdogmd Gbg3sl gfmwgds doemgzswo.

Mol dmdgbBgdo, OmImgddoz  FaoBomo owgdl  dsJLodsenn®
2905b6OSl  3medEobsBms  Lsmsgzomsb  (Fobslfmemdol  dpgmdstgmdowsb),
3900039696 sM0mdgBognm 36mgeglost T/2 Lbgsmdoo. dogmggema Gbggols

s33mogymes  sEagbl  3mgdse  agmdgGonm 36mymgbast, Gmdeols

36093695 dogmggsmo GByz0L 0936999680 gfmegds s 8Ly s@abodbgds: A=
bT1/2
€ .

booegl  d=InA=bT,/2 (3.10) - 6bgz0l  mmasGomndnmo

©936999680  gFmEgds; gl 8ol Ao ®sbsdodregztrmo  s33modmeols
R3AEMdls rmgstomdo.

dogmgzeo Gbgzol gHsgogzo dmgdgmos bsb. 15 —by.

2) b>k - 39693l (obspmds  owos.  dmddsmdol  (3.1)
053969630090 3sbBmemadol sdmbsblbl sbgma bsby s3b:
[Ih2 2 2 2
X:C_bt(cle b _k t+cze-- b _k t)

3] € @ ¢ -abBgacgdols Iyedoggdas.

T96&omo sbegmgdl s3g@omenem domgzse Gbgzel @ GmEs =0,
35306 x—0.

3) b=k - “bogémmo” 89d0bzgzs. dmdtremdals (3.1) gsb@memgdols

X

¥ 1 7
i i !
—f I . o
= I
L0 ‘/J.D\ T 1] ]
—- TL—
Bsb. 15. Bab. 16

s3mBsbLBL 83l sbgmo Lebg: x =€ (¢; + cyt).

33 Fgdmbggzedo GFgoOBomo skermmgdl s3g@omemm domggse Gbgzsl.

Goamei 2) , sbggg  3)  gdobggzedo  dmdeemdol  bslosmo
©sdm3oegdnmos Lo gols 306901393%y). LoGgol V.,  TLobgecrgby
Esdm3oEgdnmagdon Indesmdal g@sgogl szl Bsb. 16-bg gedmlsbaemo
babg; bsdogg 898mbgq3080 (V,>0,V,=0,V,<0) 3mderamds dsgmg Jégds.

d0NI0IIéS:  Bogngzsm 6bgzeby 3dm (3869801 53 bLbs
6940396gdmos 03039 0865303 300™m0m,  Gmgme  IsGdmboryeo
(0s30b9538em0) ABg30L O,

SIMBO6S 3.1. P =49 43 Fmbol ULbygmo Rsdmgoegdmgmos gémo
domemmo  desgse  Bsdsgdgdme  Bsddesby,  GmImol  LsBognéo
©s3Odgmgds () 83 Lbggmol  Fobol  dmgdgegdomn gecel 1 L3-L.
B306mol  dmdAsmdolsl  IsgMol  Fobsmmdals  dsems dolo V. Lohdstols
36m3méogmos s V=1 3/G3  LoBfsol ool  goéol 0,1 33-b.
336Lsbm3M90  B300001  IMdGsmIol  3sbmbo, oy
©sbsGgoldo  Bsddsrs  gsgodgmo  ogm 28% o i

ds6dombg s Bgodmo dodzgdmgmo ogm bgdsby.
S 6. bbgnmo Imderemdls

asestsbomse s  Tgagodmos  ogo  Bsgzmzsmmm
bogmog® M oo omse. gedmgbsbmo Foddomols B _sB__
dodeobséry _?Qaboﬁ)am&o ©s 301}"63_’ dmJdgeo Sl
dsemgdo: P - gedool  Gebs, F -5s33s60l 0

©Mg3seméols dsems, ﬁ—&aaﬁml& Fobsmdols dogms. p
3MMOEbsB oS Lobggdols bsmsgge
3306h0mo  Hz06mol (M Fgédomol) bs@ozmeo

Bab.17.



FobsbFortrmdol 0 dpgdstigmdsdo s X @gédo dogdstrommm 390 0gsr e

3300
AB — 5639500630690 5s3dséob Logedgs. B0 = 8% — b0dds65ls
bgoognco
Esacdgmads. OM= X - $30600b Fodeabstrg drgdstgmds. M (g6 omol
9cdGsmbols gebBmmagdsls 6960L30g6 dhds®rgmdsdo sbgmo bsby s3L:
mW=P+F +R.
©s39393d0mmm X mgdby: m X=P+FAR,,
bsesy  Py=P; Fi=-c - BM=-c (xt+3,,);
R,=-pV,=-pX.
239J69%s: m X =P—c(x+3,,) - uX. (s)
30650006 LgoBoznco  Febslfmemdol (0) dwpgdetrgmdsda P = cd
3303 (s) sbgo Labgl Boomgdls: m X=-cx -p X.
gt 860l B3060m0l  IndGsmdols  Eogg@gbzosm o asbBmemgds,
Gmdgmogg obg BsgFgdmo: X +2b X+ 20 ®)
Lssg b=p/2m;  k>=c/m.
(3) oggcabiosento 3s6BMmgdals s3mblboo dogomgdo [ob. (3.1)
2368 mmgdols (3.4) s3mbL6s]:
x = e [x,Cosk,t + (V +bx,) / k,.-Sink,t]. (@)
Loos Ky =VIk2—b2 ,  (b<k).
2363b5b030mo (3) Boemdsdo Bgdsgsemo Lowowggdo.
33033601 306030l 0sbsbse Sy = 113, Fobsmdol dsgms R =V @s
Gegs V=1 3/§3 =100 13/ {3, 35806 R=0,1 33. 33083
u=R/V=0,1/100=0,0013y ¢3/ 13;
b=p/2m=pg/2P=0,001-980/9,8=0,1;
k,=Vec/m-b> = v 49-980/4,9-0,01 =31,3.
Lofgolo 30603980l 0sbsbdop: Gmigs t, = 0, 3s8ab X,= O
sdomd  (V,+bx,)/ k, = 0,1/31,3=0,32.
domgdaymo  360836gmmdgdo  BgzoBebmo  (3) 396 memgdsdo,
dogomgdn M BzoéHmols dmddrsmdols 356mbL :
x=¢e """ (Cos31,3t+ 0,32 Sin31,3t) 1s3.

L8

o = 1 Vo= 0;

SIMBI6S 3.2. P = 4,96 Gmbol, r = 613 Gowoqglol ©s h = 813
Lbodsemols  (30mobeeo Bsdm joEqdnmosA dnmmmo  Mdtsgse  Bsdsggdamo
AB %5385601 0s30b53500 Bdmmmby. 53360l 06g350m80b 3095303096800
¢ = 46/13.

(3omobe®o  Fsdzgdmmos  Lombgdo ©s bgsgogneo Fmbsbfmmmdals
dam3s6gmdsdo Bsgzobommos msgolo Lodsmemol babgzsérby.

GBogabrto 359m0g3sbgls bgodogmeo FebsbGmOmdols
dgmdst1gmdomsb, Bsdotgl msgolo Lodsmmols 2/3 6sformby s gomdzgl

LsGgolbo  LoBdetiol  asé9dg. asbbsbmgtgom  (30mabe®ol  396HE 0 smnco
3ndesmdol  33bmbo, o dsbby dmdgegdl Lombol Fobspmdol dsems (R),
Amdgemo (30mobe®ol 3mdGsmdols LobJsdol dBm3meommoas, g.0. R=p
V; (u=0,02).

396LsbmgMgm  30dmbs, GmEgbsig  (omobo®ol
dmdGemds 0dbgds GBgz0mo.

SAELES. (300006060 Sbermegdls 39680550060

asesBsbom  dmdBsmdsl;  dogomme  ogo  bogmog® Ea .
Toodomase. b@oBognco FobsbFToOmdals ke 0 | =: _f'"_
doamdstgmdsBa  (6sb. 18. 5) (omabpeby dmJdgegdls i 0 Tx
Gomabe®ol P {mbs, @edgmoaig gefmbsliffodgdmmoas =

3]
b5dds0l Mg o smdpggbo dsmomn F = CS% (g Py _AA
Bis=h/2 — B3335G0L Logogndo  ©sa@dgmgdss) @ . R V"_J"
Lombgdo Bedzgdnmo Lbgrgmol sdmdgegdo s6Jodgool P P
dsgmoo P, =7ry/ 2 (s ¥ - boobol gpodo Gobss) , BBl

go. P=F+Ps,

o6+ P=cd,, + mr'y/2
3300homm  gmmGEabsgms  Lol@gds  Lsmsgom |00Q)06;g€)013 0 3968®d0

bgoBogndo  Fobslfmemdol drpgmdstgmdsdo s X @g@do  dozdsGomo

305B0gom gt J3a300.

39bg0bommn @AMl ®s0dy t dmdgbBo, Gmwpglsig  omoboo
39085030 E9ds  J3930m X dsbdogmby. 83 dehdsegmdsdo  (30emabr® by
dmdgegdl:  Loddodol lS dsems, bsddst0l  EOg3semdol  dsems F=c(x +
8%), 361 J0dgegl sdmdgmgdo dsgms  P= nrty(h/2 + X) ©s  Loobols

Fobsmdols dogms R=uv. (30@0bE®mol  ImdMsmdol  asbBmemgds
39JBmegmo bsboo skgmos:
mW=P+F+ P +R.
©szsagadommn gl Bomeds X 0gadby; dogomgdm  Lombgdo
Bsd3zqdmo  (30mobe@ols Gbyzol  ©oggEgbosm NG  gebBmmgdsl:
mX=P -F -P,-R_,

o6+ P/g-X=cd,, + mr'hy/2 - c(x + 8,,) - mr'y (W2 +x)-p X;
9L a0bBmmgds sbg asesz(gdmo:

X+2b X+k*x=0, )
o b=pug2P; k*=g(c+nr¥y)/ P. )

©3350300m0  300mds, OmEglss  (30mabeeols  dmdMsmds  0dbgds
6bgz0m0;  sdobemgol  Mbps  Bgbemmegl  datmds: b< k , sbq b*-k*< 0.
3308698
(ng/2P)* -g(c+mr¥y)/P < 0.
33 306mdal  Fglernmgdalsl  (3omobeto  Jgelemgdl  doemgzee
6bg3sl s dabo asbGmmgds 0d6g3s (ob. (3.1) 496 mmagdol (3.5) sdmblibs):



x=ae™Sin(kit+a).
6bg30L LoFgobo 3ocmdgdos: Gmes t,=0, 35806 x,=h/ 6; V = Xo =0.
od 306md9d0ls s 3.6) — (3.8 QmOIYmagdols 333mygbgdom
3960bsb03698006 a, b, k; s o Lowowggdo.

SAMBOB6Y 3.3. 6ozmogho FgeBomol dogmgzsmo Gbgzs Fomrdmgdl
0x gedol  golf3cog. Gbgzol 3gtomwo T, = /2, bowo mmystondgmo
0936989680 d= 1/10. 356Lsbm3690  FadBomol  dmdGsmdols  396emba, oy
Lo gol t,= 0 3edg68 380 x, =3 13, V,=0.

ALY,  Bogngzemo  Gbgzol  3gcomeo T, = 21/ ki3 sdezebols
306030l 0obebde 21/ k= m/2;  sgesb k= 4. dogmgzemo  Gbgzol
e s0mdnmo 9360939680 d=DbT,/2; 8s8slswsdg bT/2=n/10 wsb=
0,4. domgzsmo  GObgzal  gsbBmmgdsl  sbgmo  Lebgy 843l (ob. (3.4)
2368 mmads)

x = e ™ (x, Cosk,t + (V+ bx,)/ k,.-Sink,t ).

dgz08sbmo  domgdngmo  360T3bammdgdo s gsz0m3seolfobmm

bsGgolbo 306mdgdo; dogomgdo: 29
(Cos4t + 0,1 Sindt ) 1a.

SAMBS6S 34. P =986 Fobol  Lbggmo  sbemmgdl  doggzse
Abgzel Fobsemdol  dogmols  dmJdgegdom, Gmdgmo  boBJs@ol  3oMggmo
bsdobbol  3Om3mGzommos. Gbgzol  3gomeos  Ti= 0,25 §3, bowe
MasM0mdqmo 09360997680 d= 1/2. gsblsbmadgo  3egdal  Fobsemdol
doems, Bmzs V=11 3 /§3.
3obbo: R =0.08 6.

SIMBS6S 3.5. m =2 g3 3dsbob s £ = 0,49 3 Tog&dol
dsogdsBogn®a  JobJsts  sbemmadl d06g domgzse GByzsl  astgdmTo,
Gmdols Fobsomds Lohdstol 3o@ggmo bemalbol 3Gm3mA0mmos. Gbyz0l
3gtomos  Ti=n/2 {3. as6Lbobmztigm  gotgdml  Fobsomdals  dsgmsls s
BLohJoergl  Feadr0ls  ©sdmgoegdnmgdol  3Gm3mGonmmdal (Fobsmmdols)

39%80(30968)0. doomyo, 6nd 2=9.8 8/%’32.
3olmbo 8 6§93/ 3.
SAMBS6S 3.6. =16 Gobol bogoogho Fgogomo sbErmmagdl

domgzee  Gbyzsl,  Gmdmoal  3gGomeos T\= 0,102 §3.  Gedwgbxg®

Jgdocegds bgzol sd3modmes, Amegbsg FToddomo Fgebenmadl ™
boge  Gbgasl, o 1 13/G3 Lohjs@ol el Fobsmmdol dsems R=0,02
6omBmbl?

Solimbo: €.

SIMBS6S 3.7. To96Bomol Lsdo bemmo Gbyzol Fgogase  dobo
333mogmes  Fgdoms  10-x96. a3s6Lsbozmgm  Gbgzol  mgsGomdgemo
93693568 o0. 3olnbo: d =0,3838.

SAMBS6S 3.8. P =496 Fobol  Ubgrgmo  @sgoegdgmos  gemo
dermemo dtgee Bedsg@gdnmo s ¢=1,256/d LobolBol smgnoogbdol
3Jcby  B83d315by. dmIGsmBobsl Bsddsts asboieol asc9dml  Fobsmmdsls,
Gmdgmoi boBJedol  Jodzgmo Badolbol 3Gm3megonmos ©s ool 0,5
6-L, Gmgs V=1 13/F3. Lofgol  3mdgbBBo  beddeds  gsFodnmos
JobsbFmmrmdol dpgmdstrgmdoest 3 Ld-om s bbymemb doboggdmemo 53l
J39300 30dsorgema 6 LI/FI LobJsdry. 3sbLebmztgo Lbgnmol dmdGemdols
3obmbo.

Solbo: x =3¢ (147t) 1.

SIIBI6S 3.9. Gdpgbygd dgBos domgzemo Gbgzol 3gdomeo (T))
Fgbsdsdolo  Is@dmbogemo  Gbgzol  3gdomeby (T), o7 mogs@ondymo

Qadﬁ){]aaﬁéo d=5n/12? 3slnbo: Tl =13/12-T.
§ 4. VIaGO0L (0dI3s60010 é»bI3d
23

(ST

bogmogho M Gg&gomols | dsmdsl , Gmegbsg Fooomby
630 smdpagbo (F = cX) dsemols s as69dml  fobsmmdol (R= pv)
dogmals  gs6@s I Jdgeadl Gsady as6938g FgdsBgmmgdgmo  3gGomemse
G3demgdeea (Q=Hsinpt) dses, gfowgds odzengdomo &bgz0.

oy dmdéemds  brgds  0X  mgedol  golifgeoz, 35806 Q se0ls
3938 Fgmmgdgmo deemals ggadogmo 83 gAdbg; P - Fgdsdgmmgdgmo  dsmols
LobBocgs, H - 893s3gmmgdgmo dsmol mroowqlo 3609369mmds.

M 968 0mols  3md@smdals (adgemgdomo  Gbggz0ls) ogg@gb0scn®o
336 mmagds Bsofgdgds slg:

mX = -cx -uX +Hsinpt, (4.1s)
o6+ X+ 2b X + k’x =h sinpt ; 4.1
Lssg b=p/2m; kK’=c¢/m; h=H/m. 4.2)

1) 36930l 306y Fobsmmdol 39dmbggzeda, Gmips k>b, (4.1)
©0g3gMab30sm o gsbBmmgdol  bmgeo  s3mbsblbo, by odymagdomo
6bgz0l 396 memgds 0f6gds:

x =a e " Sin (k,t +o)+h / V(k*-p*)? +4b’p’ - Sin(pt+p), 4.3)
bosig B - 0dnergdoma Gbgzol Lefgobo ggebss,
tgB = - 2bp / (k*-p?). (4.4
(4.3) Bomdol dsr 3965 dbatol Soézgemo Fgbs gdo
x,;=a e Sin (k;t + o)
§odmopaqgbl dorggem Gbgasl k=Y k*-b?  LobBatom, Gmdgmo ™ol
BOEsbmsb ghmse 3060538, bogm dgmeg dgbs 36960



X,=h /N (kK*p?)* +4b’p’ - Sin(pt+P) 4.5)
396LsbmgMe3l oo omol Gbgzel 9dsdgmmgdgmo dsmols gsgmgbom; dsb

odagemgdomo &35 9fmwgds.
a s o 3s6olsbm3ztgoash dmdtrsmdals bsfgolo 3odmdgdoo.

adgemgdomo Gbyz0l s33modmos
A = h/\N(K*p?)® +4b%p* . (4.6)
2) oy o s6Lgdmdl  asgdml 3oy Fobsmmds, R =0 s,
35Bsbosdg b=0. 3 F5dmbgg3s80 odymgdoma Gbgz0ls ogyGgb0sm NGO

3968 megds 0gdnemmdl Ygdmgy Labgls (ob. (4.1)):

X+ k’x =h sinpt , 4.7)
Goigs k#p, dobo bmgowo sdmbsblbo 0d6gds (ab. (4.3))
x =a Sin (kt + o) + h/ (k*p?)-Sinpt. 4.8)
Y| X, = h/ (kK*-p*) -Sinpt - odgmgdomo  Gbgzol  Jbmbos,  Bergnm
odgmagdomo 6bggzols 333mogd s A= h / (K*p?).

4.9)

oy 9935dgmmgdgmo  degms “mdom BOEol Lobdomgl, dsdob
3608 o3me 3m396:8 o, GmEs p =k 24 0o @byzol sd3moag s Brgds
AbsbOgmme oo (A —20).  ou  uegmgbsl @By bebsblbo  gfmwgds.
gbmbsblols 93mbggzs80 (4.7) pogg@gbzoser®o gsbgmemgdol s3mbsblibo
sbg Femdmawgobgds: x = a Sin (kt + o) — ht/2k Coskt . (4.10)

3535bssdy, 6950660l 393mb393530 odgmagdomno &bgz0l
s33moagyges A= - ht/2k p6Hmal grbjposs ©s t Omol bOEsbosb goHmsw
Dbl nmme obOEgds.

Lowopgl  A=Ac/H, 6mdgmoi sbsbosmgdl  893sdgmmgdgema degmoo
339039736 ©0653006 9839dBb, ©06s30mGMdols 3mgnoigegbo gfmwgds.

SAMBH6S 4.1. c=16 36/ 3 Loboligol 3mgx0i0gbdols dJmby
B53d503Bg  sgoEgdnmo  Bzocmo  asboieol  Fgdsdgmmgdgma
Q=32Sin10t 6 dsgmol dmJdgregdsl. Fobsomds Mammgdgmysgom
s ©ssEa0bgn  Fzodmol  adygmgdomo Hgbmbsblnmo  Gbyz0L
3obmbo.

SAIELES. 356930 Fobsmmds mammgdgeogmgomos (R=0),
3doBmd  Bzo0mols 6bgz0l  ©oggMgbosm o gebBmmgds
0d69ds

(0b.(4.15) gemAHIgms): m X+ cx =32Sin10t .

o 33 236 mmgdsls Fgze0e@9om  odgmagdomo  Gbgzols

4.7

003G 96(305 NG 336 Mgdsl, d>Tab Bob.19.
2

k*=c¢/m, h=32/m, p=10; ¢=16000 6/ 3.
GEasbs(3 Gbgzs Hgbmbsblmmos, sdo@md
P=k=10. 8:s8slbopsdg m= c/k* = 16000/ 100 6/ 3= 1606; h=32/m=0,2.

OoEglsz 96 sOLgomdl  gomgdml  Gobsmmds, d33ab  adymgdomo
69bebsbligmo Gbgzol 3s6Bmmgdsl o4l (4.10) Lebg:  x =—ht/2k Coskt

s33mogymes A=ht/2k=0,2t/20=0,01t.
B306mal Hgbmbsblnmo GBgzol ebmbo 0gbgds:
x =—0.,01t Cosl0t, o67 x=0,01tSin(10t - ©/2).
S3AMBH6S 4.2. G =400 3 Gobol M @zocoa
©5300937mos Bs3dsMsbg, GmImol Bges dmme  sbEnmgdls

39080356 JsGImboyem Gbgzsl  a =2 13 +33mod prom
s p=7G3" Lobdodoo.

336Lsbgtge M Bzocmol  odgemgdomo Gbggs, oy
boddotrs F1=40 9 dsemol 3mJdgmgdon gomssmaomegds X =
1 43 3s6dognby.

AIELES. 65335600 bgs D deagmer  sbermemgdls
3663mbomeo Gbgasl 3o6mbom: X, = aSinpt = 2Sin7t. (s)

30300  sMeEqRmGIOgsgmo  bsddstrol  Log@dgs £,
boeme dobo Lobol@gs c: c=F/x,=403/1:3 = 40 3/13.

©Amols 6930Ldog®  t  dmdg6Bdo DB B53ds6s ; EBXE()
3930dgmos  (Xp + X + §5) 13 3s6dommom, Lswsi Sy sG0b Ay
5333560 LoBoggmo esa@dgmads G Bzodmol  3mgdgrgdom (G = cd,y),
bogmem X =BM s60l M gzo6mols  dodwabstry gopssmaomgds.

6533360l sgodgmmdol dsems F o =c¢ (xp+x+ 8%).

©Omal 6980LdogH dmdgbEdo Bzodmals dmdMsmdals
©0g39M9b(300e M0 3sbBmmgds skgmas:

mX =G-F,, sbg mX=G-c(xp+x+3,). ()
30650036 G =¢85, gl Gommds sby Bsofgdgds:
X +k’x =h Sin7t, @)

Lssy k% =c/m = cg/G =40- 980 /400 =98; h=2Kk".

(3) 0L  B3000m0L dmdGsmdol  ©oggM6(30sm G0 b mmagds,
bsosbsz Rsbl, Gmd  Bsddscol bgos D dngrel dnddrsmds gsdmfzgmmos
3933 3gmmgdgmo 2 k* Sin7t dsemols dmJdgrgdom. (3) 3sb@memgdol begswa
s3mblL6s 046938 (ob. (4.8) goedIqms): x =a, Sin (kt + o) + h/ (k*-p’)
-Sinpt.

3906 300001 adgmagdomo Gbgz0l 3sbmbo sLgmos:

xy =h/ (k*p*)-Sinpt.
s P=7, bomm Gbgzol sd3mogymes A= h/ (kK*-p’) =4.
M @3060005 odymgdomo G301l b mmgds sbgmos: X =4 Sin7t .



SAMBS6S 4.3. c = 0,5 6/13 Lobol@ol smgxgoiogbol  3Jmby
B335 Bgs dmmm  dodsg@gdmmos IO EdbsGs-bsMds(3s dgdebobdols B
60Gostg, bome  Jges  demeby  szoegdgmos  G=1,56  {eobol M
Lbggmo. 0A=AB =3 13. 0A 36rqedbstrs dGmbsgl 0 mg®dols gs6r89dm
=4n %’8'1 300bg60 LoBJserom;  dskmsbsgg, M bbgmemo sbermmagdl Gbgzom

3dc0dMomdals 33693 Bo, Gmdmoal Fobsmmdbols dsgms (R)Boﬁjoéol& 306390
bsérobbol 3Om3m®z0mmos ©s gecol 0,02 6-1, Goigs
Lohdotrg V=1 13/§3.
336bsbmzege M Lbynmols adymgdomo
O30l 3obembo, oy 0,X gédo  aogmgdgmos M
BLBgmeols Lgo@ogneo FebslGmdrmdols
dam3sGgmdasb
3908035 cse 39300, Gmps 0A 3 dbsds
3mG0bebB s n®as.
dAELES. M tbgmemo  sbermmgdls  adnmgdoo
6bggel  Foboomdols 3Jmby  as69dmTo. 6bgzols
236Bmmads bmgswo  Lsbom  demggdmemos  (4.3)

ROOIYmon.  3s693dmls Gobsmmdols dsems R=pV, A5

bso@sbsy Fobsmmbals  3mgi0(309680 p =RV =
0,02;
b=p2m=pg/2G=0,02-980/2-1,5=6,53.
0A  3Oredbsts d¢rmbsgl @ = ot = 41t 3obmbom, bome B gmios
3dc0dMsmdl  Jsbmboo:
X =0B=2-0A- 20 namt
5533360l B dmemerby dmJdgegot dgdsdagmmgdgemo  dsgms
Fgy=cx3=0,5-6 -Sindnt = 3 -Sindnt ;
9-0. H=3; p= 4n;, h=H/m=3g/G=1960.
sdsbosbsgg k> =c/m=cg/G =326,6
B - &bgz0l Lofgalbo gebss. (4.4)-0l 0sbsbdse
tgB=2bp / (k* — b?)=0,9709; PB=44°10";
Gopasbgdda: B=0,771.
Fobsomdol  3Jmby  ge69dm3o M Lbgyemol  odymgdomo  Gbgzals
3368 memgds sbgmos (0b. (4.5) ge®dnms):
x=h/" (k*-p?)* +4b’p” - Sin(pt+P), 6+ x=8.32 Sin(4nt +0,771) 1.

S3MBS6S 4.4. P =2456 {obol Bgo6mo
530093 7m0s b330y, G®dols Lobolgol
309803096800 c=1 6/1a. &zotnby 9990090l
3908055 G0  dsgms Q=1,8Sin16t 6. as6lLsbezgm
B3ocmols adymgdomo ®bg3z0l 396mbo.
3slmbo: x =5 Sinl6t 1d.

SIMBS6S 4.5. r cseoqlbosh  momgby
sb3gmmoas 0m 3o, Gmdemols nsgolbggsen D
dooememby dodsg@gdmmos ¢ Lobobgol DB bsddstrs, ™
boyre 6538560 B dmemerbg| -m - dsbols M $zoémo. momgol Loddggol
303 gmo 0 mg@dol 306893  moamgo asboieal Gbgzsl ¢ = @ Sinpt
396mbomr.  as6Lsbmzhge M Bzodmol  odnmgdomo  Gbgzs 0 @g@dols
30350, GMIgmo  gogmgdgmos  Bz00m0L  beBogneo Fmbslfmomdols
dgmdscgmdoEsh 39O 0gem M J39300. _sdm(3ebs sdmblgbon  mEo
393mbggg0bemgol: 1) p;t\/c/rn; 2) p:\/c/_m_._

—— 3sbgbo: 1) x=cr @,/ (c-mp’)- Sinpt ;
2) x=-cr@,t/2mp: Cospt.

SAMBS6S 4.6. 39608035 ®0 DB 55385601 J3ges D deragmenby
Esgopgdnmo P fmbol $z06Hmol  osgolmisemo  (3s63mbomema)  Gbgzol
3g6omeos T = 0,8 3. 3s6Lsbmztgm  B306mol  odngmgdomo  Gbgzol
3d3modymes, o bsddscol  bges B dmme  0ébgzs 396@ogsegéo
dodsdrorgemgdon Ti= 1,2 §3 3gcompon s a=3 13 s33emodmooon.

3olimbo: 5.4 18.

SABI6S  4.7. sqmobmdo  3gdsbobdol B dergmmBy  dodsa®gdmemos
3mGH0bmbB oo BD 6533068, Gmdmols  Lobolgol  3mgneigegbdos ¢ =35
6/19. B350 D 3y Bodsg@gdgemas Q=4006  Gobol M
Bzotmo, Gmdgebsgy dgdemos 3mM0B0bBom @ Loddgggby
oltosmmls bsbybol gocmgdyg.

336Lsbm3M90 BzoGmals odyemgde 27
6bgz0l  396mbo, o OL =10 13 Lo rmedbsts dembsgl 0 mg®dols
2568930 0= 2 o/ {3 3g0bacdo Lobfstomn ©s Gogs @=0, BD bs33s60
3M3g8mOIoMgdnmos.

3olmbo:  x=14.15 Sin2t 4.

SINGBI6S 4.8. Gmgmeo qgbps agmlb Fobs {4.7} sde3ebsda OL
3Oedbsdsl  3Gbgol  gobmbo, Gmd m dsbob  B306mds  0dmdGeml

5)3”6(*)6051&‘3Q)0 ﬁaﬂoaom? 3olmbo: @=35t

SAIBI6S 4.9. Q =98 6 Gmbol M Bzo6mo
Esgoegdnmos BB gpmoleby  dodsg@gdmem o6
3oG3mgma® 65335y, mommgmmo bsddserols
Loboligol 399803096800 c = 6,8 6/a. D
©933539600  Go3mBmdl  Fobsmmdol dogaasls,
Gemdmalogolsg Fobspmdol  gmggoiogbdo  pomab - %
l(:.o301)~3¢30g*\no (363mbomemo) Gbgzol  Lobdosmgl: b |—|—-|/

336Lsbmatgm M 30600l adgemgdomo
Abgzol  gebBmemgds, o 0A=7513 denodbscsl




05633560 369b30L 3mobao LobJetrgs ® = 6 /3
3slmbo: x =593 Sin(6t —0,95)13.

SIMGBI6S 4.10. Gobs [4. 9] s3m(396580  Bsmgsemgm, ©emd D
©933960l  doge Fotdmdmdogmo  Fobsmemdol dsgms sl R =1,2V 6 (V
9/G3);  0dsgg  ©dm3ebol  306m3orsb  somge  LsFotm  dmbs335d0 @
336Lsbm3tge 0A 3Gmedbsdsl Goameo gaobaco  LobjsGon dGmbzolsls
0g69ds odgemgdomo Gbgzals s33mog ges dsdlodsemnma? adgmgdoma Gbg30l

sd3mog s gsblabmgtgm  sgdgmgzy  Ggbmbsblol  Fgdmbggzedo o
Esfgdgm 3 GBg3980L 386 mmgdgda.
Solbo: @=8¢d"; A =8.513; x=8.5 Sin(8t - arctg4/3)La.
A=7291%3; x=-7.29 Cosll1.,66t 3.
SIMBI6S 4.11. m Isbols B306m0 ©s3oegdamos € Lobolgol bsddscrsby.

dsbby  dmdgregdl  FgdsFgmmydgmo doqod, Gmdgmoz  30dsGmnmas

396803560 Z 0gedol 3oL 3603, s 3569dmb Fobsmmdol dsgms F_é }1\7
&sﬁho%Qaﬁ)am 430600k 0d7mgdomo GBgz0ls s33emod s, o Q= H SinV¢/ mi
3slgbo: A=H/u~Vm/c.

§5.39Ld ,o 6B
3350 LI I »G00L 3M3I6S()

60300960  Faodomos  Lolggdol o6 Igso  Lbgmemols  dmdGrsmds
36bgdomse  sdmgoegdgmos  dsLTo  dsbgdol  gsbsGomagdol  bsbosmby;
dslgdal  gobsfomgdols  Fggmoo  oigmmgds  Lbgnmol (Lol gdals )
0bgdogmmdol  dsbslbosmgdemgdai.  Lbygmdo  dobgdol  gebsomadols
dsbsbosmgomgdos dsboms (3960 ©s 0bgM(300L dmdgbidgdo.

bogmogto  [9GGomol 36 bBgmerol  obyGgomeomdol  bs Berado
33@3Bsbomo ImdHrsmdol Ml s@ol dobo dsbs.

bbgymol  (Lobggdol) 363000 dcdésmdolsl  obgéonmedals
dobsbosmgdmgdo  3s6obsbmamgdash 53 Lbgmmol  (bolBgdol) obyio0l
Iedgbed gdoo.

6ogmoged Ggddomms (M (X,Yi,2)} bobBgdol dsbgdol 96¢5G0, 62
0b96300L (3960550 9feowgds g9m3ggeonem C (X,YeZ) [9odowml, Gmdmals
dgdstrgmds  gomeabsGos  0xyz Loliggdsdo gebobsbmgtgds Gswaml —
39JBm6o0: r . =2m, Fk/M (5.1)
a93domgddo: x,=2m, x/M; y,=> my/M; z,=YXmz/M. (5.2)

s m-  Lolbggdol M, §FooGoemols  dslss, I, — dobo AEob—
39d®™G0. M - dogmo bob@gdo (bbgmemol) dobs: M =2>m,.

oy F9oGomms  LobBgds  Foddmepagbl  sdbmmadnésee  dgse

Lbgeeols, 35306 FC=1/M-I I dm;
M

(5.3)

xc=1/M-I xdm; yc=1/M-j ydm; 7, = /M. j zdm . (5.4)

M M M
I fsbogmio bobgdol oby@00l Imdabido Gsody 96¢860k (wgdols
36 bod&BByol) FodsGor  sGob  bowowy, Gedgmop  Geeros  bobigdsdo

G9dsgsemo  [ocogdol  my dsbgdobs @s smydocr 965Gsdmy (0g6dsdog
o6 bodt3gg99mg) soo I dsbdocngdol 350658980 bsIGsgmms  xsdobs.

3006036935 skmmo J, Bglsdsdolo obegdloom: I=Y mr2 (5.5)
3M0®EobsBms boliggdol 0 bsmsgol dodstrio:
Jo=Zmy (%2 +yd +27) 5 (5.6)
bsgmmerobso mg®dgdol dodsGrom:
L= ka(Ykz + Zkz)’ J,= ka(xk2+Zk2)a I,= ka(xk2+yk2); (5.7)
Bodmm(‘)ggoﬁa@)m 130256(?)8386015 dodséron:
xoy kazk 5 Ixor kaYk > yoz kaxk (5.8)
(96O 0Esbyma aby@ 300l IndgbBgda:
ny =2mXy; I, = 2mxz; Jyz =2, MY, 7. (5.9
33 0bg@ 300l dmdgbgdls BmMol sbgmo ©sdmgoEgdnmagdss:
JAHIAL, =21 Tyt )y = (5.10)
960 LoddEggdo dmmsglgdam 99 s Loliggdobsmgals:
J,=2m, (Xk2 +}’k2); Jo=2r ) kaxkzo
L+l =l (5.11)

0 bogmmdobsBm mg@dgdo 0bge300l dmsgdo g@dgdos, dsBob
Iy=1.=J,.=0.

960333603360 dgscrn Lbynmadabsmgals: J = .[ rdm. (5.12)

Bogowgls r=VI/M - 0bg® 300l Gsponbo gfmegds.

Begogdmno 960335603560 LBgmemols abg® 300l 939680l
39dmbsmgmgmo gm@dmm.s:

1) §3tomo §oOxgogo wogoem: I =1/3- M I =1/12-MFZ (-
0B @géels Logedgs, M - ogeels dslbs);

2) dstogmobs modgogol: J,=1/3- M(a’+b); J,=1/3 -Mb%;
J=1/3-Ma’; J,=1/12-Mb* J,=1/12-Ma’; J.=1/12 -M(a™+b?);

3) obgmo FeHonmo godgods (wolym): J=1/2-Mr? J=1=1/4- Mr?
(r- @olgml Goponbas);

4) §360emo GeHonmo Gameo: J= Mr? (r— Gammol Gspaybos);

5) {éopmo Gameo: J = 1/2- M(R>1?), sd I s R égmmol Bogs o
2569 Gponbgdas);



6) §Oogmo Gomobeto: J,=1/2- Mr’.

Bab. 26.

do393:g0m0
Lbggemol  0bg®ool  dmdgbBo  Lbgepsbbzs @g@dol  dodstrn  bmgspse
Lbgosbbgss, dsgmsd sOLgdmdl 3933060 Js@smama@o gAdgdols dodseron
LBgmemols 0bgdzool dmdgbdgdls dm@ol, Gmdgmlsi gedmbs@egl Jomz 6l —
Ihosobytiol  mgmgds. dysco  bbgogemol  obyGool  dmdabdo  Gsody
Ie399memo Z @g@dol  dodsGor Beeros  sd  @gdols  SsGscrgemgto s
bbgogeol  dsbgdol (3960908  godsgsero z, @ycdol  Jodscor  0byezool
Imdgbh b @sds§gdacro  bbgmerol M dsbobs s o8 mycHdgdl  Femcol d
dsbdogrols y350GsB0l bsdmsgemo. gl ogmegds gsdmbsbmos Bmmemdon:
J,=1,,+Md*. (5.13)
SIMBO6Y 5.1.  asblsbmahgm  gohmazemmzsbo  Lablomgebo 0ABO,
3o63mgmma@sdol  dobgdol (3968 G0l gmmeEobsBgdo  0d  dmdgbd do,
OmEgbsg 0A  36medbsds 3mGobembdsmn® 0gMdomst segq bl ¢ snobgl,

oY

0A=0,B=1/2- AB=a.
ALY,  wsndzem  mgmgdol  Lodizdoggs P;
35806 0A s 0B mgemgdol dsbgdos m; = m; = pa, beaygme
AB  oghmb  3sbs  my=2ap. googzecmgsbo mgdemgdols
dslgdal ¢, €y €3 (3968®gd0 dso B GgOBomgddo
30985619396, 3306h0mm  gmedEobsBms  0Xy  Lolbggds
bsmsgom 0 GgdBomdo  ©s X ©gHdo  dogdsGomom
30H0bmbB e n®.(5.2) gmemdnmgdol msbsbds:
X= UM-(mx,tmpx,tmaxs)  y. = /M- (m,y,m,y,tmsy;) (o)
o] Xpy1)s (Xp¥2), (X3,¥3) - 96056 Bglisdsdals Ci, €2, €3 F9OBomgdols
3OmGpabsBgé0: X =a/2- Cosp; Xx,=ataCosp; X;=2at+a/2-Cosg;
y,=a/2-Singp; y,=aSing; y; = a/2- Sine.
M = m+mytm; = 4ap. gb  360336gmmdgdo  BgzoBebom ()
(?)(*)Q)mbab'aog 8030;2360): X, =at 3/4-a Coso ; Y= 3/4-a Sino .
SIMBI6S 5.2.  Lobpgds Ygmagds m dsbol AB =/ Log&dals
96033360336 3000 0gembash s Egeml B dmmem8o dmmsgzbgdmmo 2m
T 903 ommgzsbo dsbolsogsb.
336Lsbghgm Laliggdol dslgdol C A |C B

(396B®al dgdstrigmds A FodBomols dodstro. o>
INIELES. s germrtrabsBer AX mgdo 6ob. 28.

838303000 mgEml Lsmsgom A FgO@ommdo.

YOO gPmy3s0mzsbas; sdogmd  dobo  Islgdol (39680 C Immsglgdnmos

9ol Fnedo: AC = CB = £/2. Lolggds Ygmagds oo bbhgmemolbsgsh.
Loliggdol dsbs  M=m-+2m=3m. dsbgdol (3960l sdlzabs:
x=I/M-2Ymx = (m,g -AC+mg -AB)/ 3m= (m//2+2m/)/ 3m = 5// 6.
X, =50/ 6.
SIMBH6S 5.3. 03mggo M dslbols  gemagzstimgsbo Fadomo AB=/

Logdol @g@ml 0bgé300b dmdgbdo 0d z mgedols

30dstm, Gmdgmoi aseol 0 Fgodomdo @gdml %

39639603 gmeG s, ] A0 = ¢ / 4 0 C B
A
SAHIELEY. 303961 — IBs0bgeols
0gm61930L 0sbsbse (0b. (5.13)gmeAdnems): Gsb. 20.
I,=J.+M-0C?.

306500036 J.=1/12-MP?, ®oagoer 0C =7 /4.  sdo@md
J,=1/12- M/* + 1/16- M#*=7/48- M/~ 3slmbo: J, = 7/48- M /72,
OIIBO6Y 54. asdmmzgsewgo M dsbol s R
b obyé ool

Aseagbol  gOmyzstmgsbo oo

dm3dgbdo dobo osdgB®ol  dodstr 31

SIIEL6Y. 3306homm 3MOEBsBms
Bobggds
Losomsgom aligml (958" do. 3B ggmo
bodgdGogezo 6sb. 30.
6s330m0Lsmzgols b gremerabsdm ©96dgdols
dodsero

0bg® 300l dmdgbBgdl  BmGol  saommo  sd3b (5.11)
Howmdsl I +T = I (*);  30bsowsb gHmazs6H™mz560
©oligmb  0bydool dmdgbo dobo ygmggmo ©osdg@®ol dodstrm  ghmo s
030399, sdomd J= J. dgmegl  dbéog J=12MR (%) @ommdowsb:
2] =1/2-MR?, bso@sbs(y J=1/4-MR?. sbgag Jy:1/4'MR2. 3olmbo:
I=J= 1/4-MR?.

AAMBOBYS 5.5. 0 F9oB0mBo ©sjoegdnmo  JobJedrs
Fqgqds  [3ommo  ghmgzetmzgebo £ bogédol s M, dsbols

09eolash,  OmImal A deneby  dodsgégdamos R
Aspagbol s M, dsbol  Geopmmo  wolgm. gedmmgsmgmn
Jo6Jstrsl 0bgé (300l ImgbBo dolo  @szo@gdals 0z myg&dols
303560, GmIgemai JobJecsl Lodd@Bgols dsGommdos.

SAEL6Y. Js64s6rs Fgmands mGo Lbgmmolbsgsh:
©96m ©s obzm. sdo@md J,= IR0 4 J =t (%)




©96mb 0bge 300l dmdgb@o JR0% = 1/3.M > .

0z ©g&dols dodscrn @aligmlb 0bgezool dmdgbdols
asdmbsmgmgmase 399304960 309396 — 3B0bgtol  mgmegds:
2= ]+ M,d%, bosg I8 = 1/2-M,R? séh0ls oligmb 0bg@ioo dmdgbdo dobo
3sLgdols C (396860bg s 0z mgedols 3sGmgma@se  gedsgsmo  mgedols
303560, boagme d - 3sbdogmo  olgml (3968 Gopst 0z mgedsdwg: d=0C =/
+R. 3394690s: J 5= 1/2-M,R? +M,(#+ R)* .

(*) —36 3ogomgdm: J,=1/3- Mlﬂz + MZ(?)RZ [ 2421 0+0%).
SIMBI6S 5.6. M dslol ws R Hopomlols
96my 3563860 FOommo  olgm  dodsggdmmoas
AB

©9emby, G™Igmo( Plgdol  C (396860086
©smGgdnmos 0C = R2 dsbdogmoo.
399mmz3smgm algml 0bgH300L  dmdgbBado X,y
,Z 09»dgdols  dodsGrm; s3Ggm3g (396 0Esbyma
0696300l 33968 9d0.
S L6, 96ma356mzs60 Eolgmbmgols y
J=1/2-MR* .

0y @g6do gs3mgdnmos eobiml Lode@gol

E(J;F)mmb'aggog); 3domd, o 3sozsgmgdm dsbgdols

A Bab. 32.

3a6B®Ddy 0y -ob 3ssemgemné Cy, ©gadl, 35806 3 ©g@dols  dodstro
Ty =] =1/2-MR? .
339030949bmo  30a96L — 3B s0bg@ol mgmégds;  a39693s:
J=1J,+M:-0C 2= 3/4-MR>.
C §9680m8o gogogmamn 0z — ol 3ecsmygmaeo Cz, pg@do. g06sowsb,
Omamai X, sbggg Z
sdogmd

©96do  obgml  ©asdgB®gdol  msbsdmbggmmoas,

J.=1,=1/4MR?
309396 — 3B306960l  mgm@gdol  msbsbdse: J= I, + M- 0C *=
1/2-MR?.
GoEashsy ©aligm Lodg@®onmos, Gmame; X, sbggg Y 0gedol dodstro,
sdoymd I, =J,=1,=0.
3slgbo: J, = 1/4-MR?*; 1= 3/4-MR?; J_=1/2~MR2;
Jy=J,=1,=0.
OIIBI6S5.7. as3cmmzsewgo M dsbol s R Mool gHomgze®mgebo
FOommo olgmb 0bgdz00l dmdgb@o dobo dbgdo GO0l dodsGro.
3olmbo: J,=5/4- MR’
S3MBH6S 5.8. 3sdmmgsmgo M dslol s R Gspoqglol ghmagzsdmgsbo
FOommo (3omobe®ol 0bg®00l dmdgbdo dolo dbsbggmol  dodséro.

3olmbo: J =3/2-MR2.

SIMBH6S 5.9. asdmmzgsmgom P §mbol s R
Gspoqlols 960335603560 FOommo oligmls

0bgé 3001l

33960 03 9gAdols dodstrm, GMIgmo dgdsergmdls /
3ol Loddygdo s Loddodol (30606 a
EsImA9dmos  Gepoqlol dgmobyro dsbdogon 6ab. 33.
(h=R/4). 3olebo: J, = 5PR*/16g.

SIMGBS6S 5.10. P, Gmbol 1
Aspagbol 96033560350 momgby |
Bodm(zdnmoas P, Gmbol s R Gspoylbols
3469356. 7

399035 ge momgols 0bg@zools
dm3dgbdo dergbzol z g@dal dodsero, &
o 346930608 Fdmapagbl  gBmg 356396 Gsb. 34,

Vﬁ)ogg Qolsdmls. 3slbo: Ji =1/2¢g - (Plﬁ
PR,

SIMBY6S 5.11. obgm  96mg3560m356 R Gsponbols @
Feonm ©olgmdo  sdmdydmumos T Gsobols
3Mb6396B®0gmo bgdgmoa. asdmmgsmgo ol gml 053630014
dm3dgbo 03 z yedols dodsGm, GmIgmoi gseal dols o Bab.35.
L03ddodals (96®® o ol gl Lodd@gols

39639600 3mmsGrgmee, o ©olgml Fmbs séol P.
3olbo: J,=P2g - (R*+ ).

SAMBS6S  5.12. JobJsérs  Bgagos
96ma3860m3s60 M, dsbob  360m AB @gtmbsgsb,
Amdmols ety 30ds3gdnmos M,  dsbols
96ma356m3360 C @oligm. gomb Log®dy meéols
4r, bas3 T - pobzml Gsonlbos.

333mmzgemgem  JobJsdsl  0bgdzool  dmdgbBo
dolo
©sgoegdol 0 mgmdols  dodstro, Aoy
Jo6scrsl  LodeBgol  dsPmmdos s geml A Bab. 36.
dremEsh  ©sBmAgegmos T dsbdogroom.
3obegbo: J, = 1/6- (14M, + 99M,)r’.

SAMBS6S  5.13. M 3dsbols 96ma3s6mzsbo  FHogmo  olgm
9JbG96@Onmee Bsdmzdnmos dobo Lodédgol
dsO0md Z mgdby. olgmb Gseomlos I,boem
9JbG96E®obodgdo 0C =a, Lopsg C seols




©olgmb dsbgdal (3968 M0. asdmmgsemgo ol gml
06y (300l dcdgb@)gd0 37-9 6sbsbbg domomygdaemo
09639801 dodstrimn, s3M9039 (3968 O0wsbymo
0b9® 3001 IcndgbB9do.
3obagbo: J = 1/4- Mr2 J, = M(1/4-r*+a’);
J,=M(1/2 r’+a’). 1 =1=3,,=0.

SIMBH6S 5.14. 39dmmgzsmgm

doemosbo ogxob bsgggbg@mgsbo =023
dm@dsals . HES
0bg® 300l dmdgbBo dolo Z @g@dol dodsGro L. Z

(bod 330039 = 7800 66/33)'

3slpbo: J = 97 4ad’. 0,} 0,2-— 043~

6ab. 38.

SIMBS6H 5.15. 3™
3998560093056 9603569ml  dngmosbo
algml, JOonmo  Gammols, e
(3ogobe®ols © FOommo 3mbLob
0by& 300l Aseagbgdo 396803360
©96dols d0dstrm, o g3gems

3smg6L sd3m gMmo @s agogy dsbs?

3olmbo: V1/2:1:V5/8:V3/10.
§ 6. AdLIBdNL BIESENL IMIHSMdBY

39Js603m60 Lol gdol (v 34 3go60  bbgnmol) dmdéamdols
Esbsbsbosmgomse bdoé Fgdmbggzedo Lszds@olos gogmego dobo dsbgdols
(396EB®0L IndGsmdols Balosmo, GmIgmlsi asdmbsbegl gdwgao @9m@9ds.
14360 310 boli§adol  (bBgmenol) dsbadol 1396860  JerdBscmdl ol
53063 9000 borcmo9%0  FatBoemo,  GeadaemBory  0539mgtoemos  Joaemo
bol8 900l dsbs 8  Gmdqaem By Jerddaeadl 3969 dsemadol b 65980

oo, gl sby  aedmalisbgde: M Wc = |E 3

(6.1)
s M - 3mgmo  Laligdol  (Lbgmemol)  dobss, W

- dolgdol (39680l

c
shJocrgds, ﬁa—hohéaao%a (Lbgnmbg) dmpgdmemo 3oty dagmgdol 6536960

39J@mé0.
3920l C (X Yoo Zo) (39680l 3ndersmdol  @oggq®gb30seéo

396 mmagdgdos:
Md?x J dt® = X, Mdzyc/ dt?=Ye, MdZZC/ de? = 7. (6.2)

II60I36S. 3sbgd0b (396860 g9mgBeommo TodBomos ©s 3oty
dogmgdo gsd@ogdee dnegdamoas 86 dsbgdol (396EO by, $Msdge Loliggdol

(bbygezol) Faddomodby.

‘FIRIBN: oy Laligdsby dmgdgmo 3oty dsgwgdals bs3¢19d0 39Jd a0
(lfa) o6 dobo ggadomo dmzgdnee 7dcs3 ©gdbg (F2) 6amoal @omos
IE 4=0 (56 F2=10), 35306 Lol@gdol dsbgdol (39680l LobJserg o6 dalo
393300 smgdgm g@dby Igedogos VC:COHSt (56 v .= const). gl 6086s3L,

A3 dslgdols (39680 ImdAsmdl FHgogee s ®sbsdMsw, sb Md®sgas (VC:

0, 56 vo= 0). 93 Bgdmbggzel gfmegds dsbgdol 960560k  ImdHscadols
Ipbsbzol gsbemaba (36 dsbgdols (39680l dmdGsmdols dgbsbzol 3sbmbo 3 X

©96dol  30dstm).  Bmeglsg VCZO(oG Vo= 0), 35306 Lolb@gdol dslgdols

GbB®OL  3mmeEobsBgdo  EO@mob  Lsfgol s dmgdmer  dmdnb@9ddo
9603369m0L  Beagwos: XX =XS VO =EyS ozl =z) (s6 x.° =x.).
(6.3)

3000000795 9. dsligdal (39680l ogmEgdols  gsdmygnbgdom
3303969801 33mblibs 93m3begdnmos  Fgdwgan 0sbsdodeyzermdon:

1) 6sbsbbg 393m3zlbeoboo Loliggdsby dmdgeo g3gms gecg dsgms.

2) sgoébhomo gomewobsos Loliggds;

3) 3sbgdol (396Gl dmdGsmdals mgmegds  BogFadmm  39330emgdBo
((6.2) Borgmdgdols bsboom);

4) aodmzogsmmmn  yzgms  aséy  degmol  agadomo  3mmGEobsgms
Lobggdol gedgdby;

5) domgdyma 3608369mmdgdo Bgz089bmm (6.2) asbEmegdgddo.

SAMBO6S 6.1. 0A =4013 bog@dol gomazstm3zsbo @ghm @=nt/2
396mbom  d6bsgl 0 dmmemby mgHels astﬁmmbvagogg 3335350 dE30
©96dol 3o 39dm. t =0 dmdgbBobsmza 35

336Lsbmatgom  dsligdals C (396860 _ b Y.
bopopg ©s @gemby dmddgeo gecg  degmgdols 449’:'«‘
6536980 39JE™G0b dodsrormemgds. L B
SAILES, t=0 dodgbpBo ¢ = 0; g 22 B
939308 0A  Bpgdstrgmds.  ogemb dslgdals C rhin C A
G96B®0 IdGsmdL Jsbmboo: MWC= Fo . bsb. 40.

C §3680ma 333mfgel R =0A/2=2013
Aspagbol §FegGodl. dolbo shfstrgds ch; Boowom WCZ\/ wotw,?
; o w=¢eR;w =o’R. 30650086 = §b=nt bowme € =¢=Tl: ; domd t=10
3396830 0= 0, e=n. dsBsborsdy W=n R; w,= 0. dogomgdo W, = w.= 20n
1}3/\3}'32. 3B Jstrgds w d0dsrogemas  BMsgd@eodool (fOgfocol)  3bgdals

c



333603 0y og@dals  3scrsemgemm@oe. 03039 90dsG0emgds 543l lEa
39JBmebs.

AAMBOBS 6.2,  3m0bmbGormae gbsby 3mdMsmdolel  EEodzsols
39ambo slEmmgdl Ggbmegdby 390B0gsmnd IsGdmbonem Gbgzsl a=2,5 1d
s33emomeomn s T= 0,5 {3 3gommom. gsgmbols dsérs Bzocmom offmbol 10

-b 045 o donsb  gbms I $-L. asbbobmamrgm gsambol  Fbq3s
&b, googs 039 0o 1 &b 3 Q300 393 a3
9ebgdby.

ALY, Brsdz00L 3036y gm0 gocg damgdos:  gsgmbol
dséol Fobs P1=10 @), 96035 Fmbs ozemgdmsb géomse P, =1 8,

393000l bgzs  Mgmligdby  Bomos geogel  Fmbom  asdmfggme
®g3daool  degmsl (N) @sdshgdgmo  dstol  Gbggomo  dmdersmdom
a30mf3gmmo  Ggediool dsms (Ny). xsd9c0  {6g30L  Ggsdiools  dsems
N=N_+N;. gL dogmgdo dodstrorgmos 3968 0gsmse jsdsbmebsgg, N, = P, .
3963bsbmgeman N, .

3306B0m0 gmmdEobsgms 0Xy boggds s 0X ©g&do  dogdstromom
3m60bmbB oG,

MG0gel  Islgdol (39680 s  oigmol  drgdstigmdsl Y mg@dals
asb{3603. 3o3mbals dscrol  BsLgdol C (396B G0  (dscrals 396 0g8e 60
Gbgzol 3s3m) y  ©96dols 3obF3603 sLermmgdl  3sédmboryem
6bgzel s dmIBsML 3obmboo:

y.= aSinkt .

30630l 0sbsbds  Gbgzals  3gGomeo T = 21/
k, Lsopsbsy k=2n/T=4n;

358sbosdy Yy, = 2,5 Sindnt . ) ol @

dsésls 3slgdol C (39680l dmdéamdols
053996305 A0 sbBmmagds 0dbgds Gab . 41.

m,dYy,/ dff = - P+ N,

(®)

¥/

o) 3330m350bF 06900 (8) Bmemdsl, 35806 () -sb 339J690s:
N=P,- P,/g-2,5-16 n* Sindnt =P,- P,/ g-40 n* Sin4nt .
bsdommme, 3sambols dmddsmdabsl xedn@o (6930l dsems 0fbgds:
N=P,+P,- P,/ g40 n’ Sind4nt .
33 BmmmdoEsb 3sdmdabsgmdl, Gmad:
1) N=N,., Go@gs Sindnt=-1, g.o.
Niox = Po+ P+ P/ 240 1 = 10+1+10 / 980- 40-3,14° = 158;
2) N=Ng» 6o@gs Sindnt=+1, g.0. N, =P,+P,-P/g40 i =78,
3sbmbo: 3sambols 6935 GHqemliadba or33emqds
7 Bmboesb 15 B3mbsdon.

0 > X
Bab. 42.

SAMBH6S 6.3. 3383364360l sdgmmo mgsemo F dogrols dmJdgegdom
boosmoon  gomcsgl  3m@obebdsma® §oOggby  (6s56.42).  asblsbmztgo
035mols 103dodol C (3960l dmdGsmdol  356mbo, o LHosemol babebol
309950309605 £, beagnen F = 5P, Lowos(y P - ogemols fmbss. Lsfgol 33680
035m0 936530 0gm.

SEL6Y. 0350bg  Iddgegdl mobo dsws: F - 3sdmdéeggdgemo
dogms, P - L03dodols  dsgs, Fy - Leosmol bobabol dogms,N -Logtogbols
Beorddsgomdo GHgsdiool dsgms.  Bsligdols C (396860l amd(‘)omboh‘

336 mmads ch:ﬁ+§+ﬁb+ﬂ.
©s3939330mmo gl Bomeds X s Y 0gedgdby: MXC: F-F,,
0=-P+N . ()
o y=R=const s Y.,=0; N =P; btosmol bsbgbols dogs:
F,=fN=fP. (s) -6 a394690s: P/ g Xc =5fP — {P; sJqs6 Xc =41P.
39506893000 gl Bmmmemds: Xc = 4fgt +c,. )

LsFgolb 3mdgbBdo mgsmo mdésgas, g.0. Gogs t,=0, 35806 Xc =V,=
0; dsmo (3)-30 FgBsboo dogomgdm €= 0; s3oBmd (3) sbgm Labgls oegdl:
Xc =4fgt ; 30068 930m0m gl Bmemds: x, = 2fgt* + ¢, .
@)

39b3momo  dsbdogmo  330mzsmmo  IndGsmdol ©sfygdol dmdgbBowsb,
9:0., Oogs t,=0,35806 X, =0 s 33Bsbosdy () — @6 ¢,= 0.

3590l (39680l dmdBsmdol asbBmemgds 0dbgds: §9:2fg‘[2.

SIIBO6S 6.4. gevng 3O0brbPon® LoddBygby dmmsglgdmmos
P=16 6 (mbol  Ledgmobs 360bds. 3M0bdol  @ebeomo AE §sbbsgols
a3l 3603 Lsfgolo D dpgdstrgmboesb glitosemme dogmdsgl P,= 86 (mbol
s I'=06,513 csponlol gomg3zsemzsbo (omobe®o ©s gebbrgms ®6o
3bo. 3 EOMOL 3s6353emmdsBo G X dsbdoenby  asssgomEgds 3G0bds
dmG0beobgocrndmo  Loddggol  asbfze0g? dmggdgmos:  AB=50 13;
BE=1201a.

ALY Lol gds Bgoggds mdo bbgnmolbsgsb: (omobomols ©s
30B30logeb.  Lobggdsby dmJdgoo sty  deggdols  bsgdgdo  39ddmeal
a9adomo X mgédbg F, = 0. g.0. spgomo 543l X mg@dols 30dsér  3slgdols
(395&®0l dmdesmdols Fgbsbgols 3o6mbL :

X =X\ (»)
3s6dogmo sgmzsmmo  AB fodml  Lsfyobo dpgdstgmdowsb. bsfgols t,=0
339630 dsbgdol (396@ G0l sdlz0bs



X= (m; X, +tm, X, )/ M ()
bopsy M =mi+m,, bome X; s X,
3036 3M0Bdobs s (30emobemols
L03dodol (396@ G0l sdl30Lgd0.

3ndgeo t O™l 99dga D
(oabe®ds  asszgms mmo  Legmo
démbo, 9. 0. gsosts DD=4nr 13
dsbdogmo, b 8dsgg ™ 3o

360Bds gsessegomes dsé3bbog X 153
dsbdogom. 35806 30BAsL s
3omobeeols D, dgdstrgmdals
38b30L9%0 dgLsdsdobog
0695056
X —X) s (Xt 0-X), bawas(y
¢/ =DD,Cosa= 4n rCosal..
(tga=AB/BE = 5/12; Cosa= 12/13).
EAmol  t dmdgbBolsmzgals Lol@gdol dsbgdal (39630l dgdstrigmds
3360Lsbrgagds  Feommdon: X, = [m,(x; — X) + my(x,+ /- x)] / M. (3)
(4) Boedal msbsbIse (8) s (3) — 6 g39J693s:
(my x;tmy X, )/M = [my(x; — X) + my(x,+ £ -x)] /M
o6 (m;+m,) x =m,/ ;
Lsosbas X =my,/ / (m,+m,) = 4n rP,Cosa / (P,+P,)= 25,12 1.
x=25,1213 (3s43b603).
SIMBS6S 6.5. m = 50 33 9sLob A
B306mo sol sbGaem Loddg gty dsgomoals

LsBgeegdom, Gmdgmo Rebzggmos
R=0,43 éswoglol B oemmby.

3bLobrgege A Lbyyeby degdeo 6sb. 44.
3969 doemgdal bs369d30 39EHm®0l Loraca.

0)'32 ool ggobgeo  sBsergds 38
G~
3slmbo:  F® =1006.

SAMGBS6S 6.6. P, {obol A oo domsgbgdmmos a3
3mA0bmbBomad Lodddygby, bome P, fmbol
B byl 3godemosh  3g@dogema®o  ddrsmds.

300by o (36mdogmas.
396LsBmgA90 Lol@gdol dsbgdol (396@ G0l
sBJocrgds, o beomol shocrgds séols w.

3sbbo: w=VP P g% / (P, +P,) -w.

SANBI6S  6.7. 70 6 Febol M; begmo  dmoogbgdgemos a3
3m60bmbBsmne Loddgygby. 306 Fobol M,
Lbgmeby dodsgdgdnmo  bsddsés 3937339k
s dMs30 dgmdsmgmdoest bynmoa asndzgl.

396Lsbmgegem  dsbdogo, GBIy by

39EssEa0mEgds Lmmo, o7 o =30° ©s

M, Tbypmds bomol  @sbéoe Fabbag by
330565 40 13 3dsbdagmo.
3olmbo: s =10.4 13 (3s6(3b603)

dAMGBS6S 6.8. 1, s 1, (1> 1,) Hoponbgdols
96033563560  dmmggdo  gOMdsbgmmsb  boligee
36056 Fggmgdnmbo s Bsdmzdnmbo 36056 36176301
bagom 0 mgedby.
336Lsbmgtgo  (6g3s 93 @g@dby, oy demeggdols

baghoe  Fobs 60l Q. M; ©s M, $zo6Hmgdols ES M,
Fobgdos Tglsdsdalse Py s P,. M, @zo6mols M, -
shdecrgds Wb Bogmas. 6sb. 47.

3olmbo: N=P+P,+Q — (P;r; —P,r,)) -w, /gr, .
SIMBIES 6.9. o38m3s6Js60l  Fodyzsbo mzsemo  dsbby Immgdoemo
3s3¢mbo  dmdgbBol  Imdgregdom LMasmom gm@sgl
3mGH0b0bBom® F6Ou9%,.
a36Lsbogdgm mgoemol  Loddadol  C  (3968Gols \
dnd@ombols  3obmbo, oy Leosemols bobabols
3099503096800 . Lofgol 3396830 mzsmoa ndtsgo
0go. 3olmbo: X, = f ot? /2.

Gab, 48.

§ 7. AMIGSMB0L ~ 50806 (32082500
39 5995

v Lo Js®rom 3mdérsgo m  dsbol bogmogdo oo omaol  dmdHsmdols
3096035 9femgds 39ddmGmm Lowaegl: Q=mV, (7.1)

6030096 FaOomos Lol gdol Imderemdol Gomegbmds: QIkaV -
s M —bolgadol k- 960 Faddomol dsbss, Vi —sd Fgogomol LobJsy.
bogmog® Gatomms bolgdobeagol: Q =MV |, (72)
bosz M - Lob@ggdols dobss, v ¢ — bobggdols dsbgdols (3960l LobJséy.

T908 ool dmdeemdal Hamegbmdal mgmegds: dd/dt: If; (7.3)



BLobgdol dmdMsmdol Gemegbmdol mgm®gds: d(j/dt = IE 3,
JrdH5m30l Hscqberdol bs 5ol 0998

T
TaoBomobomaols : mV -mV e jF dt; (7.4)
0

Y| vV, s V- To0Bomol dmderemdal Lsfgolbo ©s Ledmemmm  bobJsérgs ,
bome T - d3mdemdol Aol Fmsemawo.
©935608ol  dstmgnobs  gmmAEobsBms desgo  LolBgdol mgedgdby
(7.4) Hoemdals ©sggadorgdon dogomgdo:
T T T
mv,— vaX=J F.dt; mv, mv0y=j F,dt; mv,- mvoz=j F,dt; (7.5)
0 0 0

T
bogmogd Ggodomas bobBgdobomgols Q = I dt; (7.6)
0

T
boeowgl S= J.F - 9fmegds dsgmol Legmo 033gmbo; bopowegl
0

dgzﬁ dt - dogols 9mgdgbdsernmo 0d3gmbo gfmegds.

oy F =const, 85306 (7.3) 3bg Rsaffgegds: mV -mV =F .1, (7.7)
oy IE =0, 35806 (7.3) —0s6 Q = const; g.0. segowo 343k ImdGemdals
Gromggbodol Bgbsbgols gobobl: Qo= Q. . (7.8)

oy F= 0, 358906 Q, spgomo 843l X ©gcdol dodserom
dcrdeomdol Gompgbmdols dgb: 40 . mV,,= mv, =const. (7.9)

JONI0IIES. 305 rourv < roung bbb (33emoergdol  mgedgdols
399mggbgdom 33m(3969801 3dmblibs 693099bgommos  dgdegaon
0565303pg3¢md00: 1) 6sbsbby asdmglsbme FodBomby dmddgmo  y3gms
3JBomco s Ggsdiool degms (LobBgdol Bgdmbzg3s8o - g3gmes ascg dos);
2)  sgotbome  ymedEobsgms  Lolggds; 3)  3mdesmdal  Gemegbmdals
G3omgdol mgmegds (Geogmey FTodBomabsmzgal, sbggzg — boliggdobsmgals)
hog(gomm  Lsgmmteobsgm  ©0g®dgdby  ggadomgédo;  4) domgdaeo
3368 mma3q300s6 3363bsb@aOmm 936mdo Lowowy (ImdBsmdols Lsfgolo 6
bsdogmmm  bohdeg, 3md®smdols ©Om, Gmdgmody w;bmdo dsems 86 dolo
30390e0).

IdI6NIF69. 1) o Lolgdsby dmfdgmo gocg dsemgdol  bsygdo
39J@me0 86 dolo ggadogmo GMIgmody @g@dby bymol  Feamos, dsBob

35903099698 3dBrsmdol HomEgbmdol Fgbsbgol  3obmbl  (7.8) 6 (7.9)
Bormmdols Lobon s 3563bsbm3zMsgm bsdgdb Lowowgl.
2) (7.2) Bomdopsb Bsbl, Gmd o bob@gds (s6 Lbynmo) obyg

dndesmdl, Gmd dolo dobgdol (396 G0 1d@sg0s (\7 ¢ =0), 35806 Lol@gdols
(36 Lbgmmol) dcmdersmdols Gempgbemds bamols Bmmos. dsgsmomse, o
Lbgmmo  o6bsgl dslbgdol 396y aodsgemo @g@dol 356 8gdm, 3dsT0b
dolo dcdMsmdols GsmEgbmds bymoal Bmmos.

SIMBS6S 7.1 336Lsbm3zegm Job6 o651
3mdGemdol  GumEgbmdal bs3Mgdo 39dd ™G0, o7 ogo
Bq0gq0s Py {mbol 0A=4r Logédol  gomgzstimgsbo
©96ols  ©s Py fobol 1 Gsogbol B ol gmlsegsh;
s@gdne 3mdg63 3o JobJsdel gambado Lobjsrg o - b
Bowos

SAMBLLES. 0960l 103dodob (3960 qs C
T968omBos Immsglgdmemo, bome olgmbo —B
(96 ®do. Lob@gdol  dmd@semdol  Gemegbmdal
6536980  39JBHmM0 3edmomzgmgds GmEdnmon:

Q = Moy -V c+mB’\7 B> (8) o m,=P/g; mg=Py/g
J96Jscrsls dmdersmdols el dolo C s B {godomgdo 3mdérsmdgb
§O9F0693%9 © ggobnco Lobjstom, sdogemd v.= o-0C=2rm;
vg= 0-0B=5rm.
LoBsdol V. s Vi 39ddmegdo 30dstorgmbo stos6  Bsbsbol

Loddigygdo 0B ool dstromdnmse ©s ds8slswpsdy Q 39d&oéaig 0B -l
doOromdeos.
oy (8) Hommdsl  psgzsggadomgdo  Bsbsbol LoddgggBo dwgdsty
0B {60l dscromdnm gedby, dogomgdo:
Q=my v,+tmyvg=P/g2ro+ P,/g - Sro=2P,+5P)rw/g.
3olmbo: Q= (2Pl+ SPz)I‘ o/ g; Q aoaoﬁ)m‘aggno
0B-b 3smmmdnmop dmddsmdol Fbsdgl).
SINGBI6S 7.2 P =12 33 Gobol gcsbsgs, Gmdgmoi dogmobsgos
15 3/G3  Lobgstom, 359080 asbgwms o6  6sfomsw. P=83a  {obol
653Lb3eg30L Lohdstrg acsbsgols dmdersmdols dodstrormemagdon geobstrps 25
3/§3-09. 03mzgm dgmég 6sFormals Lok Jstrg.
SABL6S.  acsbsol dsbs m = P/ g= 12/ g, boewe asbzoemdals
Fgegase domgdnmo  6s3Lb30g3980L dsbgdos: m=P,/g=8/g; m,=P,/ g=
=4/g.

a6s6s80b LobJscrgs v=15 3/(3, beragmer 653bbgerg3900Ls: vi=253/F3 o
V,. 9bes 3sb63bsbogOmmn  V,.



363630l aobiemdsdeg  IndMsmdols GemEgbmdsls s  3sbiemdals
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bbgoemol  boddodol  dsemols  d9dsmds. A = #P-h, ,

(9.12)
P — Ubgnemol  103dodol dogmss, h, — Ubgammol  3slgdol (39680l
390B04@YO0 FoRISRF0rOS.
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Fgbsdmm gopsseaomgdgol dmemals 66
AAA B ~ACC,B = 08s,/6s.= AB /i — 3/2; = 85c=2/3-8s, .

AAA B ~ADDB = 8s,/0s,=AB /BD; 0s,/0sp=3/1; = 8sy=1/3-0s,. (*¥)

ADD,E ~ AKK,E = 8s,,/06sy= DE /KE;
Osp/0s=3/1; = ds=1/3-8sp, =1/9-3s,.
393089600 gl 3608369emmdgo (*) BmemdsBo; dogomgdo:
=(P-2/3-65,—Q-1/9-8s,) / 8s,=2/3- P - 1/9-Q = 850 46.

QI39RIBY: sbsemmaoneo  abomn  asdmmasmam ﬁB © ﬁE 953000
dogmgda.

3000009dS: 1) F_éB 69500l dsgmol  asdmbsmgmagmse  (3) bsbsbby
303390 Yglbodemer  gomssaonmgds B Loghegbl  (Bsgsmomobsmzgals
3939330600  oBInbggdgma (6930 356060l 3068 Ledn®o3do); A s E
bsghwabgdo désg6o ©sGRgd0s6.

2) ﬁE 695400l dsgols 39dmbsmgmgmse  dogzgm JgLsdmm

aswsseaorgds E - Loghogbl (393993060 383 bgzg@mmo {0939
30Lsddgemol Lsdnes39880); A s B Lsghegbgdo ndtsgbo ostBgdash.

o603y dgdmbggzolemzgals  (eem-gemgg  ssg3ge  (g) b sbsgrmgonéo
bobsbo.

D Lsble®mBo  dsdzol  gedmbsogmgmse  gebzobommn (3o 3g
338 ™36 4360l Ferbslffeermdols  dpgmds@gmds. dolo  dmegmo  asdmgbsbmo

AD og6ol bsBgsmgdoo (6sb. ©) , Gmdgmbg dmgdgwgd96: sJGon®o |3
dogms, A s B mgtdgdty  bg3ol  Ggsdiool RA Qo R dogmgdo s D

Loblecols ©95Jiool RD dogms, GmIgmo(s sbs®hgb0 daggdols

39A8@gE 0.
303300 A Loblecdl  Bgbodme  gomssegomgds AA = 8s,. 35806 B
1365308, boawer C s D 9o 0mgdo doomgdgb dgbsdemm gsmssmanrmgdgdls:
CC,=0s¢;
DD, = 8sp. 3gLsdsdol dmwgemb o3l (o) Lobg.
AD @g6Hols FebsbGmdmdobomgol  glsdmm  gopsspaomgdsms
36063030l msbsbdoe a397690s:
-R,0s,+ P8s.— R8s, =0;
3Jqwsb Rp=(Pdsc—R,3s,)/ Osp.
oy 30bstggdemagdo (**) Bmmmdgdom, dozomgdm:
Rp=(P-2/3-8s,— R, -8s,) /(1/3- 8s,) =2 P —3R, =250 46.
3obmbo: R, =850 6. Ry=800 36,
Rg: 500 46 : RDZ 250 6.
S3MBS6S 10.4. bogmMsgo, GmIgmo dgeages 9Omdsbgomsb bolgse
Fgaemgdyemo T; ©s I, Gsaylgdols 8jm53

(300065301356, ‘ 3oéo0be
Lodér@gg by d94¢

6ab. 90.



635G mAOMd580 mé0 P s P, 060960 LsFnsemadoom.
2o Py 3oy 3629

M3 909mgsgon boghegb Loddggyby Legmesgols Bbeosema Qo
03mggm

s3m 30@gdnmgds 83 Hzocmgdol  Fglsdmm 8S; s 8,  gemssmanmgdgdl
docr0b.
3sbmbo: 8s,/0s, = (r,+T1,)/21,

SAMBS610. 5. Oredbsés  3gdsbobdols ) A
_ P '
dés30b ©a8%g dmJdgegdl P dsems. 0,C 3bserby —L‘-ﬁ‘ I
dnEgdgmos  dsdérbgdgmo  dmdgbdo L,=3/2-Ph. B 0
Lsblegddo babybo 3909 gs30m ©s Liph,
396bsbmgdge L dm3dgbdo, GOmIgmoz b
dngemn  0A  36medbscsl,  Gsms  39ds60B3do e o1 “U,

sGhgl  Fobslffmemdsdo, o 0A =h, 0,C =3h
©s m6ozg dbsG0 39O B0 nM0s.
3obnbo: L =Ph/2.
S3(MBS6S 10.6. 3 dbsds - (3300
d9Js60bd0 09gmx396s FebsLGmO®ds0 3
bsbsbBy 3590 bsbyem 3 m3s6gmdsdo.
396Lsbadgo ED 63360l @gnmemdszos h,
o Bsddstol  Lobabgol  gmaggoogbdos
c=206/t3; OE=AE; P=2006; Q=1006;
o =30% Bsddstrs a0 gdgemoas.
3slbmbo: h=2.88 3.
OIIBI6S 10.7. 6sbsbby godmbsbagemo
d9Js60bdo 0dgmg9ds G b bGmO@dsdo.
33bLsbmatgm  Q Bzotmol  Gmbs, o
dcdersgo 0 deomgols Feabs P =2006, berygmen
c=506/13 Lobolgol bsddotrs  gogodmeos
h =413 Log&doo. 3slmbo: Q=200 6.
SAMBH6S 10.8 . 6sbsbBy der(397emo
039696305 NM0 3memolidsbgo 0dymzgds
FobslGmOmdso. goblabmztgn ©sdmzowgdnmgds
Q dsgmsls s D Bzodmol Fmbsl dmeols, o
Bages oo dmmzol Gspoqlos R, bogwe  bges

d306g demzol Gswoglo 1.

dmeggdols  Gmbgdo s @gMdgddo  bobubo
032 IOIR Y300

Gab.95,

3olmbo:
Q=R-1rP/2R.

S3(MBY6S 10.9. AD 30%0 393988 AC s
CD 9fmbso  dgmgdolegsb, GmIgdagy

bish, 96,

960336gmmsb  ggmmgdmmoas C Lobltom. gmgdo dg3l A s B Lsyhegbgdby.
3030 Gebsl{memdsdos sty dmeydmmo Ifl s |f2 dogmgdols dmddgregdom.

—

396LsbmzOgm F2 dsemols bopoey, oy F, =28, AK=KC=ad, BC=
BD =12a3a. 3olmbo: FZ =1453,.
SIMBGS6S 10.10 . Fgeagbomo  qfmbswo AD gmgo A dmeomo  bolgswss

Bsdsgrgdmmo ggegemdo, beome B - . =
Toodomdo  9gobmds  Logmesgl. i 1 i |3¢
b}
K C E 4B ) D

C  (968om8o  Leblbstos. gmgbg
34390090l dsmgdo P1=5@, P,=4 3,
P;=3 8, s (yz0mdsens, G@Imals 697,
3mdgbBos L=2 3. 336bsbm3zAgm
hadsgtgdals G9s;30980, o AC=CB=BD=33, KC=EB=1 3.
38 bo: RA:4 & L,=7803. RBZS(S\.

§11. 206530300 BMBISKD 3S6SHMLIdS
(r03em33396 - s 3bgols gobBmmagds)

@obsdogols  Bmgso  gsbgmemgds sGol  Gygbsderer  gssswgaemydsms
3463030k 865308 Imd5s30 bobggdobsogolb. 030 39degado
dgmdscrgmdl:

39398 G0memo, OIS0 8dydols dfmby bolbygdols
ImdGsmdolbsl dobo ymggmmo dwgdsegmdolsmgol bolgds By derfdaco y39e08
sTdogGo dserol s 0bye300b dserol dog dglicmemgdaco gegdgbiys@men
d9dsmdsms xsdo bolbdgdols 6930bdoge  dgbsdemer gs@ssegoemyds by baemol

Boreos.

;9060305015 %maégo 606@)0);{3360: > (lfk + (_I.)k )SFk =0;
367 Y (F-mW,)5F, =0. (11.1)
| (_Isk: - mka - Lolggdol k - 960 G96Bomby dngdgoo  0bgdzool
dogmss.
39330emqd3o:

2 [ (Fim my ¥ 4 )0%,c+ (Fky‘ my y WOyt (Fy,- my z 0z,] = 0. (11.2)
0bg® ool dsmgdol  InBemdsms  asdmogms  dgsto  Lbgmemols
ToOdomgdols glsedmm gopsseaomndolsls gsdmomgmgds gm&dmgmgdoon:

1) gowsBsboono dmdesmdo 69 D5 r; (11.3)

Ci) =MW - 0bg® 0ol deggdol BmenJdgeas.
2) mdsgo 0z @ydol 39658990 d6mbzobsl: OA =-1,¢,06¢0; (11.4)



I, - Bbyymol 0bsérz00ls  dmdgbgos  dermbzol 0z @g&dols
d0ds60;  €,— oObgz0L Jnobuco shJsMgds.

3) dGBggmo Jeddsmdobsl:  SA=M W, 8T, +J.€,5¢; (11.5)
W, - Ubgmmol Loddodol 396@@0l  oBJsdrgdss; ST, - Lbgmmol Loddodob

c
9680l Fqgbsdmm gowss@aomgds; 8@ - Lhgmemol Bgbadme dmdérmbgds.
bobagbol  dogmgdol  sOLgdmdobsl, obobo  dogzmmgbgdosh 3@ on®
doggdls.

©0bsdogol Bmgswo gebBmmgdol ©sbdsergdom Bgodmagds  $dmoblbsls
Lobgdol  ©absdogol  8dm(306980, ®mdmgddoz  Fgrosh:  0bgHz0mmmdols
dsbsbosmgdemgdo (Bsbgdo s 0bg& 300l 33968)930),  Loligdals
F96&omgdols shJségdgdo, sdonco dsgmgdo 86 dmdgb@gdo, LEosmol o6
306300 bobabols 3998030958 900, B53d619801s Mg 350emdals
309%800gbH%0.

33m(396980 ©0bsdogols Bergeeo 29683memgdals sbdsergdom
6930996096 7mos sdmoblbsl 9degao 0sbsdodwgz@mboon:

1) bobsbby  gsdmglobme  Lob@Bgdol  dpgmdsdrgmds  e®mols
396Lsboemggem dmdgbid)do;

2)  393mglsbom Loliggdsety dmddgeo sgdommo dsmgdo;

3) 393mzbsbmo  LolBgdsby dmddgoo  Ggediool (36  opgsernGo
339801s) dsemgdo;

4) 3ergemn bobggdol FadGomgdl obgeool dsemgdo;

5) dogiggm Lolggdol goo-gom FodBol Bgbsdme  asopsspaomygds
©s dobo LsBmemgdom  gsdmgbsbmo  LolBgdsty dmgdgoo  gggms dsmols
dmegdols Foodomol Bgledmm gopsswaarmyds;

6) 3590730350 939 dogmols
Jglsdmm  d9domds s Fg3s0a0bmm  ©absdogols
Bergowo gbBmemads;

7) 93c3blbso gl gobGmemgds.

OIIBI6S 11.1. 6sbobby 6sh396900
dmmygoal Lob@gdedy Bedmgzomgdnmos Dy s
D, $gotrmo, Gemdgemos Fobgdas dglbsdsdabse P,
=106 s P,=86. as6Lsbmztgo D, B zocmals
W, sbdot19ds s omgzol T psgodnmeds, oy
deemggdel dsbgdl My gmgdgmggoge. Di s D,
B306mgd0b  sBJscigdgdols gsdEmds getol 0,5
-V (w,/w, =0,5).

SABL6S. LobPgds Ige- -+ ~=- - D,
s D, Ubgymolsgsh ©s «fe 70 > B
3 3960logsb.
s7dzsm D, $30600 3md@rsmdls J3gzo0m.

BLobgdsby dmgdgegdgb sdomco |3 |
|3 2 dsmgdo s 0byB300bdsemgdo ) | @ ) 2
BaQa0é1=-m1W1 o (_152=—m2VT/2. *)
sdBog® s 0bgdool  doggdl 9469800
6sbsbby domomgdaemo  dodsGrormemgdsbo.
dog(39m D, @zocol J3g300 650dy

Bab. 100.

Fglsdmm 88 asssgargds; 35806 D) 0600 =
doomgdls  bgzom Os; = 0,505 Fglodme  aspssyomgdsl.  3gdsbosols
Bergswo gsbBmmgds doormgdl sbgo Labgl:

-P,8s, - @,0s; + P,0s- ®,8s =0.

393089600 s 8s; — ol 360336g00mds, D) s D, — ol 360336900m3gd0
(*) — 36, bosy m= P)/g, m, = P,/g , s3sbosbsgg W= 0,5w,; @Beormeds
393439600 Os—by, dogomgde: - 0,5P, -0,5P/2g -w, +P, - Py/g-w, =0,
bsowsbsg Wy=2g(2P,—P)/(P|+4P,). 8g30896m0 6ozbzomo 3608369emmdgdoa:

w,=2-9,8(2-8-10)/(10+32)=2,8 /3.
w,=2.83/G3%.

sBems a563bsbE3zOmn mmgols Esgadnmmds T.

Fo6dmgoegobmm, Gmd  ommgo  asesgomos s dobo  dmgdgregds
$3o00by  Fg3azsmmmn  Ggsdiools  dsom. o D, 3060l Imzgegdm
3369m3g  0bgdoal @, doemsl @ Bzodmb  dogsboggdo  Jglsdeme s
390s5a0mgdsl, Fgaz0dmos Fg3seanbmm ©obsdogzol bmgeo 3sbBmmgds:

P,8s- ®,0s - Tés=0.
sdgsb T=P,-D,, s6q T=P,—Py/g-w,.
®o3b3000 3608369m0dqd0ls BgBsbom dogomgdm: T =5,7126.

SNBSS 11.2. mto doosbo  gomgzetrmgsbo I s II  mogmgo,
Omdgmos dsbgdos M s m,, babnmbol gs¢19dg 36rmbsgab 3sGusmgeméo 0,

s 0, mg6dgdol gs®8gdm lslérgme o390l bsBgsmadom, oby, G®3
beosgol  spgomo 86 o3l 1 @woqlol I momgby  dmegdnmos
35361 bgdgmmo  dmdgbgo L, boewe I momgby gbggzs dsgodo, Gmdmoal
dommBoz  doddgmos My dsbol  Fgodmo.  asblsbozhgm  Bzocmol W
shJecrgds, o7 m3ggeobs ©s dsgomal dobs mammgdgemymaomos.

SIMBL6S. Loliggds Fgwggds
I s II gmogmggdobsgsb, A @Egodmolsgsh,
afmbso  mzgeals s dsgomalysb.

33m(39601 3o6mdols 03565bds
o390 36396 Lssmols ool 3émb301s bsGobssmdregam
3035609 9800. Bz06m0 dmdAsmdls Bgzom.

BLobgdsby Imddgegdgb sjdomco



dsmgda: moaggdols  Fobgéo Py s Py, Bgodmols Fobs P;,  3sd6196gdgemo
dcdgbBo L. 0bgeizools dsemgdos: @ =Jig;, @, =le,, @;=m3w. gzgms o0
dogols  dodstrornmagds 6sB3969308 bsbsbby.

303390 A $3060l Gs0dg Fglsdme 88 gowssmaamgds bgzom. 3sBob
II ogogo  893mdcrabrgds 0, ©g@dol as6Pg3m  Bgbsdme 39, guoboo,
borymer [ mogmgo 358m3¢rmbogds 0 mg@dol as6893m Bglsdme 8¢, 3qobom.
0653030l bmgseo asbBmemgds doomgdl skgo Lsbgl:

-P;8s - @, s - @, 0¢,- D,0¢, +Ld¢p, =0;

b+ -m;gds - my; W ds - J, €,0¢,-J, €00, +Lop, = 0. *)

3] € s &  Fglbedsdolee I s Il emamgols d6rgbgols gpobaco
shJocrgdss.

Lob@Bgdols  dogé  doegdyem  Fgbsdeme  gepsseanmgdgdl ool
dgotrgds B9dmgao sdm3oegdnmadgdo (Fgedmfdgm!!):

s =1, 00, ; 3, = 1/1,-0s;
1, 8¢, =1, 60, ; 8¢, = 1,/1,- 8¢, = 1/1,-3s;

s 1 s 1, Igbsdsdoloe I o II moemggdols Gspombgdoas.

a56s 33 360836gmmdgdols, (*) Bommdsdo LsFo®ms Bg308sbmo
9990920 Lopoweggdo: J; =12-mr? J,=12myr’; &=w/n; g=w/r,.

g3ges  dopgdmemo  3603369mmdol  YgBsboo (*) BormdsBo s
dolbo s —by 9339500 dogowgdo:

-m,g — myw — 1/2-m,1,%w /r,-1/r, =1/2-myr 2w /- 15+ L -1/, = 0;
sJosb (m; +1/2-m, =1/2-m;) w = 1/r;-L —m,g ;
booobog W = 2(L —myryg)/ ry(m, + m, + 2my).

RH39JdY: 25dMM35M 0 432060l ©8 0dmmds! 3olnbo:
T=m,(gtw)].

SNBSS 11.3. P fobol B 3060l dcderemdsdo dmdgegl Q Fmbols
R Aseambosbo 960 7
Gomobpdnmo A Lsgmesgo
©sb3g9mo 0mgols bsdgaemgdon.
336Lsbmgtgo B Bzocmols  sBscigds, o
Logmérsgo  gbdosmme  goesgl,  boeme
am630L  bsbbol  jmgego3096@ 08 f. 1dE30
D denmgol 3sbs mgmmgdgmgmazamos.
SIMLLGS. 396Lsboemggemo P
Lol gds
F903985P Fmbolb B §306m0lsgsb @s Q §mbol
9603335603360 A (300006060L5336. D 3 3o
s dsgoto  fmbswo  Lbymemagdos s

6ab.101.

Ibgz9mmdsdo 6 doorgdash. Loliggdsby 3(*)[]33;33&36 sddomeo  dsgrgdo P
s Q. s369m39 Loddrggglmsb (3omoboeol  dgbgdol  C FgdBoemdo
Fgdoegdols Fe dsems, Gmdgmo gFobssmdregggds  beosml . (30mabo®by
30}:]83;3361} a0630bsdo Fobspmdals §yzamdsms, G@dmol 3mdgbgos L= N

dogemn  boliggdel  0bgégool  dsgmgdo (0b.6obsbo): gews@Bsbomsr
J39300 dmd@s30 B gzodmols 0bgédzo0ls dsems

Dy =mpWy ;

3309039 (30eabe®als 0bg@ ool dsems Dy, (soobedo  skEmmgdl 36 ygm
dnd@emdsls; dolbo  dérgbgzols  dgolo Ga6B®as C Fgodomoa. s3dogmad,
(30obe6ol 0bgiool  dsens odbgds Dy = Jc &, bopsg Je - gomobe®ol
069é 300l 3m3gbgos C Fgogomol 30dstrom, bomm & ool (30mobo®ol
3gobo 3moba®o shJscrigds C - 3odstron 3rmb30bsbs.

dogs603mo B $z06ml Gs0dg  Ygledme  BS gemssmaamgds. 3s80b
(30e0bEA0  F9dmdérmbogds C (godomoals as6853m 8¢ gnomboo. Gswpgsbsg K
G968 0moi doomgdl Jglbedemem O go@ssegomgdsl, sdoBmd 68 =2 R 5¢.

3939030600 06530 30L Bmgseo gsbBmemgds:

Pds - ®y 0s - D, O -L-0p=0; *)

o]  Ibgeggmmdsdos  domadnmo, G™m3  Loddggbmsb  (30mobeals
F9doegdols Fe dsemals dglbsdme  373smds bgemols Gmemos, Goeasbsy ogo
dmEgdnmoas d6bzol dgob (3968 To.

30396L — 3s06960b mgm®gdol msbsbdsc:

Jo=T,+m,R?*=1/2.Q/g-R* + Q/g-=3/2-Q/g-R?*;
smgdmem  dpgdstgmdsdo K Fgd@omo  3émbsgl  C-l 396893 2R
Aspagbol  GogGomol  Ggemby ¢ dgabo gnobydo shJsdgéom, sdogmad:
wg= Wy =2R &¢,  Loowsbsy €c=wp/2R.

o 3930m38m0lifobgdem  gzgems domgdmer 3608369c0mdsls, 3sBab (*)
Boremmds Bsoffgegds oy

P-2R3¢ - P/g-wg-2R8¢ - 3/2-Q/g-R*wy/2R-8¢-f Qdp = 0,
bsowsbs(y wp =4g (2PR - Q) /R(8P + 3Q).

QI39RIdD: asdmmasemam dsaocols ©s Xodmeemds.

SIMGI6S 114. gsblsbmgtgo
39-3 ool gpobamo shfsegds, o
dolo 0bg® ool dmdgbo  dGmbzol
0gcdols 30dstro  J;=0,1 «3332' mmbBy
9 Jdgwo [yz0edsemals dmdgbBo L=0,6 63.
$3ocmgdol  Bslgdos m; =m, =10 3a;
Gspomlgdos R=0,29, r=0,134. Gab.103.




3olmbo:  e=1¢a32

SIMBI6S 11.5.  bobsbby dm(zgdnmos 96036gmmsb  £533sT0
dgmzo oMo gdoms  ogemo. T Gspogbol s m; dsbob I gdogms
035m0 IndMsmdsdo  dmols  dsdérmbgogmo L, dmdghgol dmJdgegdoon.

R éswoplols @s m,  dobol I jdoems
ngsmby dcegdamos Fobs@mdols
9m396%0 L, gdoms  ogmgdo Rsmgsmgm
96356356 obgmgdse s gedmmgsemgm 1
ngsmol debgzal  guobyco  shecgds.

3olbo: £=2(RL, —r L,)/ Rr’(m, + m,)..

Gob. 104.

SIMGS6S 11.6. P Gobol A 393mbgd0 0 ggol slgemsls

3m60bmbBolsedo o gaoboo  @sbeoen  Loddgygby B gomsddemols
Bsdmomagdom. gsbbsbmadgom  geambydol shJecgos

0d 39dmbzgzsdo, OM@Es  Remsddscol B omemby
dmEgdamos dnedogo  dsdGrmbgdgema  dmdgbiBo L,
R dmAdmgdosbo Fy30emmngsmsbobgdzools
9cndgbBo  drmbgols  mgtdol  Fodsér sl J.
3erdamols Goonbos T, babmbal 3mgmoogbdo f,

Boh. 105,
ool Gsonlbo R, bowmo ool 0bydool
dcdgbBos .
3sbbo: w=[L — PR(Sina +f Cosa)]/ R(P/g +
+ 2],/ +1,/RY).

SIMBO6S 11.7. m=2,5, "~ " ‘oms
stBHgeby (2) Impgdnmos 74 A
F =9t 33blsbmgdgo 1 gdopso  cruergols
$aobgco BJscrigds t=1G3 3dmdg68 3a, oy
dobo Gswoylo 1=0,43, bome abydools
33960 361630k mg@dols odstrer J=2 3ad’.

3olimbo: £ =1.5 G2

S3AMBH6S 11.8 3domsbs Ggenddmeo
Fgeagds oo, I s II gdoms  mgemolbsgsh, GO®3gemms
dsligdos Fgbsdsdabse m; s m, bome Gspogbgdo I ©s
R.

I o3oemby dmddgegol L, dsdcérmbgdgemo L 3mdgbo,
O@dgelsz 030 dmdBemdsBo  Imdgegl, bmeme  Igmeg

039e0bg 3 Jdgegdl  s3dqbeOmEgdgmo dmdgbo L,=3/4-L,. gs6bsbmzagm
03mgdol € ©s & gaobydo  sBJsdgdgdo, oy ozmgdls Bsogmom
90033560356 olgmgése @ R=12r. bsgobégddo  bsbobo
T3 IRYOYRYZ00-
3olbo:  g=15L,/ 8r’(m,+m,) ;
&,=5L,/ 32r*(m,+m,).

SIIBO6S 119  4sblobmgmge m
kol A Ubgmemol W sBJstgds,  G@dgmo(s
993905 J39300  3mM0bmbBolsedo o gnmboom
EsbGom  sGegemag Loddhgggbg.  bobybols
3M980(3096@ 08 f. M0N0 deemgo
Fo6dmaragbl r Gsogloss m, dsbol dmemoash
FOogm ©aligmb. B @z06m0l dobs séob m; .

3olmbo w = 4g[2m,(Sina.-f Cosa)-m,— m,]/ (8m,+7m,+2m,).

Bab. 108,

§ 12. 336B(135RI>IN) 3MMHRN65G ().
356 BMB3SIRIS IR0 ISR

dyJsbogaco bobgdol gsbbmgsmgdammo jmmcipobsigdo gffmwgds od
@399, 30098900 33359955531, Gerdgemos derzgomsc;  (33e0bs Bo
3s60bs mgcgds boldgdol y9cms [9coemol dogdsegmds.

0EYSrGo s Imeembodgco  3dgdol  dfmby dgfsbogmmo bolgdol
@3979,30098900 35bBmgowydacn gmmEEobsos Goi bzl gfmwgds bolbgdol
0330b9930m930b Bsolbol oy bgo.

S mag0lggmgdol  badobbol dJmby N bogmogho  FgOBomolbogsb
Jgggbomo  sEsmsgolggsmo  dgdsbogmco M, (X, Y1Zi) (k=1,2,...,n)
Lobgdol gsbBmgsegdnmo 3mm@Eabsggéo smabodbgds sdmezoegdgmo q;,
Qa» -+ -5 Qs 3561339869000,

bowoegqdl 8q;, 6qy, ...,0q, - gfmegds gobbmgsegdnmo  Bglsdme
ad@3s@a0mgdgdo (367  3o6bmasegdamo  gmedEabsBgdol  3s0s(30980),
boeme Logowggdls qj =dgydt (=1, 2,...,8) - 356bmasmgdamo LohJséggdo.

G gsbbmgemydamo  gomdobsBol  Gybsdsdobo  3sbEmgsmydaemo
dsems Q; gfeawgds boliggdsty demfdowo sfedomco dsangdol doge ybsdemer
dq; gowss@gomgdsly  FobGmamgdaen  gemgdobBsGmer  dndsmdsms  xsdol

09506096893 SA = Qdq; . (12.1)
396bmgsegdnmo Q) dsgms gsdmomgmgds BmGIPmon:
Q = on/oq;; (12.2)



n

36 Q=D (Xudx/0q +Y,y,/0q +2,02,/0q) . (12.3)
k=1

Bos(y Fk X Yo Zy) - baliggdolb M, §96¢0mby 3mJdgmo dsgmss.

o Lolggdaby dmJdgeo ggzgems dogms 3mpgbizom@oas, 35380b bsgocrms
3sdmgmgsemmmn  Lol@gdol  3m@gbiogdo  gbgdaos 1T @s  asdmglsbmm ol
sOBgam  asbbmasegdnm  JomOEobsgddo.  353ob, g; asbbBmzsgéymo
3O0OE0bsBol  dglsdsdobo  gsbbmgswgdgmo Q; dsems  gsbolsbrmg@gds
Bomdoon: Q = - dll/oq; (3 = 12,...9).
(12.4)

bogmog®  Faddomos  Lolggdolbemgzgol  asbbmgswgdnmo  dsemals
9cd9d6s  FoGdmsEaqbl gem-geo 3603369mm3zsb  Logggbadl  msg®sbgol I
339601 3363 mmgdgdol Esbdsergdom sdm(3sb930L $dmblbol L.

336Bmgsegdnmo  doggdols geblebmgol  g3gmseby  as30(39mgdnma
bgebl  Gomdmeeagbl  Lolggdeby dmddgroo  sJdoméo  dsemgdal  doge
Fglsdsdols  glsdmm  gopsspanmgdgdby  Igbermmadnmo  gmgdgbds@mmo
3domdgdol  xsdol  gedmbsbymgdol  3mgxo3096@9d0l  3sblsbrmg@s:
36bmgomgdnmo  Q; dsgms  Bomos 8, Fglodmm  gossmzomigdsby
Bgbergmgdnemo  39Bsmdals  gmggopegbdobs  (ob.  (12.1)  geéddnms).
3dolbsmgol Lsgocrms:

1) wsgemgobomm  doigdnmo  Loliggdol  msegolnmmagdol  bsolbol
®obgo s sg306Bomm Bglsdsdolo 3sbbmaswgdnmo jmm®eabsdo;

2)  393mglbebmo  LobBgdsby  dmfdgoo  gzgems  sJ@omGo o
st Mo 339d0L Ggodiool (dsgsmomsr, bsbabol) dsems;

3) 303390  Loliggdsl  edernzomgdgmmo  gsbbmgsmgdnmo  Fqbsdemem
39RI3R30m8g00;

4) 30Lstagdemmo (12.1) gowmmdon ©s Q) 3s6bmgswgdgmo dsmols
396LsbsbmgMogse  gsdmgmgemmm  LolBgdsty  Imddgoo  gzgms  dsmols
39 Bsmds 8q; Fgbedme  gossegar
Fglbsdmm  gs@ssgomgds Mbes Beg
i=1,2,...,5s).

5) o bobggdsty dmdgmo  g3gms  dsems  3m@gbzomcos,
30bs6398mgdo (12.4) gméddnmoo.

SIMGBI6S 12.1. P, Gmbol B
B30 s P, Gobol C  @gzo6mo
9603569006 535380493 nmbo
361036 9G53 demm by 3o@sgoe3dnmo
febso  ©s  Fodspo  dsgotom. B

1dobmsbsgy  gzgms sbseRgbo
ol Beagmo: 8q =0 (i # ],

B306mo  boddodol  dsemals  gegemgboo

3ORISQA0MEYOS 330300
Jodobebholsedo o ggoboo 6sb. 109

Esboom Lodtgggby s dsb Imdesmdsdo dm3gegl C  Bgodmo, G@Igmoag
3508030emE)ds 3GH0bB0bB s ® Lodd@ggby. beasgmals bobabol
3™9803096@0s f. domzols dsbs  mamemgdgmysgom. 336Lsbm3zMgm
396Bmgsgdmmo dsgms.
SAELES. LobBgds Igeagds méo B s C bbgynmolsgsb. Lobggdsl o3l
96m0  ms30bxgmgdol  bsdolbo — B Lbgnmol (56 C Tbgnmol)
280850309,

d0g0mmm  3sbbmasegdam Jmebsse B Lbynmol  asessmanmagds
Jagzom  qi=sg. dozge  LobBgdol B Lbgmeol  Gs0dy  Bglodmer  Osy
aoEssEgomgds. 35806 Lolggdol C Lbgmmo  doomgdl  Bglsdeme Osc
3008503000935l Omame bsbobowsb hsbl Osy = dsc. (12.1) Bommds skigo
Lobgl doomgdl:

0A = Q0s; . *)

336bmasegdnmo Q dsgmals 0bpgdbo s dogmomgdl, G@I gl degms
F9gbsdsdgds asbBmgsgdnm S JomGEabsdl.

333m3mzsemmo boliggdeby dmddgmo deemgdals dglisdemm  d7Bsmds OA.

Omgmei B, sbggg C Lbgyembgg  dmddgegdgb  Loddodol  dsegdo,
bobmbol dsmgdo s bBgosdadmol @gsdiool deggda. hzgbl dogH s@Bgmmo
336Bmgegdnmo  gmmeEbsBol  Bgledsdol  Fgledmem  gs@ssegomgdsty
Lobgdsby dmJdgeo degmgdol Fgbsdmrm d7dsmds ofbgds:

8A = (P, Sina. - F,?) 8s - F,©-8sc. .
A30a565(3 F,? =P, Cosa, FS=fP, 8s3=20s., 3doBmd
O0A = (P, Sina. - P, Cosa - f P,) 8s; .

3g308)3b6mm SA -t gl 36033b6gmmds  (*)  Bowmdsdo s

23633 b30mm a36bmgsgdmnmo Q, dsms; dozomgdm:
Q.,=P,(Sina - f Cosa) - fP,.

aoﬁ%maogabhm aagmls 343l dogmols agﬁ%maog@abo.

SINBO6Y 12.2. P, fmbol s 1; Gowolbols T jdogms mgsmo d6rbsgl
osgobo @gdals 356 39dm dmedogo dsdérmbgégmo L 3mdgbgols dmJdgegdoon.
I ogsemo 3069y Bs63s80  0dgmagds P, fobol s 1, Gspoqglol 1T ogsenmsh,

Omdgmbgesi  bobgoe  dodsgdgdnmos Py
Jobols s T; Gspoqlol  eomo (3696301
Loghom  mg@dom). eomby ©sbggmmos dsgo,
Omdmal dmemeby  Bsdm oegdmemoas Py Febols
D $gocmo. I ogsemol  dérq630lsls Py $30600m0
seols bgg00. 396Lsbmgege I mgemols
Imdebgdol @  gpobols JgLsdsdolo
336bmgsegdnmo dsems (mmgo MFodswos).
SIMBLES. Lol gds Vgeagds mmbo
Lbymgmabsgeb: I, II, I ogemgdols s D

06m0lsash JoliBqdsls 592l 0o f":
33 3 (61 3 J
Bab.110.




0330b9xmgdols bsolbo - I mgsemol dmdernbgdol @ gnoby. dozomme ogo
396b0mgoRgdym gootieobsdee (4 = ).

LobBgdsbg dmddgegdnb: P, ws P, dsemgdo — glsdsdoloe T o II
ogemgdols Febgdo, Py dsgms — peemols Fobs, Py dsgns —D $z06m0ls Fobs oo
L 3m3dg68ols 3Jmby Gyzomdsems.

30356030 LolEgdol I  mgoml  Gs0dg  Bgbodme O dmdémbgds
ogsmols  o6bgol  dodstorgmgdom.  dsbmsb  BsddsTo  Igmego II mgsemo
B93cdmbrgds  3ed33gmmo 89, gpmboo s sBsbsrsdy  @emog
B93mdernbrgds 0303y 0@, snoboo. oomo ©sabzgzl dosgl ©s Bzotmo
30§ 93L by300; g.0. D Bgzocmag doomgdls Gomsz 05 Fgbsdme
39085030 gdsks.

396bmagdnmo @ gomArabsBols Bglsdsdobo gsbbmgsegdgmo Qg
doems gsdmomgemgds Fommdowst (ob. (12.1) gm@dgms):

BA = Q0. *)

asdmgmgommn  Lolb@gdsty  dmgdgeo g3zgms dmgdnmo  dsemols
3domds  dglsdsdol  Fgbsdmm  asessgomgdgdby.  3doms mgmgdols s
ool §obols P, Py, Py dsegmgdols dmegdols Foddomgdo désgbo s6asb,
sdomd 83 doemgdol  I7Bsmdgéo  bymols  Beamos. deBsbsesdy  3ndomdsl
sberemadgb L 3mdgbBol (yzomdsems ©s Ezodmol P, fobs; 3394690s: A
=Lop-P,0s. (**)

2933bobmm  8s Yglbedmm  aspssegormgds 8@ Jgbsedmm  dndernbgdols
390boo.  Gegmé 6sbsbowst A6l BB '=r10¢ , bowme BB' = 100,
306500006 BB'=BB"’, s30m3 1,00, = 1,0¢; bsowsbsg 8@, = 1,/1,:0¢. s3sbmsbszy
8s=CC'=1300,; o 3] 3930860 O¢@, -0l gedcalbebrmqdsl, a39J693s:
0s = 1,15/1,-00 .

Fglsdeme 39Bomdol  asdmbsmgmgma (**)  Bemmds doomgdl slbgo
Lobgl: 0A =L 3¢ - P, -1,15/1,-00.

Yq308 9600  BA-L  domgdmemo  360336gc0mds  (¥)  Beewmdsdo,
boo@sbsy gs6bmgseadnmo dsmobs 7 ngdo

- 78
QQ_L —
396bmaseadnm dsgsl g3l dmdgbgol gs6Bmdogmgds.

QH3STIDS.  33mblbom 02039 8303968,  Hozs  asbbmaswadmem
20MOE06388© smadnmos D #0600l S asssanmads.

OIMBO6S 12.3. 3omobpto d¢mbsgl ©gedol 356393 L=20 63
dc3d9680b dJmby §yz0emdsgmols dmJdgegdom. (30mobedl sF390s Lednberdy
bboo F=100 6 dsemom. gs6Lsbmgtgo  as6bmgsmgdngmo  gmmG@absdols
Fglbsdsdolo  gsbbmgegdnmo  dogms, o7 bubols ©s (30mabe®dl  JmEols
beosgol  bababol  3mgg009680 £ = 0,4
Gomobe®ol Gspoglo R=0,4 3.

Bab.111.

SAMLLGYS. Lob@gds Fgeggds ™o bbynmolegsh: (omobemobs ©s
bboolisgsb. (3omobo®by dcJdg00gdls 3536176g09mo L dmdgbho oo

©s337bONdgmo  degms F.

F,=fF=0,4-100=406.
(300bEels asshbos ghmo  msgzalinnmgdols
bsdolbo — (somobeols dmdérgbgdols @ 3pmby.
dogommm 0go g3sbbmasegdam 3mmGOEbsEsE ;FQ . Aoyl (3omoboto
F9dmdcrmbegds @ gpobom, 3s580b  (30mabe@ols s bybrol dgbgdol D
T9oBomo 893mfgdl  sp=Re &gseml. dogigm (30emobeel Gsody Bglsdenm
3¢ 393cmd6rmbgds. 33806 D Fadgomo 8oowgdl Bglsdme  gomsseaomgdsl:
3sp = Roo.

396bemgseegdnmo  Q,  dogms asdmomgmgds Boemdopss: SA = Q, 8¢.

*)

Loliggdol Bgbsdme SA 37Bsmdsl sbermegdl Fygoendsens, Gmdmols
300396800 L 08 bobebols doems Fy. 3394690s: SA=LS@- F,ds;, = Log- £ FRS¢.

393089600 gl 3608369emmds  (*) BmeedsBo; dogomgdm:

Q=L -fFR=20-0,4100 0,4 =4 63; Q=4 63.

SAMBH6S 124.. P Jobol B ©s G
Fmbols D Bzodmgdo  dnddnmbo 56036
afmbso s Fodseo mmgol  dmermgdby.
0mzo  asesgoegdgmoas  Loghom  @gedols
3Jebg 1 s R Goeonqlgdoss g gz0mgdmem
eomb). B 30600 10ddodols dsgom
ad@ss@a0mEgds J3gzom, bome D @zo600
Bgg00  3ersseyomegds bob.112.
3mG0bmbBolsdo a  gyoboo  sbEow
Lod®$ggbg. berosol bababols smgmaiogb@os f.

336Lsbmgege  BEgocmol s gepssegommgdols 39Lsdsdolo

396Bmgsgdmmo dogm..

3slmbo: Q. =[P —1/R -G(Sina+ f Cosa) ] 6.

§13. RLI3AI6I0L I 33540L  3S6S(MLIdIBN

6030096 F96E0mms (Lbgnmos) Lolggdol dmd®rsmdols Fglsbffsgmsr
b0 Fgdmbggzsdo  batrggdmmdgb  obsdogol  bmaswo  asb@memgdowsb
359m300bsGy, g3cgm Forgdnm mseg@sbgol II 33560l as6@mmgdgdoon .



s 3350 N bogmogd FgoOBomms Lobggdol msgolnamgdol bsdolbol
Goibgos 8. gl 603bsgl, GMI sOLYdMOL S 3sbbmasEgsnmo JmmEEbsE 0
Q192+ 05> OImgdo ombsbse goblebmg@eggb Lol adol drpgdemrgmdsl
Bog®(3980. 35806 0653030l Bmgseo 3sb@memgds

> (F -m W )5F =0
236Bmas@adnm 3mmOEbsE9dT0 doomndl sLgm Lsbgl:
d (oT/o lp)/dt—@T/aqj=Q~ (j=12,...,9), (13.1)

j
33 gbBmmgdgdl  mug@sbgols  dymdy  ggecol  gsbiememgdgdo
97 megdsm.
s T gs3mbsbsgl  Lob@gdol gobgdognd 96gogosl, bome Q; -

336bmysEgdamo ¢; JmmeEobsgol Fglsdsdol  asbbmasegdgm  dsmsl; qj_

396Bmgsgdnmo bobJsérgs (qj = dgy/dt).
oy bobggdsby dmgdgreo gggms degms 3m@bom®os, ds3ob
Q;=- dll/dg;, (13.2)
Loasg IT - Lob@gdal 3m@gbiondo gbgdaoss. msatsbgol II a3s60L (13.1)
336@3memgds dooegdls Labgl:
d(aL/aqj )dt-0L/6g; =0, (j=1,2,...,9), (13.3)

o L=T- IT gqbjgosk  gfmwgds rogdsbyol  gmbipos (6
30698037960 3@ 9b3050m0).

(13.1) o6 (13.3) gobmemgdgdo  Foedmepagbgb dgmcry  Gogols
B3gnemgdtog ©oxgg@gbiosmn®  asbBmmagdsms Lol@gdsl gl dodstm. gl
LobBgds 0dwegb  ibmdl  goiegl,  Gobo  Gomoi  séob  Lobggdol
0330bgxmgdols  bsolbol  Goigbge. o dmzebrgbo 83 gebBmemgdgdols
0b@)93qdsl, dogomgém asbbmasEgdnm  3MMGEbsE 9oL, Gmame s t O™l
39643090k, 0bBgaegdols d9edoggdo gsbolsbrmg®gonst dmd@smdol Lsgolo
3069039301 gsmgamolifobgdoo.

mgMsbgol  dgmey g3s¢0b
33m(3969801 33mbLEs Lolyggmos hogystpgt F93mgao msbsdodregzdmdon:

1) 30639 gmgemols  Lsgodos  oepgabrgl  gsblsbogrggemo
LBgmemol o6 Lobggdol osgobygmagdol bsdolbol oibgo. msgolbngmgdols

19601 EsbIse1gd0m  ©absdogols

botolbol  Gobsloto  opagbs LoBqemgdsl dmg3(39dl  gebzlsbrogtmm
bsdogdgm  asbbmasmgdnm  3mmGEabsgms  Gemegbmds, g.0. ©s350a06m0
@sa6670L Il a3560b gobBmemgdsms Gemegbmds;

2)  sgoébomo  Loliggdal  msgolygmgdol  bsdobbol  Feo
G30gbmdol  g36bmgegdamo  gmmeEobsggdo (g ). $ImEsbol  s3mblbals
bodedBogg edmzopgdnmos  0dsdy, o7 Gsdpgbse  dsOR3ge  s30MRg30
396Bmgegdgm  3mmeOEobsBgdl; gl go  Fglsedmgdgmos 3@ 33gmemo
365J8og0l Fgegasc.

3) 33(ghmo  s@Bgmmo  gsbbmasegdnmo  3omGEobsggdolsmgols
g csbg0l Igmerg azs60l gebBmemgdgdo;
asdmgmgemmn  sGBggmo  asbbmaswgdnmo  jmm®EabsBgdol
Iglsdsdolo Loliggdol gebbmgsegdnmo dsgngdo (Q)).
5) godmgmgsmmmn  asblsbamggma Loliggdol 30bgognco gbgdaos (
T) s 3s3mglsbmo ogo sOGhgamo 3s6Bmasegdnmo (; 3mmeEobsEgdal ©s
396Bmgsgdnmo qj LoBJstrggdal LsBmemgdoom;
6) 3m3dgdbmo gobgBogn®o 9696300l 3gMdm Foedmgdmmgdo:
0T/oq; ; aT/o lp; d (oT/o lp ydt .

7) Bogmommo Lsfgolbo 306mmdgda (396bmgengdnmo 3mmteobsBgdolbs
s 336Bmasegdmemo  boBJseggdol  Lofgobo  3609369mmdgdo),  Gie(s
Toodomos LobBgds offggdl dmdmsmdsls.

8) doegdaemo Lorowggdo Baglgom 330363700 11 33960l

39568mmgdgdd0 s $dmgblbsm olobo, olyg, GmI Eszdsgmazomegl Lsfgolo
306mdg30.
o Lolggdsby  dmddgoo  dsegdo  3e@gbioeoas,  3sT0b, Loliggdol
3896306 9bgegast (IT) asdmglsbsegm asbbmgsegdnmo jmeteobsdqgdom,
Fg3e0396m  msacsbgol  gbgosl (L) s g3sdmgoggbgdée  (13.3)
336 mm9dqdL.

SAIGBI6S 13.1. P, Gmbol ©s I Goomgbol  dogwosbo  FoHommo
Emmo, Gedgmbsg  dgndmos  3Gmbzs  dmGobmbGemado 0 mg@dol
350399m, 3mdMsmdsTo  Impol debbg wsbzgmmo gfmbspo s Fodswo
0mgols dmenmBo doddgmo Py Fobols B 306m0ls LsBgseemgdomn. 3sbbsbogtgo
B3odmols sBJstrgds, oy babybls 1ammgdgmgymagom.

SAMBLLGS. do399mos mEo  bbgnmolbsgsb dgeagbomo Lolggds: B
B30600 s 0 (omobeénmo oo, Lolggdsl  goshbos  gGmo
0330bgxmgdols badolbo. Lobgdol dmd@smds Lsgbgdom  bobosmegds
omgols  CB= s Log»dol (335egds@mdom. dogoemm  3sbbmyswgdnm
306 § dsbdamo: (, = ¢

3336700 II 335601 368 393mbg93580 sbyg Rsoffg@gds:

d(oT/0$)/dt - 6T/0s = Q, . )

3963LsBmzOMn 336bmgsegdnmo s 3M0OEbsB ol Iglsdsdolo
a3bbmgeegdgmo Q, dsems.  gedmzaggbmm
Beorgrmdes: 0A =Q,ds, 2)
boag OA — LobB)gdsbg dmddgroo dsgmgdals dmBomdss,
35 — B Lbgmemol Bgladme aspssyormagds.

B Lbgpmol dglsdemm 8s gomsspgorgdalsl omeo
F9dmdermbogds  Igbsderm 8¢  gooboo,  bewe

Gsb.116.



Lobgdsby dmddgoo  @s degmgdol dogé  Fgbermmagdamo  gmgdgbds@nm
F7Bsmdsms xsdo ofogds S A =P, Js,
( Py dopgdoymos dteg 0 GgdBomda).  3sBsbopsdy (2) Bomemdowsb
339J6g00: P,8s = Q, 8s
Boowsbs(s Q,=P,. (3)
asblsbommggemo  Loliggdal  30bgdogndo  gbgégos  Fgoagds B
B3otmobs s (30mobe®nmo emmol 3obgdosznco gbgdgogdolegsb: T = T,
+T,.
B $3060m0 sbemgdl  gssdsbon  dmderemdsl vy=S (S =ds/dt)
LoBJsGrom, 3dogmd T,=1/2-mpvy’, b4 T,=P,/2g-S*.
oo sbogmgel  dembzom  dmdMsmdsl 0 @g@dol 356 3gdm,
sdogmd
T,=1/2-J,®*,
Loog Jp = Py/2g v, bogme © - eomol d69bz0L  ggmbado  Lobs@gs.
306500036 Ve=Vg =S, bomeo Ve = or, sdogmd o=S/ 1 ; 3s3sbswsdy
330d698s:  T,=1/2-P,2g -r*(S/1)*, o6y T, =P,/4g S
oy 3bgezgmmdsdo dogomgdm T, ws T,-l 3609369mmdgdl, ds8ab
BLobgdol 30bgdogmco gbgdaons 0gbgds:
T=P,/2g-S?+P,ydg-S?, 364y T=(2P, +P,)/4g- $2.
3sdmgmgammn Lol gdols 3969804960 96963001 396 dm
Fo63mgdnmgdo:

0T/0s = 0;
0T/0S = (2P, +P,)/2g - $
d(@T/0S)/ dt=(2P,+P,)/2g-§.
oy 83 3608369mmdgdl s Qpob  360336gmmdsl  (3) —sb
B30 96 msg@sbgols Il 33540l (1) gabBmegdsdo, dogomgde 39s60bdals
dmdGsmdols 059G 9b(308 e 336 memadsls 336bmgseqdnmo ]
3MOE0bsB 0L dodsOrom:
(2P, +P,)2g-S=P,,
Lso@sbsy 3s60bsbmgtgds B Bgodmols sBscrgds: w= §=2P,g/ (2P,+P,).
L339 IdS: doomgo dbgwzgemdsdo, G0 LabiBgdsby dmJdgwqdab
dbormme 150ddodols dsgmgdo. gsdmmgsemgo  Lobggdols 3m@)gbioméo gbgdaons
I1, 353mlsbgm ol sehgmem as6bmaswgdnm 3mmAEbsEdo s 3s6Bmgsgdnmo
Q, dogs goblsbmzdgem (13.2) Fmeemdopsb: Q,=- 011/ dq; .

SIMBI6S 13.2. 03mzgo 3360596 Loddgggdo  dmmsglgdmma
994860630l 0B=/  dOqedbscisl  gpobymo
shdodgds, o ogo B dommmo  s@ecgdls 1
Gopogbol dmdsg  ImGdeel s dmbsgls
Md6s30  dm@demols 0 (396860l s Pgdm
3dérmbsgo L 9mdgb@ob dmddgmgdom. desgzo ©s

Bob.117.

dndersgo  dmddemgdo  Fggdmgdamoas  lslemmm  asgodymo  m3zgoom  olby,
603 Lolggdol IndGsmdolel mzgeal  LGosml  dm®dmgdols  ggg@lomby
303000 868 343l IOMEdbs@s  FoMdmeEaqbl 9Omaze@m3zs6 gAMb ©s
dobo Fobs s0b P, boenm 3eédmol §mbs s60ls G.

SABLES.  LolBgds Fgmagds ™éo  Lbyqmobsegsbimgdmbs @
dndsgo B dcddeemolisasb (0 (3968 G0l 3Jmby  désgzo  deddsgmo
3bge39mmdsdo 56 Joomgds).

Loliggdsls  assBbos ghma msgzalnamgdol bstolbo — 0 FodGomols
336 393m 0B ogomb  93mdernbgdol ¢ 3mmby. dogommo ogo 3s6Bmasogdmem
JOMOEabsBoe: 4 =@ .

Lobggdol  dmd@smdol  Fqlalifsgmasw
moacsbgol I 33060l gebBmmagdsl  94698s
sbgmo bsbg:  d(AT/0 @ )/dt - aT/o¢ = Q,. (1)

3oéggmygmgmols  asbglsbmgemm LolB)gdsby dm Jdgeo
396bmasEgdnmo dosems Qg . s3obsmgals asdmzog9bmo  Hommds: A = Q,
59,
bosg 0@ 560l 0B mgdel  Jgbsdme  Imdérnbgdol gmobg . SA s6ol
Lobgdsby dmJdgeo deemgdols Jgbsdemm dnBemds ¥ sdo.

Loliggdeatby dmdgegdgh:  3sdrmbgdgemo L 3mdgbgo, 0B mgmml P
Jobs  ©s B 3mcdemol G febs. s3oBmd  LobBgdsby dmgdgoo  dsemgdols
Fgbsdme 39dsmdsms K330 0@ -l Fglisdsdals Fglbedemm gsssegarmgdgdby
0dbgos
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358sbs@sdg  dogomgdm, Gmd Lo - P Cosq-£/2-6¢ - G Cose- £ 8¢ = Q, 50,

Bso@sbs(y Qo=L—-1/2-¢(P+2G) Coso.
sbems asdmgmgsmmo Lobggdals 30bgd0z960 9696308, 339J690s:

T=T,+T,.
T, - o96ol 30bgdognco 9b6gGg0ss. 30b6soEsb mghm dembsgl 0
©9®dols 356 39dm, sdogmd T=1/2-J,0*;
3d Jo 60l mgHmb obgdzoo 83 0 G963 0ol dodséron: Jo=P3g-(*.

33sbosbsgy © = o ; 30Bobssog 1,— 1/2-P/3g-1* Q= Plog - p*.
T, 560l B dcm&demols 30698039600 9696308, dmdersmdols bsbosmals

dobgegom B dm@dsmo  sbemmgdl 3@ gy goesiebon  dmd@emdsls s
sdogmd  dolo obgBogn®o  gbgdgos  dsbsms B (3968 @0l 3069805960

96963001 Beagmos:
T,=G/2g: Vgl = G/2g 02 ¢2.
bsdmmemme, dogmo 394s60bdol gobgdogndo gbggos odbgds:
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333mzmzsmmmm  3obgBogndo 9bgeanol 3g@dem Fsedmgdammgdo:




0T/ op = 0;
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3930896m0  dopgdamo  360336g9mmdgdo  msa®obgol 11 33560l (1)
396 mmgdsdo;  dogomgdm  394sbobdol  Imd@embols  oggMgb30sem®
396Bmmgdsl gobBmgegdam @ gmmeEabsgol dodsGo :
0*/3g (P +3G) ¢p=L~—1/2-¢ (P +2G) Cose,
Lsosbsy gsbobsbmgagds dGrmdbscsl (mgemb) gpmba®o shJsegds:
£= @=3g/2 -[2L— ¢ (P+2G) Cosq]/ *(P+3G) .
QH3NRIBD:  5dmblabomn 02039 833968, Goys  39dsbobdo
dmm53L9d 08 3H0BMbBsmMé Lodé B gqdo .
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Sty 3oR8goRybgmo godsgo @3
afmbso om0l dmememBo.  memgols  dgmeg
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Bobgds, Gmdgemag Igeggds oo bbgnmobsgsh. Lolggdol 39056gmds
baglbgdom  gsbobsbmgdgds  gemo 3565398 Gon
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336Bmgsgdnm JmmOEabsdse  sg00bomo  gom-gOmo  dsmgsbo, gmigsm
C §968omol gomeeabso q= X . mogcsbgol II g3s60l 3568 memgdsls
9J698s gdgan Lsby:
d(oT/o X)/dt - oT/ox =Q, . )

3modEobsBms  Lolggdol 0 lLsmsgg  Igpbsdsdmm  (30emobeeols
bsGgol  dgosdgmdsls. (30emobeéo dogm®sgl nbcosmme, sdogmd Xx=Ro,
Boo@sbs(y X=R(b.

asdmgmgsmmn  boliggdol  gsbbmgsegdnmo  deems Q,, Gmdgemag
Fggbedsdnds  asbbmgsgdnm X gomdEabsl.  sdobsmgol  asdmzognbmm

Boremmds: A = Q, ox
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3 OX 860l (3oeobedol C FadBomol Fgbsdmm  gs@ssegormgds. SA s6ols
Lobgdsty dmddgoo  dsggdol  Fglsdmm  Idsmbsms  xsdo.  AM3mO3
6obobosb  Bsbl, dnBomdsl  sLEMmgdl Ibmeme  BzoMmols  Lodbodol P,
dogms: BA=P,0X; s30md (2)— o Bsldom dozomgdo:
P,dx=Q,0x, lLsopsbsy Q,=P,.
as9mgmgemmn Loligqdol 3obgdogneo gbgégos: T =T+ Tp.
C Lbgmo (goeobe®o) sbemmadl 3G@ggm dmdescmdsl, s308ma
3960301 0961930l 01565bsc: Te = 1/2mev + 1/2-]¢ o bo@s(y
me= P/g - goeobodol  3sbss, V= X - (3og0be®ol  dsbgdol (396860l
Bob oy, 0)=¢=X/R - (3omobe®ols  dGmbgals  gpobaco  Lobdeég,
J=1/22mR*=P,/2g -R* - (3oe0be®ol 0bg®300L dmdgbBo. dogomgdm:
T.=P,/2g - X*+1/2.P,/2g -R* (X/R)* =3P /4g - X?
B Ubggmo  skemmgdl  ges@sbomn  3md@emdsl; v = ve =X.
330690+
Ty = 1/2-m,v’=P,/2g- X %.
Lobgdol  30bgdogméo gbgéaons 0dbgds
T=3P,+2P,))/4g - X> sgosb:
0T/0x=0; O0T/o X= (3P,+2P,)/ 2g
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d9308)36mm domgdnmo
3609369emmd9d0 @) 2968)memdsdo,
336955
(3P, +2P,)/ 2g - X = P, ;
ofgosb: X =2gP,/ (3P, +2P,).
3935068930 9L
13906513690 35dmbebyemgds mGxge:
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0b@)gacgdol C; @s C, 3medoggdo  gsbolsbmatngdosh dmdersmbals
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dogomgdo, Omd C;=C,=0. dcmdersmdols 3s6Bmmgdsl  Lsdmmemme
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3363Lsbmztmm  sGRgnmo  3sbBmaswgdnmo s s £ gmmdeabsggdals
Fgbsdsdolo  asbbmgsmadnmo  dsmgdo Qy s Q, . sdolsmgol  doz;zge
Lobggdsl olbgmo gbsdmm gs@ssegomgds, GmiEs £ 0bs®hnb6qg3l  3modog
3609369emmdsls  (/=const), begmer s Fgoizemgds  0s-om. g0 3G0obds s
(3oobeMo,  GmymO3 9600 doeosbo  Lbgmemo, 23908500303
3mA0bmbGorgdo Loddggol asbfg@og. @ Fgdmbggzsedo P s Py degmgdols
309 Bgbernemgdagemo 3MBomds 88 gomsseaomgdsty 0d6gds Gmmol Femo,
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3m60bebBoemn®  LboddBgyby  3G0Bds o6 as@ssgomegds,  Beamm
(Omobeco  gspsseaomegds 3M0bdsby. (omobe®ol Loddodol 0 (396860
0898398 300bdol  asbfz03 O dsbdogom. 3sBsbowsdy ogo  doowmgdls

396080356 gosseaomgdsl 86 5 9dogmd, Loddodol P, dsmol
373smds 33 Fgbsdemm gopssw; 0gbg0s 0A=P, Sina. &/,
o) 393003500693 (3) FHoemmdsls, 339690
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3963LsBzOmM éoﬁhoboggago LobBgdols 30bgdognco 9bgéaons.

Bobgds Fg0a900 6o g memalisgsb (360%b3obs Qs
(30e0bE®M0bsgsb), sdoBmd T=T, +T,.
(5)

300Bdo  sLEmgol  as@sBebom  ImdMemdsl,  sdogmd  dobo
3969803060 9696308 asdmomzmgds GmGIEon:

T,=12myv?; (6)
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(3oeobe®o s mgdls 3B ggem-
3063gma@®  IndMsmdsl s dobo  3obgdogmco
9696308 3960308 mgmegdal 0sbsbse gsdmomgmgds
ROGOIon:

T, =1/2m,v,* + 1/2-J,0* , @)
bosg My=P/g - 30mobe®ols dsbss; J=12m,;* -
(3oobecols  0bge00ls  dmdgbBo dolo 0 gédols
303s6m; v, - (omobeeol  dsbsoms 0 (3968 Gals Esb.120.
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30bgco Lobdsmy.

T90Bomols Gogmo dmd@smdolbsl LobJsérgms 8936930L mgmegdol
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39330dem0s 83§ gOmn vi=§2+ f? -'2 $ £ Cosa.
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99308960 dowgdma 360836gmmdgdo (7) Bmermdsdo:
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6ol 0bgd300l  ImdgbBo  dGbzol ""
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BLobggdsl ol gobgdogn®o gbgdgos T >
=3582%, Yl

396LsBmgzOmgm 1 Lbgmmols 6b.122.
shdodrgds, o omobe®dy  dmgdgreo
§930emdsemols dmdgbdo L= 20 69,
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SIMGBS6S 137 m; 3dsbolb B, Bgodmo 533988  Jagz0m
3m60bmbBolewdo o ggobon sbéom  aemas /
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Bomgsmgm dmeash gHma3smmgsb olime ©s
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2107—ols 3963565G 0mgdgmo 39756060l
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3963565Fomgdgmo  moegols  sdgmemo domsbsligsh
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dmbogom. ddsgol  dybems
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39-3  sdgmen  3domsbgdby  dmegdyeos Fobsomdol
33968980, Bglsdsdolse L, =463 s Ly =263
336Lsbm3Mgm, GmamGo ggobado  shJsdgdom  dGmbsgl  §adgzebo
I 3d0masbs, org gzgms  3doesbsls  Bsgmgmom gomgzsemzsb Foomm
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SAHIBI6S 13.9 s38m3sbobols 1=0,53
Gspoqlbol s m= 120 33 dsbol  §sdyzsbo
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Aerdmols abgér3000 Gspoqlbos p = 0,33,

QbGosmme dogmesgl 3m@obmbEobswdo a=10°
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3slbo: & = [L +(mg Sina - P) 1]/ m(1* + p?) =3.48 G3™".
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J36ol  IrmEdbsds  InGobmb@ ey
3035607 9dsbosh, Eandol gepssegomgds s®ol X =1 Cos@.
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Gm3gmoz 3mG0bmbBmsb sgqbl
0=60° 300bgL, Leosemgdls m;
3ol B $zocmo (3). 30moboeols

©96do ©s §306m0 835380090 Tmas D deamyby
asesEgdnmo  nodso s gfmbso  mmzob
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300 sbsby dmpgdgmos L, dm3dg680b
Tyzomdsgms, bomm Bs@hmby — L, 9mdgb@ols
Tygoemdsms.  Bs@bol A s B {396m9830
Loblegdom sdsgdgdnmos ™o goHmbsodo
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3908085 gG0 mg@dgdol asc8gdm. 1, 2 s 3 3d0msbgdols dsbgdos
F9bsdsdoloe m;, m, s m;.  Lofgol t=0 3m3g68do Lol@gds ogm mdés3
dgmdscrgmdsdo.



336Lsbmgtge 1 s 2 330msbgdals gnobymo bobJserggdo, Gemzme
eOmal  ggnbiiogdo, oy dsmo Mseanlgdo Fglededobse séob I ©s I
I @5 3 gdomsbgdo asbobomgm, Gmame(y gomy3etmaebo dmemoasbo ©olizgdo,
boome 2 330msbs — Gogmt(z  ghmazemgsbo  Gameo.  asdmmgmolisl
doomgm, GHmd m=m,=4m;; 3g-4 BseBels dsbs mamemgdgmysgoom.
3olebo: @=[2(Lir, +7L,1)/19m 1’1, ] t;
o=[2(11L;,+L,r)/19m,r 1] t.

§ 14. RéaSGHIIS

OB Yds 360l Lbgnmos bBsbdmygmg Omaghmndgogds, Gmdmol
OO dsm0  IdMsmdols HemEgbmds oigmgds Lsldmmo Lopowoom. gj.0.
Lbygmol Fgodomadol Lobdsérggdo emol bsiddsme 306y BqsemgeBo
033099056 Labermmo Lowowoo.

1) @B gdols  dotomspo  gsbdmengds:  mu — mv = §;
(14.1)

s - 3dsbob  bogmogo  FgOBomolb Lobfsdrg wscBygdsdwoy - 00539
To90Bomol Lohdotry sdBgdol d9drgy. — s gdol 0d3ymbo.

2) bogoogto [&docrol @sGdyds desg ey bywsdom By

sEagbol 3magoiogbdo: k=u,|/|v,]; 0<k<l; (14.2)
k = tgo/ tgf

o - 360l gnoby, B - sgz3mals gnmby .
oy k=1 - Lsgbgdoo oHgzemo ©scrgds;

o k=0 - bagbgdoc 9 30 OB 4ds

o 0<k< 1 - o6y, 193
U, = vy u=vSinaSinf, sbyy u=vSina V1 +k'ctgia. (14.3)
306ps3060 EsGB gl ao=0: u=kv; S=m(1+k)v. (14.4)

OBl w0 gsbs: I gebs —0d3memlo: Si=mv,;
II gs%s — 033 mbo: S;=mu,; S,=-k8§S,.
3) 60 do6oz0l 306ws3000 396G NG ©sGBYds:

: 6sb.132. : 6usb. 133

6B 4dsdwy st gdols I5dmga
v, >V, U<,
k=l @ -w)/ (vi=v)l == (- w)/ (v, = v);
U, —u,=-k (vy—v,). (14.5)

Sy=my (u; —vy); S,=-8,.

3) Lsglbgdom s6spGg3900 EsGBYdolsl (k= 0):
u; = w, =(myvytm,v,) / (mytmy) ; (14.6)
S,=-8,=mm, (v, - v,) / (m;+m,)

d) 6gze0 sGHydobsl (k <1):

u; = vy — (1+k) my(v, — v,)/ (m;+my) ;

u, =v, + (1+k) m,(v, — v,)/ (m,+m,) (14.7)

S, =- 8, = (I+k)m; my(v; — v,)/ (m;+m,).

060 bbygmol ©sdBgdol eHmb brgds bbymmadol 3069803760
9696309801 ©sgs6a3s (65660 gRmEmIs;z00ls s Lbgmmgdol gomdmdals
botrg bg). 9L ©sbs oG 0 a0yl 3603369emmbsls ©9b9mmdl
R e G O T I SR e N 2 f E I L B T Y A L baBoﬁ)QOaﬁoo 396bels
0gmegds,  Omdmols  msbsbdssiy  3obgBognco  gbgdgool  sbs sz
s gdol O™ asdmolebgds gm@Igmon:

AT =T, —T, = (1-k)/ 2(1+k) -[ m,(v, —u))* + m, (v, —w,)’] ;
NHl

AT = (1-k)m, m,(v, — v,)*/ 2(m,+m,).

226der F9dmbzazs : sGBYls 9dteg Lbymmby (v, =0):

Ty=1/2m,v3; u=m,v,/ (m,+m,);

T, = (m;+my)u*/ 2 = m;*v,*/2(m,+m,).;

T,=m,Ty (m,+m,).

SAMBS6S  14.1. 2 i o @60 9hmbsodo  dgdorgmsls
boRstrg sGsEéggeeo  sét 93 93, 07 EsOHYIsde)  9OHn-96m0
SnGogms 9dtsgo ogm, bome ggmmg  dadogms dmdesmdes v = 6 3/§3
Bob Jocro0m.

3slmbo:  u=3 3/(a.
SIMBO6S 14.2. 12 8 Fmbol 3s3mbo, G™Igewog dddrsmdl 2 3/§d
LbobJscrom, qxebgds 14 @ Febol ndesg 3s3mbl. as6lsbmz®go 3s3mbgdols
Lo dodrg oxebgdol dgdmgy @8 sd@Bgdol 0ddnmbo, o Bsogmon ©md

OB YIS SO0,
3olbmbo: u=0,923/G3; S=12,92 §a.

SAMBH6S 14.3. ™60  dndoms, Gmdmgdo  dmdAsmdwbgb
960356900l Bglobggetee  vi= 10 3/F3 s v,= 4 3/G3  LoBJscrggdom,
3M8M93000  Esxsbgdol  TFgdwga  ashgdwbgb.  gsbLsbmzMgm  doézggmo

dneonmsl §mbs, o dgmeg dncGmnmsl Fmbs séol 10 3.
3sbgbo: P, =4 3a.



SIMBS6S 14.4. 6o bodsmemoesb  gsérgds 200 33 Gebols

sdOBYydgmo  N@bsmals 3nBo, oy 100 33 Gebol amegdmby sG@Bgdolsl
9630l 3980 3dMemdl 3OEgdmmsb ghmse 6 3/F3 LobJstroom.
3sbmbo:h=413.

SAMBS6S  14.5. 336bsbmztge @O0 gehmbsodo  dGormmsls
bohde®rg Gg3900 (96O aco  sOBgdol  Bgdega, o dpdorgmgdo
300650396 gmo  dodstroemgdon V=4 /G s v,= 2 3/G3 LobJserggdoo.

smEagbol 3mggoiogbdo k=0,8.
3olmbo:  dmEorgmgdo Ind®emdgb 0dsgg dodsGomagdoon.
u=22 9/Ga; u,=3,8 3/§a.

SIMBO6S  14.6. s3mblgbon  obs  (14.5)  s3em3e6s, Gergs
d0mgéo ImdGemdgb gemdsbgmal Igbsbzgodsc.

3slnbo: dqGomemgdo dmdGemdqb 96®3sbgmols
BosGobssmdeggme

u=14 3/¢G3; u,=3,4 3/§a.
SAMBH6S  14.7. 3m60bmbgolspdo o= 30° 3aobon  EsbGom
a3 Lodégygbg, h=3,6 3 Lodseemoesb lsfgolom Lobjstom getrwgds P=
20 6 Fobols dpmogms. 3s6Lsbmgtgm dagmogmsl LobJséol ooy s

d0dsromnds oM 4dol d9dmga, 93c9m3) GBIl 0d3mmbol Lowowy,
oy s@Eagbol 3mgnoiogbdo k=1/3.
3sbmbo: u=4,853/{3 s dodsrnrgmos ImG0bmbBsmnGs.
S =19,795 6%4.

SAMBH6S 14.8. 796330 dae 94 b dGornms

96995 393 3mG0bNbBsm®

LoddByggby 3960@ 03 3mobsedo o = 300:‘:_._.

3oboo. dnemagms solbemoggds :
= oboo o 39638m

B=45" sm0boo ©s 35638mmby

dcndéamdols 93y gowgs ghombgem

v

30bBoggos 0dsgzg LoddEgowsb.

6¢6ho%g363m ohbgg@ohy d‘amb{]

© oggg\)aaﬁoh k dma(goeogﬁ({})o. 6ob.134.
3obgbo:  k=0,577; v=060°

SAMBI6S 14.9. 3m60b0bBom® asys3by h Lodsoeowsb
39080350630 obBmmgl  bol  dq@omms, Gmdgmoi  sobbo@gds 2h
Bodomegbg.  asblebmg@gm,  Omaméo  Lsfgobo  LobJséom  obOmmgl
dnGoms, oy seEagbol  gmgxgoigegbBo k=0,5.

3slgbo: vy=V 14 gh .

S3MBS6S 14.10. OB gdgmo  Ebsmal 39Bol Gmbs mexgH
393 0s  bodobxol Febsby @3 Mool 2 46 smBo  Fetegds 1,225 3
bodommosh. Gmgmeo Lohjstoon wsofggdl dmd@smdsl bodobyo 37dosb
9O 3GEMY3e00  EsdBYydol  Fgdrgy s Msdregb  LsbBndgd ety
Bsgrgmds  bodobxo, o gembdol  Fobsmmds 23 6 Howmos ©s ogo
3g0dmgds hsgmzsmmo  I7rdngsw.

3sbmbo: u=3,273/G3. h=7,114.
S3MBI6S 14.11. §obs (14.10) sdm(3sb0l 30613980 dobgogom

336LsbmgMgm  g@bsmol 3ol dogd sgsdanmo  30bgdognco  9bgdgos.
3slgbo: T, —T,=816,7 63.

S3MbL6JdN, 3INC” "9"5" " To0

§ 1. R0653030L M0 cumLIdR0 SAIGI6S

14. X=16; =0, x=mX=32, Y=my=0.

15 = Te2‘+ ] Cos’t - ktz;
3c1dG3mdol g6 mmgdgdas: x=e?; y=Cos’t; z=-1>.
dogmols agadogagbo: X=m X=4¢2;Y=m Y =-2Cos2t; Z=mZ=-2.
tp=0 dm3dgbBo: X=4; Y=-2; Z=-2.  F=VX+Y*7Z2=2V6 .
16 F/1=F,2=Fy/3; (F+F+Fy)/(14243)=F/1 ;

30350 Lbsdogg dsgmol B ddgmo domss F; 35806:
F/6=F/1=Fy/2=Fy/3; F, =156. F,=36. F;=456.

1.7. F | o F 2 dogmgdol Bemgdgeo dsgmss F-F o+ F 2 b9
F =41+ +k: F=4y3. Mw=F; w=Fm=4V3.

1.8 B ddgeo dsgms: F = F 1+ F ot F 3:6i +0 j +8k;
X=6; Y=0; Z=8; F=10>



1.9.

1.10.

1.12

1.13.

1.20

0; ©s 0, obyml gg@lmgdby drgdstry

F,=amSinot; m X = amSinot ; ]

Cos (W ry)=Cos( F ry)=Y/F=0; a=(Wry=mn2.
s=8¢; v=S8=247 w=V=48t;
t=1 {3 8mdgbBobsmzols v=24 13/ Gd; w=w.=48 153/%’32.
3306Bomm  gomeEbsBms dbgdcogo Lolidgds. a394693s: 1.21.
F.=mw,=24; F,=mv®*/R=32. F=VF2+F2 =4.

—

o o 360l gyoby F domsls s FgLsdsdol Geeomll dmols, dsdob
tga=F /F =3/4.
s=t—t+1. v=S=2t-1; w=V=2. t=05¢3, v=0, w=V =2,

F.=mw=mV =2 F,=mw,=mv’/R=0.

F-27s

F=VF2+F2 =2.
moggzol ggebmby dwgdedrg B fgodomoals ©s 358sbswsdy Bgodmols Lohdedrg:
v=0oR=300t; shjscigds: w=V=300.
33mbLbol gsa®dgmgds obomgm 1.3 33m39658o0.

T96Bomgdl sdzm gohmo ©s 0gogg bsbmgsbo Lobgeey:
v=0R = Rkt . ogogg lLobetrg sd3b  met@gsl D
F96Bombsi © 358sbs@sdy dmnmosh st gslsg.
P @ 306m0(3 300dcr5mdl 0dsgg v LoBdsGrom,
530803 dobo sBetrgds w=V =Rk .
P 30600l 3cd@scmdol gs6@mmadsls 3L
Bgdwggo Lboby: mw=T-P. sgesb:
T=P+mw=P+PRk/g; T=P(1+Rk/g).

1.22.

mW:G + N + R +T ; R - (obspmdals  dsgmss, T - 3530601 s nmmds.
Lo gmmtreobsgym 096dgdby meagadoggdoo dogowgdo.
(x) mw=mgSino.—R-T; (1)
(y) 0=-mgCos o+ N. 2)
(2)-0s6: N=mgCosa; R =fN=fmgCosa.
(1)-006: mw = mgSina. - fimgCosa. - T;
sdgsb: T =mg(Sina. - f Cosa) — mw. (3)
233060 05633360 ©3837980bs W=0.
(3) —rs6: T = mg(Sina. - f Cosa) = 29086.4 6.
©399b6G73900bsb _gs3mbo  ImdGsmdl 86536 dgbacmgdaemse, bswss: Vo = 1,6
3/ga, v=0, t=4¢a.
(Bodomos, Gmd V=V tWt;  sdgesb W= (v-vp)/ t=- 0,4 3/§3 1.24
(3) —ws6: T = mg(Sina - f Cosa) —mw = 32286.4 6.

mX=F; X =1/m-F t+ crs

t=0, ¢ =x%=3; vo= X¢=¢,;
x=12m-F 2 +4t+3;

1.23

x=1/2m- F £ +c,t+c, .
c,=4.
x=(5t+4t+3)9.
X = - a/0-Cos ot + cl;] (1)}
F=0; my=0; J y=c2; J
x = -alm,-Sinot + ¢t +¢; ;] (2) 125
y=cytte,. J

BoB Jstrg

t =0 89mdg688o (1)-ws6: ¢, =0; c,=0.
(2) - s6: ¢c3=0; ¢c4=0.

x=-a/0*Sinwt; y=0.

‘39308960, (2) —3o:
338™ds6Jsbols fmbs G = mg ; (obsmmdols dsems R = 0,2 mg Lsfgobo

Vo =90 33/bo» = 25 3/G3 ; Lodergoere bohJotrg v =0

N

mw:G+N+§;

©s3539300mmo X mgedby: m X=-R ;

X=- 0,2g . 3939506893600 2-%96:
x=-0,1 gt +c, t+¢c,.(2)

m X=- 0,2 mg;
X=-02gt+c; (1)

Ls§gob =0 3mdgbyBo: X =vo; x,=0;

238m3s660ks 3sBgGadal dmdgbobsmgol t =t §3-k: X =v=0; x =s.

(1) —ob: 0=-02g1 +Vy. sfgesb 1,=12.7 Ga.
(2)—s6: s--0,1 gt>+vot;=1599. s=1593.
(ob. sdengzobs 1.21.). R=0,05mg; vo= 72 gd/bor =20 3/53; v=0.

m X:- 0,05 mg ; X:- 0,05¢g .
393506893 O™ 2-:&36)2 X =-0,05gt+c; (1)

(1) —sb6: ¢; =V 5 (2) —s6: ¢, - 0.

x=-0,025gt+c,t+c,. (2)
(1) —sb: c;=vy ;  (2) —sb: ¢, —0
dso69dmols ashggdol dmdgb@olsmgals t =t; §3-L: X =v=0; x=s.
(1)~ @s6: 0=-0,05gt,;+vy. sdgesb =408 ¢3.
(2)— ob: s--0,025 gt +vyt, =4083. s=4083.
©s39bGO7d9d0L  ©sfygools Imdgbdo  dsBadgdgmbs ©s  FHEOSJBHMOL
3sbdogmo  /_=s+5=4133.

Lofyol t=0 3cdb®Bo: X =vy; x,=0;

Yool

ImdAsmbols aggg@gbiosmao ¢ 97 1 X=k X. 3By Rogfadmom:

m \7 = -kV, oﬁ‘a dv/dt= - kv/ m; gabsoeog@mm 03@09\33605
dv/v=-k/m-dt; 39395068 936mm: (v =-k/mt+c;; (1)

Lofgobo 3oGmds: th =0, v=v; 3s8sboesdy ¢ = (nvy. dg308s6mom (1)
Bowedsdo:  In(v/vyg) = - k/mt 5 sy
3535068 936m0:; X = -vem/ k- € ¥+ ¢); (2) Gogs =0, 33806 xo = 0.
=vom/ k=1/2.

(2) =80 BgBsbom dogomgdor: x=1/2 (1 —¢?).
30J350 goBetmols Fobsmmdal dsgmss R=kmv (km- 3Gm3méonmmdals
309%803096803). 35806, ImdGsmdols  asbBemgds 0bgds: mw=-kmv, by dv/dt = -kv;
sdgeb  dv/v=-kdt; gogs0b@gacdmm: nv =-kt+c;; (1)

BsGgolo 3060md980s:t5=0, xo=0, v=v(=3638/0=600 3/§o» (1)-ps6  c;=fnvy;
2396908 (nv = -kt+/nv,, (2). o6y kt = In(v/vg) (3). 306030l mebsbsw,
t;=1 fo, 35806 v =0,1 vy; s30md (3)-s6 k=/n(v,/0,1v,) = nl10.

Boglbgom k- 860336gemmds (2) Ememdsdo: (nv=-t/n10 +(nv,, bsowsbsg
V=V 10"t =2 for-0l dcmrgels V:V0~10'2263/vm:0,36(53/h0‘1. v=0.3633/bo.

mW:G + N + F +39330@9330:
(x) mw =mgSina. - Fy; (1) (y)

vV =vee T By dx/dt = vee MM
@) w6 o

o3

0=-mgCosa +N . (2)




Gogs 0=30" - 3mdBrsmds msbsdstros: w=0 (2) — wsb:
N=mg Cosa.. bsbybols dsems Fy=1fN =f mg Cosa. ;
f -bobbol 3mgg030g6&0s. (1)-s6: 0 =mg Sina - f mg Cosa
odgesb: f=tga=3/3.
B =45° $ambon ©s839301 Bgdmbggzedo (1)-0b sbsmmgon@s:
mw =mg Sinp - fmg CosB; w=g(Sinp-{Cosp)=2.93 343
1.26. Ls30b6g M 96 0mols gmmdabsggdos: x=133=10003; y=0,5 33=50043.
39630 3mdAsmdl  396mboo  (ab. sdmzebs 1.18, gmédnms Y
() j
x=v,tCosa, y=-gt?/2+v,tSina.
Ls30b6980  dmbggreemol t; 3mdgbEdo: 1000=1000 t; Cosa;
sJgrsb t, =1/ Cosa ; 500 =-9,8t,%2+ 1000 t, Sina. ;
500 = - 4,9/Cos’a. + 1000 tgo ;
o6y 4,9 tgza - 1000 tgo +504,9 =0 ; 3 gobBmegdols m oo
sdoblbgdos:  tgoy, =203,57, ,=89%45 ; tga, = 0,5102 ,
%:26050’ M Boaa"bﬁgh 3;3360513(*)601} 301330\)300) a,
3aobon asbemes  30bs6dgnfmbyemos. 3slmbo: (17:26050’ .

1.27. 0A=h=2043 ; v,=17003=1,738. ABC $s9J@mcr0sbg
3mdGromdols 396 mmgdgdos x=v,t Cosa, (1)
y =- gt %/2 +v,tSina ;
603980b C §goBomBo ms3gdalsl  x=0C= s33; y=-hyd

t=T§a. (1) Lob@gdoesb dogomgde s=v,TCosa,
-h =- gT?%2 +v,TSina;
33m3gblbsm gl LolBgds T @s s -0l 30dsGo, dogomgdo:
T=2803%3; s=3063 3. (s g=9.83§d*=0,0098,3§3).
39630bommn  Imddsmds AB 98s6%5. B §96Hom8o  y=0. 30dzem gL
dmbs 33900
6539898  geosts t; {330, 98 339J69%s: 0=- gt,%/2+v,t,Sina ;

Bsowsbs(y
t; = 265,75 §a.
AB 056%g pdsomgl Faddomb (y=h;) Gs398s dosm§ggl t,=t;/2=132,88 3 3396 30.
33946989 Yma—h; = - gt 2/ 24 vy t, Sina. = 86,5 30-
B®s9dBoG00l bémmo bodsmemg H=h+h,=106,5 33.

1.28. m WZG +N+F b ©8395393d0mmo  mgedgdby
(x) mw=mgSina-F, ; (1)
(y) 0=-mgCosa+N . (2)
(2) — ws6: N=mg Cosa. .
babbol dsems Fy=fN =f'mg Cosa. ;
39308 96m0 (1)-8o, dogomgdm: W =g (Sina - f Cosat) . 3)
3c0dMsmdals Lsfgolbo 3odmdgda: t=0: x=x,=0; v=v,. (4)

3) BHommdol ®éxge  0bBgatgdon ©s (4) Lsfgobo  306mdgdol  g3sdmygbgdom
dogomgden: v =-g(Sin o + f Cosar) t + g ; 5) x = - g(Sin o + f Cosa) /2 +
Vot 3 (6)

338™336Js60l gohgérgdals 3mdgbBdo:t=T: v=0; x =s.

(5) -6 0=-g(Sina+fCosa) T+v,. ofgesb  T=3.61§a.

(6) -036 s=-g(Sin o+ f Cosa) T2 +v,T=28,93. $=28.93.
§2. VIOASN0L 35¢3M60IR(N »bI3S

2.5.
2.6.

2.7.
2.8.

2.9.
6/1.

2.10.

34

3.5.
20.

3.6.

3.7.

3.8.
319;

3.9.

44.

45.

T=n/5; P=mg=9,86. T=2n/k; k=2m/T=50. c=mk>=Pk*/g=25 6\l:3
T = n/4 ; P=mg=4,96. k=21t/T=8 . c=mk’=Pk?*/g=4,9-8%/ 980=0,32 6\1:3.
F=cx; 6ogs x=113, F=cx=0326.

x=10Sin7t; s33mogymes a=1003; k=7; c=mk>. mg=c .
mg=mk’8,; &, =g/k=980/49=20. §,=20%.
ob.6sb. 8. c=46/3; Xo=813; a=10L3: m=16 go. k= c/m=1/2.
(2.5) go6dnmal msbsbdsw: vo=kVaZ-x;2 =3; vo= 313/ga.

x = 2 Sin(kt+1) 43 ; v = dx/dt =2kCos(kt+1); Vyu= 2k ; 4 =2k; k=2. c=mk>=4

bsdogg  bs3dscrs  Bgademgds  Fgoggeemel  gOme—bsddsHom, O™Imals  Lobol@ol
309980309680 ¢ =c; +2¢,; T=2m\ m/c =2mV_m/ (ci+2¢,) .

§3. VIAHGOLNL 303350 &-bI3S
R=2mbv ; m=P/g=9,8/ 980=0,016 .bT,/2=1/2; b=4; v=1; R=0,086.

6bg30l  ©oggMgbiosmneo  gsbmmgds: ¢+2b ¢+k2§0:0 ; k* =g/ =9,8/ 0,49 =

T, =2n/k;; n/2==2n/k;; ki;=4. (3.6) gm6dnmal msbsbdsw k2=k*-b*. b=2.
§06smm0ls dsgns R=2mbv; 3Gm3mézonmedol gmggoagb@o u=2mb=8.

Gobspmdols dogms R=2mbv. éegs v=1 13/(3, 35806 R=0,026; 3394693
b=R/2mv=Rg/2Pv=9,81. w&mal Goms(y t ImdgbBobomgals Gbgzal  s33magmws ogml
A=ae™. méo béogmo  Gbgzobsmgol bagodems 2T (3. 33083 édmol t=t+2T, {3
3c3g6Bobomgols GBgz0l s33modges ofbgds: A =a e =ae TP (BT, =1).
33630bommn ggeGegds: A/A=ePT1 =¢?; 333emodges 89330008 e’ -%96.
obomgo obs s3m(386s; t 3m3gbBl Fggbsdsedgds $I3mogygs A=ae™;

t,=t+3T; 30568k Al=ae®TD; 306030l msbsbdse: A=10 A, ;

10e®T1 =1; "1 =10; 3bT,=¢n10; &=bT,/2=(n10/6=0,3838.

R=2mbv; v=113/§3, R=0,56 . b=5. 8cmdersmdol Lsfgolo o6mdgdas: ty =0, X, =

Vo =6 13/§3 k?=c/m=25; k*=k*-b>=0. k,=0.
6930l ©oggGgbiosen®o goby 9 10 X +25 =0. 3ol Bgbs3s30L
dsbslosomgdge s2+10s+25=0 396¢ b %960 gglggdo:

$,=8, = -5; 030(25(')3 cb(')a-bc\) 3dmbouvuuu 0JgL ©0vgmo 1}01532 x=e'5‘(C1+C2t).
Lafgobo 306mdgdols asdmygbgdom: C;=3; C,=21.
33mbLbol Lsdmmmm babgs: x=e'(3+21t) .
0=57n/12; bT,/2=5n/12; bT,=5n/6. T, =2wn/k,; T=2n/k.
k>~ k2=b% (K>~k*) T=(bT)%; [(Qu/T)} - Q2n/T,)*] T,>= (5n/6)>.
4T(T,/T)? - 4n’= 25136 . (T,/T)* =(13/12)?; T,=13/12-T.

§4. VIOASNR0L 0FII50MN0 &HbI3S

B33d565By ©sgowgdnmo Bzommo 9ddszos. F demoals dmddgegdom offygdl odmemgdom
6bg30L. Gbgz0L LaFyobo Joemdgdas: t=0; Xi=0; vi=0. &bgzol go6Bmemgdels  94690s
.51)30)0 1).553 (ob. (4.8) ‘5(')(4)3‘3930)2 x=h/ (kz-pz) Sinpt. ameaaﬂggooi H=1.8; p:16;
339J69%s h=H/m=720, k*=c/m=cg/p=400. A=h/(K*p>) =5
6bgzol asbBHmmgds: x =5 Sinl6t 13.

50833601 D dergmen 06bggs gsbembom: Xp=s=T@=r,Sinpt. M @§3060%
30J8900981 Bg3sBgmagdgmo dsems: F=c xp=c r @, Sinpt . H =cr ¢y;
(4.2) goédnmol  0sbsbdse:  h=H/m=cr ey m. k*=c/m.

1) pzVc/m; s33modmes  A=h/ (K2-p*)=c r ¢y/(c-mp?).
(4.8) goOdnmol  msbobdse: X =c 1 @y/(c-mp?) Sinpt . .
2) p=k=Vc/m; A=h/2kt;
(4.10) geo@dgemol msbsbdoe: X =c 1 @y/ 2mp -t Cospt .




4.6.

4.7.

4.8.

49.

4.10.

4.11.

63356101 D dmrgoerls 3s6dmboeo Gbggz0l 3gGomeoe T= 0,8 §3. T=2x /k;
k=5m/2. %3860l B ooty 3mgdgogdl  893s3gmogdgemo
Q=H Sinpt  dsgms, Gmdmol  Gbgzol  3gHomeo T,=1,2 §a.
T=2n/p; p=5n/3. B 3owol 6byzol s33mognos H=3.
353sLosdy x,=3 Sin(57t/3).

D $z060by 30ddgegdl  Loddodol P dsems s bsddscrols
©ogodgmmdol  dsgms  F=c(X) + 8y1x).  6333s60L  Lsgognto
V(v)ﬁols%'(wﬁ)mbolmh P=c 5%. (3_5)30(4)0101} 6)53301& ;gotﬁat‘)afioooqg‘ﬂﬁo
396Bmmgds sbgomos: m X=p- F, s6g m X=c By = (X + Sy tX).
390096 X + K =h Sin(5nt/3)., Lswsg k¥ =c/m; h= 3c/m=3k’=75n%/4.

D $306m0l adymgdomo &gzl gob@mmgdss: x=h/ (k*-p?).- Sin(5nt/3).
odgmgbnmo 6)53301} o33gﬂ\00(§)‘aggoi A=h/ (kz-pz) =54.. A=54 1ad.
e=wot=2t. OE=x=0ASing=10Sin2t. k*=c/m=12,25.
3e0bs sl mmgdl 3s@sdsbom 3mdeemdsl, s30Bmd Bsddstrols B dmmey
3c0dG5mdl gobmbom x=10Sin2t; M $3060%y 0dmdgegdl 3935 dgmmgdgmo degms
F=cx=50Sin2t; p=0=2; H=50; m=Q/g;
h=H/m=HQ/g=50-980/400=122,5; 333gmogd) nes:
A=h/ (kK*p?) = 14,848 ; 6bg30l 306G mmgds: x=14,848 Sin2t 1:3.
ob. fobs 4.7 5336l s3mblbs: =0t ; B {g@@omo s 3sBsbopsdy E Fgo@omo
3c0dMomdl gobmbom: x = 10 Sinwt; w=p; k,=12,25.
Ggbebsblol Bgdmbagzedo: p=k=V12,25=35; @=35t.
P=0t=6t Gop. IsGsmgma®o  Bs3dstrgdo  Fg3(339mmm dsmo  Bemgslo Cy
Lobob@Bol bsddscoom: ¢;=2c=13,6. BD gymobs 3md®rsmdls gsms@sboms.
Xg=0E=0A -Sinp=7,5Sin6t.. M @Bzot0by Ingdgegdl Fgdsdgmogdgmo  dogs
F=c,x=102 Sin6t ; H=102; p =6; k*=c/m=c,g/ Q=136. k=11,66. h=H/m
=1020.
Fobopmdols 3mgg0i0gbo b=k=11,66.  &bgzol beFyolo gsbss PB;
(4 .4) goedgmol 0sbsblop:  tgh=- 2bp/(k*-p?) =- 1,3992 ; B=-5425";
6500569880 B=-0, 95. (4.6) GGl 0sbsbdsr, adnmgdoma Gbgzal s33e0dnws
A=/ (K-p?)+4bp® =5.93.
4.5) Bomemsals 0sbsbdse, adhmgdomo Gbgzals asbBHmengds 0dbgds:
x =593 Sin(6t — 0,95) a.
R=2mbv. 2mb=1,2; b=6. odymgdomo &bgzol smobyGo LobBomy
P=woa=®. {063, 4.9 53m(3360 30630l M36sbse, FgdsFgmmgdgema
dogws  F=c,x=102 Sin6t ; H=102; _p=6; k’=c/m=c,g/Q=136. k=11,66.
h=H/m=1020. s33mo@os:A =hA (k*-p?)*+4b*p* = 1020/ v (136%-w*)*+1440*
adgergdomo  Gbyzol  $I3mogymes  dsglodsergd  360dzgbgmmmdsls ®9dnmesls
(A=AL), Go@s  asdalsbymgds  flw) = (1362-0)2)2+1440)2 ogdl  9dioegl
3608369e0mdsls (Min-). godemgmo f(w) b min —o: f(0)=0 gs6Bmmgdopsb ® =8
3L g.0. p=0=8;
f(8) =14400; 3399698 Apax = 1020/ ' 14400 = 8,513, Ay =38.513.
tgP=- 2bp/(k*-p*) =- 4/ 3.B=- arctg(4/ 3); Gbggol gebBmegds: x=8,5 Sin[8t- arctg(4/ 3)];
59800656b0l F9do 3939 0: k=p =11,66. 3330 nes: A=h/2bk=7,289;
Obgz0l aobmengds: X =- 7,289 Cosl11,66t 3.
h=H/m; p=\/ c/m; kK*=c/m. §obspmdol dsgrs R=2mbv; 2mb=p; b=p/2m
; adgegdomo  OBgzol  s33momes  Fobsmmdol 3Jmby gst1gdmBo  gedmoalbabgds
(4.6) goédnmon: A =h/ (K-p?)>+4b’p> = (H/m) /N (¢/m — c/m)’ +4-(L2/4m’) - ¢/m

5

A=H/u Am/c .

5.7.

5.8.

5.9.

5.10.

5.11.

5.12.

5.13.

5.14.

5.15.

6.5.

6.6.

§ 5. 3dSLIBOL BIESHSN. 3ddSMO LI IO
069&G00L 3MII6B()

B
Jas=J,+ MR? =1/4 MR®*+ MR®>= 5/4 MR,

Jup=5/4 MR? .

&
>

Jan=Jo,* MR? = "
=1/2MR>+MR?=3/2. J,=32MR?. (L }

J,=J+ Mh? = W

=1/4 MR? + M (R/4)* = 5/16 MR2 y£ @
J4=5/16 MR? . \_ &/
d. a ~—

L=IR+329, 12 =12Mr* = P,/2¢g;
1,%=1/2-M,R? =P,/2g-; J,=(P,r*+P,R)/2¢g .
sm36086mm: M - Ggmemols dsls; m- aém(%ﬁx;@n 6sFomol dsbs. (M+m) - doeoasbo
Qohdmh dsls. pP- Qohdmh 1)03636033. 35306 M:TC(RZ-I‘Z)p, Boo;goﬁoe p:M/TE(Rz-rz) N
M =P/ g. m=nr’p=Mr? (R*-1?) ;
J= e - L=(M+m)R*2-mr? /2 =MR*/2(R*-r?)-Mr*/2(R*-r?)=M(R*+1?)/2.
J.=P(R*1") /2g.

obogmgo 5.5 833860l 9demblbs

d — pasdgBos; T =J4= Mr?/ 4 101 2 03B G0l 3sGsmgm@os:

J,= Ji+Ma’ = Mr%/4 + Ma’= M(r* =J+Ma? = Mr?/2 + Ma?= M(r’*+2a%)/2 .
obgm LodgdGogmos X @ Z @gmogoos 00036, sdogmd  J =J, =1, =0.

vi=mrhy 5 vo= mthy s vis echy 5 my=vip; my=vap; my=vsp.

1= 14 124 1,2 = (myr > myr,mar?)/2. =np(r,*hy+1,*hytrs*hs)/ 2 = 96.86 323’
0bggool Gspoqbo: p= NI/ m ;
Qohdmhom3oh: Jl =mr?/2 N P1= Em =r/ \]T
Gaomobsmgol: J,=mr’;  p,=VJ/m=r; - -
067 Gomobeeobsogol: J;=m(r*+1%/4) /2=5mr?/ 8 ; p3=\/J3/ m= rV5/8;
Jobgbobsmgol: J,=3mr/ 10; p,=VJ]/m=r\3/10;

P1iPriP3ipPs = 142 1 : V58 \3/T0.

§ 6. ASLABOL GIEGHGNL 3MISHSMSS
A $30600L sBJs698sBmmos eamoal ggdlel FooBomals 3bgdo shJsdrgdols:
Wa=Wp=eR=2. 306000 d0dsmdl gsbmboo: mw, =F® ; sdogmd F® =1006.
B

iy W
! Wy

W

WA=W MWC=kaWk;
M Wc=mAWA+mBW



Wp = Watgo = w tga
MW [ =\(mw, Y +(mpwy)? = (P, wig)+(Powiga/g’
Mw, = w/g N PAPAtg%a; M= (P,+P,)/g:;

6.7. F®=0; x'=x; P,=706; P,=306.
Lafgob ty =0 dmdg688o: MxX, = m;x;+myX,.(1)
t 3m3gb6@obsmzgols  Bgodmo gswssegomes (=40
13 x

w, = w/ (P, +P,) - ¥ P >+P,’tg’a

3s6dogby  wobMomo  Fodml  asl§gMog,
bome bomo  gsesseaomes dsé3bbog s
356dogbg. 35806 Lmgnwol kddodols (396 G0ls
33bgabos  (X1s),  bome  Gzocoabs

w0

']

(xpts-f Cosa);  339d690s:
Mx.'=m,(x,+s) + my(x,ts - £ Cosa);  (2)
(1) © 2) Bommdgdoesb dogomgdm:
m;x,+myX, =m,(X;+s) + my(X,+s - £ Cosal);
sdgesb: s =myl Cosa/ (m;+m,) =
=P,/ Cosa./ (P+P,)=10.39 13 .

6.8. 393m309496mo Loliggdals dsbgdols (39680l dmd@smdols N
0gmeds Y 0g6dby ggadomgddo Mw,, =2 Fky("‘) s
36 Mw,, =P+P,#Q - N. (¥)
230bm06s39: MW, = XMWy 5 30650086 Wi =Wi3 Wy = -
W2,

239369%s:  Mw,, = mw; —m,w,.

30J350 drmgo d¢rmbagl  gmobydo shiségdom,
35806 W =€ I}, W,=€ I; W|/W, =T/ 1, ; W, =T,/ I}"W,;
dog0m90m: chy=(P1W1—P2w2) = (Pw;- Porowy/ 1) (*%)
(*) @5 (**)-0b goBoegdoo dogomgdom:

l"r&-xr!-:\---ﬁ
e

My hs-f Coso

M,

R A 1

Pi+P,+Q —N= (Pyr-Pory)w; / gry . odgsb: N =P+P,+Q — (Pyr;-Poro)w, / gr .

6.9. 338356060l ogoeby dmgdgregdl: Loddodol P dugms;
L 3m3g96¢80b 3s06bgdgmo  Fygomdsems s bsbabol
dogms Fy .

T y30mdsgmols 3gdspggbgemo dsemgdol  a93doemgdo
B gmmeEobsm mgadgdty bamol Bomos. sdogmd
03semols 3mdGsmdals EoxggMgb30ser Mo 3ebBmmygdgdo

of6gaost: M X, =-Fy; o6 X =-fg

0=P-N. N=P=mg..
33mblbol gog@dgmgds oborgm 6.3 s3m3s6ol s3mbL6sTo.

§ 7. A(IHSMdOL HSMKRIGMdOL B3N IdOL

0M3MHI3S

7.6.

7.7.

7.8.

7.9.

7.10.

7.11.

2g=

mv-mv0=Ft. m(v=-v0)=Ft; Av=v-v0=Ft/m=3023/Ga.

mV-mV o= (PtN)t. Lsdemmme Lobdstrg v=0;
P=mg. wszs39330mmn mgadby:

mv —mv, =-P Sina -t
t=vy/ g Sina =0,82; t=0.82 ¢a.

mV -mV = (PN+F,) t,
(x): mv—mv,= (P Sina - F,) t ;(*)
(y): 0=-PCosa +N.
N =P Cosa = mg Cosa..
F, =fN=fmgCosa; v&=0;
(*) —o6: mv — mv, =( mg Sina - fmg Cosa)t .
v = g(Sina-f Cosa)t=15.23/§3 .

Vo =7238/b0 =20 3/G3 . m;=1300 g3, m,=2033, Q=m;vyt4 m,v;
V = dm6dmgdols dslgdol (3960l Lohdsegs.  dmdGrsmds msbsdstrns v = vy= const
3 0doBmd:  Q=m,vtd myv = 27600 328/ G3.
Lémo 033gmbo S=mv-—mv,=0 (60l 638018096 Bqsmgwdo).
Q=QuatQ;-
I 330msbsls dsbgdols 396BG0s A sdogmd: Q;=m, vy,
Va=0y-0A=2wp1; Q;=2mmpr.
0A el dslgdols (3968 G0s B9s C FgdBomoa:
Qoa = MyVe = M,V,/2 = Mymor .
Qoa L 0A; Q,L0A; = Q LOA;
Q=Qoa *+ Q= @or 2m,+m,) .

1) 0A L 0B ; Q=Qox+Qxs" 103

VA=0A - ®=a m

Ve = Va/2 =a®o/2 ;

Vo =V =Va=a.

Qoa =myv; =Py a wy/2g;

Qup=myv,=P,aw/g;

Qp=myvg=Piawy/ g; Q=awyP+2P,+P;)/2g.

2) 0A aoaoﬁm‘acgoo 0B -L 6.515%'3603: Va=awg, Vg =—a o/ 2 N
AB @96 sbeOmgdl 3B yge

Indersmbdsl. d¢rbgzols  dgobo (396 G0s B

- “ \F
To6omo, s30md v =0  Vv,=AB- 0y ; "ﬁ- L E A
Ve = AB-wg/2; il ’ p 222
Vo=vi2=a w2 . )nﬁJb =
Q=Qat+Qap+Qp= ¢ A ¢, wp

= mv,tmyv, + myv,+ Pia wy/2g+ P, a @y

=a (P +P,)/ 2g .




7.12. 30J390 M 3sbols 360530 0ffggdls 3md@smdsls deér(3b6og v LoBJs®om. 33806 M, dslols Bgodoo :

Lbgmmol sdbmerndg®o  Lobdséol 3gadamo X Jo=P,r?/2g+P ;¥ g=r*(P,+2P)/2g.
©g®dby sl u=(v-v,Cosa), bowe M, dsbol 3369 dsgmgdols 6s36980 3mdgbBo 361630l y@dols
Tbgmmol  boBgotgs u=(v-v,Cosp), dodstron: Le® =p;r.

e=Ly®/J,=2P g/ (2P +P)r.

ox = Qx 5
Lofgol 336 8o Laligds |désgos, Q=10 .
Q,=mv+mu; + myu,;

Pv/ g+ Py(v-v,Cosa) / g +P, (v-v,CosP),/ g=0. 8.9. Jg=L,. BC=//6. L,=L.
¢jag)o6: v=( PlVlCOSO, +PZV2COSB) / (P+Plﬂ2) . AD ®geebsmgol: J,=lg =]+ m: BC?=
=m/%12 +m/* 36 =m/(* 9 . A B c D
§ 8. 3M3AIMdNL &SMLIGMdOL 3MIIGSNL e=L,/J,=9L/mi=9. 'HL’
G3NRIBNL  NIMeHIBS 8.10. Loliggds goagds ™G0 geombsoto Eolgmbsgsh. g&o-
8.5. 0,=1, ®. 9600 oligmbsmgal 0z mg@dol 3sésmgemn®o 396035060 ©asdgB o ogml AB

. 93 @olgmlb 0bgéaol 3mdgbBo 0z mgédol 30dsto obgds: IO =T, +ma’=
PR?/4g+Pa’/ g=P(R*+4a%) /4g .
®®ozg golgmbsmgol: J,=2 IO =PR*+42%) /4g.
J,e=L; &e=L/J,=2gL/P(R>+4a%).
8.11. gobognéo Jobfsere: T=2nVJy/mgh; h=0C=r.
Oamobsmgol: J =P R2+1%)/2g
Jy=Jl.+m 0C*=P(R*+ 1) +Pr?/g=P (R2+3r%) / 2g.
b3l 3géomeo: T=2n+ (R?+3r%) / 2gr.
8.12. ®y=7n/30=20 1. @sdnbeHryIgdolsl bsbabol dogme:

J,=J,+ mR?>=mR?/2 +mR? = 3PR?/ 2g .
(,=3PR*w/2g.

8.6. Lofgol  3mdgbgdo M (gdBoel  gs300 A dpgdsergmds;
3569 dsmgdols 6330930  Imdgbgo  dGbgol  z  mgddols
303360 bgmol  Bemos. JsBsbssdy , segomo 83l z Qgﬁ)dnb
dodsro

3009304760 3m3gbBol Fgbsbgol 386¢mbL: 00_0 (%)
bsFgol demdgbdo: ZZO: 0, = + ZZM =J, 0= Przmo /4g . (flM =

0). F=fQ=04Q; Joe=Ly; Jy=mp>=0,9;

FooBomo groegbo 3s6dogmon  ©sFmEgdnmoas d6rgbgobaedo Gobamdol dmdgbo:

3mG0BmbBsmne ©0sdgBeby dpgdsegmalsl. 3 Ly=-FR=-0,04Q. ¢ =L;/Jy; do/dt=-2Q/45;

3m3dgbobsmgols dGbgz0l  3gobydo LoBjsdg ogmb ® Ale 39395068 936mm: © =0, —2Q t/45;

35806 £, =(Jz% +J2M) 0 = (Pr¥/4g+Qri/g)m = (P+4Q)rw/4g. t=10{3-0b Idxgy momzo 3obyees: ©=0;

(*)-0b 0sbsbdog: Prroy/4g = (PH4Q)rw/4g. sJgesb ®-2Qt/45=0; Q=450,/2t=45n. Q=451 6.

@=Pw,/(P+4Q). oengo 3rbagls 086538 Tgbgmgdmmse:
- e=Ly/J,=-2Q/45=-2m. Qo=wpt+et?/2=1007; @=2nN.
3érgbgsms Gogbgo: N=¢/2m =150 d&nbo .
8.7. L0=02 (%) LsFgol 3mdgb 3o M {adBoemls 39308 A 3rpgdstrgmds 105
Bg@leoby, sdogmd: 1,0 = (1,2 +],2) = (Pr¥/2g + Qr¥/g) @, = § 9. 3060&03IM() I6Ierc 209235006 MIMerIS
=P +2Q)r* 0y)2g . Z A _ - T R’ _
©olgmbosh ghmse AB Jneeals asbfzeoz M §aodomo 9.7. r 0(2; 2; 2), r 1(3;3;3); A r=r 1- r 0 I+ J + ;A r (1;151).
sbegmgdl Gorgm dmd@smdsl; dolo sdbmmad o LobJséry = = —
o0d6gde: V=V, Vg, govy=utao, Lowsy ® s6ob smgden F 1;1; 1) F ©s A r 39d&me980 '3(‘)0)036013&‘).:@3({3'3600.
3039630 Robgol d6:bg0b gyobbo Loffscy. AT 390830 g33bg Fgbemmagdnmo 3ndsmds A = F aAr=3 X
M Ggoomol z mgedols 336393 dOrbzol gmobydo X c oA
) Zv,/a=utan)a ‘ 5 3069803060 9b6gGa00L (33moamgds: AT =T-Ty=A=3 .
BoBdody ofbgder - ou=vi/a=(u ; 9.8. Vo =72 48/kor = 203/G8. Gobsmmdols dsgms: R=0,1P=0,1 mg
3mdgbgolsmgol: £, =1J, *%o + I Moy = Prle/ 2g + Qa*’/g: (uta 0)/ a mv¥2-mv¥2=-Rs; v=0; -mvy/2=-0,1mgs;
= $=v%/ 0.2 g=2043.
=Pro/2g + Qa(uta ®)/ g . - 9.9. mv¥/2- mv2=-F,s;
(*) Bomedol msbsbdse (P + 2Q) 1* 0y/2g = Prio/ 2g + Qa(uta v=0. Fy,=fN=fP=fmg.

) g; -mv/2=-fmg; f=v,%2gs.

ofgesb:  @=[(P+2Q)r @, - 2Qau]/ (Prr+2Qa). 9.10. 3bol AC dmbogggmby:

Vo=va=0; v=ve; AC=s.. fi=tgo;;

8.8. (30mobE®nmo Ememol d¢rgbzols asbBmengds: Joe = Lo® . mv%/2— va2/2=mg (Sina - f; Cosa) s; .

Lolbgds Bgmagds mGo Lbgnmobsgsh: ©mmo ws vc*=2g(Sina - f, Cosar) s, = 2¢g (Sina - tge,- Cosa) s, ;




v =2gs; Sin( a- @) / Coso; . (*)
gcbols CB 3(')605330)%3: Vo= V=V, VBZO; CB= Sy 5
f,=tge, ; mvg*/2—mv%/2 = - mg (Sinp + f, CosP) s, .

s s
mv¥/ 2 -mvy%/2=- J. Fdx; —-mvy/2=- j cxdx; mv,%/ 2 =cs*2;
= vc? / 2g (SinP + f, CosP) = vc? / 2g (SinP + tgg, -CosP)=vc> Cose,/ 2g Sin(B + ¢,) 0 0

s=vp\m/c .
o dbgeggmedsdo dogomgde (*) Beemmdsl, 33969ds: 9.17. abols meogg 1ds6%y Bzmd(ﬁ.smbo 05653650 (330050005: - o e
s, = s, Sin( a- ©,) -Cos®, / Sin( B+@,) - Coso, . t=10¢3 w=1,23/§3"; v;=vo+wt;=123/¢3. o Oy P= i
- B - - - t,=8G3  w=099 Gd; v,=v,+wyt,=19,23/§3.
©olgm ©s Eghm sLEMmgdgb 3B ygm dmd@smdsls . A= mVIZ/ 2- mV(lz/ 2=72m; A= mV22/ 2- mV12/ 2=11232m;
66'35301} 3301}0 635@)6200 0 vazt‘)(f})og:)o . o=Vvy/R. Ay/A; =156 AZ =1.56 Al .
T=TT,. T&=myvlHlfoe’2= 9.18. T-T,=A®+A®; T,=0; A®=0; T=A®. (%)

= Pv,¥ 2g +PR¥4g v/ R? = 3PvY4g .
T, =myvyH & o /2= Qvy’/ 2g +QR/6g vy R* =2Qv,/ 3g .
T= TE,;—TQ =3Pv,/4g +2Qvy* 3g = v*(9P+8Q) / 12g .
T =v,2(9P+80Q) / 12¢ .

Lobggds dgeagds ™o Lbggmolsgsb:
T=T,+T,= mv¥/ 2 +mwv*2=(P,+P,)v*/2g.
A®=A + A,=Fs—P,Sina s ;
A®=(F —P,Sina) s ;

. 2 — H
00; @gde sLEYmgdl go@sgsbon ImdGsemdsl (m=3m): - *) @mg’gmbcﬂ; 006sbdog: (PlfPZ)V /2g = (F - P,Sina) -s
T,=mv¥2=3mv¥ 2. k' sdgres6  v2=2gs(F —P,Sina)/ (P,+P,).
@onmggmo ogso sbermmgdls d6Eggem 3md@smdsls: oy 939603690 Hrmdsl 3930F9®3mgdm, dogowgde:
T,=Ty=mv./ 2+, 0% 2 ; 2viw =2g (F —P,Sina) / (P;+P,)-S; (S =v);
v=or; o=v/R; J=mr/2; sdoymd: s odowsb: w=g (F —P,Sino) /(P +P,).
T, = mv¥ 2+mr% 4 -(v/ r)>=3mv¥* 4 ;
T=T,+T,+T; = T,+2T, = 3mv?. T=3mv’. 9.19. T-T=AP+AW; T,;=0; A@=0; T=A®. (¥
©g6e SkEnmgdl 3GBggm Inddsmdsl: T = mVCZ/ 2+, w2 *) T=Tg+ Tc+ Tp. Tg= m1v2/2 ;
V2= X2+ Y =444 Gogs t=1§3, v =8; VT VBT Ve Wl
. AL — Te=Jcod/2= my? o/4 =myv?/4;
o= ¢ =12t Gogs t=1¢3, ©=12; 3 D Lsgmérego sbergmgdls dédggen
. - 2 2.
Jo=m0* (*) Boemdsdo g sboo dogomgde: T =10 . dedromdol T =my vy/ 2+ Joo s
3) Labopstol dodstro  Bgodmo sbemgdl goesBebon dmdGsmdsl, Gmdmol VOZVI;/ 2=v/2 ;2 o =vp/ 2R =v/2R ;
BLobgstrg @Hmmos K.sg\vmaboﬁm'l; Bgdbmby drgdsdry K FadBomoals Lo Jetrals: v = vp TIz[‘:=H%3V+/T8 ':mfR=/4 (VgZR 107
=or=1; sdogmd: T,=mvg’/2=m/2. sTlc o m;v
3) abol Bodséror Bzgodmo sbemgdl Gy + 3myv 16 =(8my +4L.,  caigye v

YERvERYi YAy Lol gdsby 3mJd 69 doemgdols 39Bsmds: A =Ap+ Ac+ Ap=Ag= Si
dnderomdsl: V=V +V (V=V) 30650036 obbgdsy dnfdgea gy daeglol dydhmds B ¢ P L L

V.1V, sdoBmd: VgI=v 2+ v =5,
35Bsbosdy: T, =mvy%2 =5m/2 . T,: T, =5

(*) Bowedol msbsbdse T =A; 8g30896mn 360836gmmdgdo:
(8m, + 4m,+3m;)v¥/16 = m,g Sina. s ;
sdogsb v=4 v mlgs Sino / (8m, + 4m,+ 3m;) =2,3.

T=T+T,+Ty; T=J,0,%2; T,=l,"2; v=23 3/§3.
V= )T Vo= T V=V,
;=0 1/ Tyeht/n) o2 ; 9.20. obogmgo Fobs 9.18 s3m3sbol  sdmblbs. ©sgds@gds D Lsgm@segol
©3900 363030396k Bogmoge Fatdomos am630l  bobegbols d9scmds: Ap=-3N¢; of N=P;=m;g;
LolBgdsl, Gmdmals gmggmo  FgoGomol Lobdserg ¢=s/2R; Ap =-3m;gs/2R . bérgemo 37Bsmds:
Bomos: Vi =Vp=T; A =Ag+Ac+ Ap=(mRSina -0,56m;) gs/R.
sdoBmd: Ty= (Cmv )2 = (Emo,* 1?2 =0, 1 ’m/2 . 9.21. T-Te=A. T=0; T =Tg+Tc+Tp=(Jp+c+Hp) 0*/2=3P1 0*/4g;
T=J,0,% 2 +1,(r,/1,)* 0,4 2 + mw,* 1,%/ 2; T = [+ Jy(r,/r)+mr*] ©,%/2 . A=Lo=L¢; 3P /4g=L¢; sjyos6: ®=2/r Lge/3P;
b03dsG0l  EgnmAdsioal bofgolbo Lobdsdrgs . - 3aobaco shfsegds: €= do/ dt =2Lg/ 3P . g=2Lg/ 3P r’.
Vo, bsdegmme - v=0, B533360L  groeglo I
Rggemdsgos S beddsdaty  Bojdgegdl  * é’% 922. T-TFA. T,=0; T=A. WD=or.
O30 swdrggbo  (3gemgdomo) dems  F=c o T = Tet+Typ =Jc0¥/2+ PvpY/ 2g =

X. = Q12 w¥4g + PvpY/ 2g = (2P + Q)vp/4g .




A= Ac+ Agp= Agp=PSina -/ ;
(2P + Q)vp*/4g = P/ Sina. ;
vp=4 Pgl Sina./ (2P + Q) .

9.23. T=A. T=2T\+2T,+T;; Vv=vVy=Vp;
doéoh.&msoh: T3:GV2/2g 5
Fsdyz860  demvddsemobsmzol:  Tr=l,w,2/2=],v*/2R2. 39Bsmdsls  sleremgdl
3586969890

L3m305(§)0 © am(‘)3ohog\)30 Bab‘aﬁoh %’06-};3(*)601& 3(')385(?)0
M=-8N; go. A,=(L-3N)g.
sdyeemo deddsemobsmzol. Ti=J 0 22=],v}/2R? ; 37 Bscdsls sbirmemadls

dbomme
306 30bsdo bobbol Fobsmmdol dmdgbdo M =-3 N ; go. A=-0Ngo.
®00mgne dnGdsmby dowol psBgotmgs P=G/4 ;

690d300b dsgms: N=P=G/4.

338™36J6L  dogé s 3&580(:5701} 393mols Jgrgase  mommgnmo M(/L'.'Jx

bmﬁ)bé@o '333(')66‘2]6;386.5 o= s/ R dﬂmbom .
Bobggdols 3obgdognco gbgdgos: ,.&“1
T=2T+2T,+ T, =1 v/ R* + I,y R> + Gv?/ 2g ;
T=v[GR*+2(J,+1,)g] /2 gR>.

Bolig)gdeby dmJdgmo dsgmgdols dnBsmds:
A=A+A,=(L-28N)¢p=(L-26G/4)s/R;
A=s(2L-3G)/2R. T=A.
VIGR?*+2(J,+1,)g]/2gR*=s(2L-8 G) /2R .

3J9ea6: v2=2gsR(L-8G)/ [GR2+2(JL+JZ) g].

9.24, oboggo §obs 9.22 53m(3960L 53mbLbs

§10. JILSIUM 3SRSSRB3NRIdSMS 3620066030

104. -P5s, + P,8s,=0.
8, =(r, +1) 80;
3s,=21,00;
38/0s,=(r;+15)/2r1,.

10.5. Pdsg—Mdp,-Mdp=0;
M=Pds—Mdp)/d¢.
Osp = 0sc =0,C-0p, =319, ;
Osg=10¢p . Osc=0sz=0A-3¢p = rd;
3rdQ, =r1d0; 59, =08¢/3;
M=Pr-M,/3=Pr/2. M=Pr/2.

10.6. Pdsp - QCosa-8s, - Fosg = 0. 55385610l 0619350501
dogms  F=ch (h— %8360l gnm®ds3009).
2939A8954 = 3939a80S5 ; O, Sinaw = Jsp Cosa ;
Osp =tga 8s,; OSp=0s,/2.
Ptgads, - Q Cosa ds, —ch 8s, /2=0;

sdgeesb:  h=2(Ptga -Q Cosa)/c.

10.7. Q 3s, - Pds, -Fds, = 0.
38y =08,/ 2 ;
Qds,—Pds,/2—chds,/2=0;
2Q-P-ch=0;
Q=(P+ch)/2.
Q=200.

10.8. Qds,—Pdsp,=0; Q =P- 3sp/ s, .
Osp = 0sg =0sp =100 ;
65b. 3) =1 0sbsbIse:
3s¢= (8sg - Osp) / 2 = (R —1) 30/ 2.
Osp =088y ;
Q=P(R-r)dp/2Rd¢ .
Q=PR-1)/2R.

10.9. 33m(3365 3dmablbgds olbggyg,
Geame3 10.10 53m(306s.

10.10. AD o3d%y I ddgegdgh  dsesmgmrg®o  demgdo,  sdogmd  Bsdsgtgdals A

F96Bom3o Ggsgios Jgeagds oo sGemgmado Ry dsgmols o
(T 930edsgrolbsgsh, 3mdgboo Ly.

3) B lLsblstro ©og@mgmm 9deegee s 39dmgedérmbmo  3m3o A Faddomol
TR B

39638930 Bgbsdemem 3¢, gmoboo.
Fgbsdmm gsEssEgomgdsms

36063030 sby Bsaffgegds: l-5\1\ {{H
L8@u — P 8sg — P,3sg. - L8sy + Pydsp, =0; w L
dsx = AK 8¢, =259, ; i?‘d i ‘ ) "\\)_
Bsc = AC 8, = 350, ; Maspy K C E P by
3sp = EB 85 = 8¢5 =8¢, ; 5?’5 el

3sp =3 g =300, ;
LA0@s —P28¢, — P, 8¢) — L 8¢, +P3389,=0; L,=2P+P, +L -3P;. L,=7 3.
3) B lobloto mogogmn dhegse s 9g3mgedhgboo 3mgol AC  6sfoea C
Lableol gs6853m Bgbadmm dPc ggmbom. dogomgdo:
LA0¢pc— R 884+ Pdsg =0.

r - =+ = -)'

Bsx =3 3¢ ; se= dgc ; R, 2 A P
LA80c — RA3 8¢ + P 8¢pc=0. Ly Kg C B 5.\
Er R N

3) LobBgdsby 37('15330\10 3sG3mgm o Berl
dsemgdo GerbslifmedmdsBas: ““
Ry=P =P, +R;-P;=0; Rz=8p.

Bk E D



§11. 065303016 BM3ISLD 3S6EHMLIdbS OF=mw; W g g=w/r;
5 Os=1d¢p; 0sc=0s/2; 85;3=0s¢;
Wi=We=w/2 ; gc=Wc/r=w/2r;
Osc =t d¢c;  Opc=03s/1=08s/2r;
m, g Sina 8s —m,f g Cosa 8s — m;w ds — m,w 3s/2 -
- m,g 8s/2 — m,w 8s/4 — m,w 3s/ 8 —m;gds/ 2 + myw ds/4=0.
(m;+m,/2+m,/4 +m,/8 +ms/4) w =m,g (Sina. - f Cosa) -
-m, g/2-m;g/2.
w =4 g[ m,(Sina. - f Cosa) - my —m;] / (8m,+7m, +2m; ) .

11.4. L3¢ - L 8¢ -®,* 5s, - ®,*5s, =0 .
5s,=R8¢; 8s,=8¢p. @1
@, =m;w, =m,Re ;
D, =m,w, =m,re;
L*=J¢;
Loo - Jz& 8¢ - m;Re SR —myr e r d¢=0;
e=L/(J;+mR*+m,r?)=1§a".

O
o6 b _ B e L ' it s
" r f‘;lf(il -+RI:‘31<P2;&pé(::f(gipl/ I112; el \A;;Jﬂ »%b;& §12. 356BMB3SRI>IRN 3MMHXRN65SId0).
W =w;  re =Re; s B36BMBIRIZ I IS
L*=Jg=m, 1’g/2; L* | oy
L,** = L,e,= m, R%,/2=-m,Rrg,/2; 12.4. 396bmgs@gdnmo ymmeeobsgo: q; =5 ;
-L,8¢, +m, %¢,/28¢, +myRre/2-18¢p/R+L,1 8¢,/ R=0; 396%Bmgsgdnmo  dsgms - Q. 5A=Q3s; (*)

3A =P s — G Sina 8sp, — Fy, 8sp ;

F,=fG Cosa ; s =R 3¢ ; 6sp =1 0¢/R ;

0A=Pés— G (Sin o+ fCosa ) rds /R ;
(*) Horemmdol 0s6sb3sc:

P6s—G ( Sinotf Cosa) r 8s R=Q0s ;

Q=P-Gr (Sino+fCosa)/R.6.

g=(2LR-rL,YRr*(m, +m,).

11.6. L3¢ - L**8¢ - P Sina 8s — Fy 8s - @65 -2J,,8¢, = 0.
ggmgg“bg Os = RS(]); Vﬂaogmms.}c{)o%g Os=r 5([)1 =R 5(]);
F,=PfCosa; @, "=mw=Pw/g; & =w/r;
L*=J,e5=],W/R;
L3g - J,wd¢/ R - P Sina R 8¢ - P f Cosa Ré¢ -
- PwR&¢/ g - 2J,wRS¢/ 1? = 0;
L - PR(Sina. +f Cosar) = (J/R + PR/ g + 2] R/ ) w ;
w =L - PR(Sina +f Cosa. ) / R(™ "111(;' 2],/

111
§ 13. R33S6I0L 11 34 S0M2IdI00

13.5. q1=s (B $306mol gspssmgomgds); A= Q0s ; 3A=Pds;
Q=P. d@T/0$ ydt-aT/as=Q,. (1) T=T,+T,+Ts;
T,=m, S2/4; T2=m232/4;T3=m3SZ/2;

11.7. F8s - ©*°8s - L8p=0; v
Of=mw=wer; L*=Jg; Jds=rdp;
Frdp-mer-rd¢-J,edp=0;
e=Fr/(mr*+1]). 3 s, s,
=163 mdgbyBo &= 9t/ (mr® +J,).= 1.5 §a°. T=(m; +m;+2m) S°/4=(P+P;+2P) S*/dg;
O0T/os=0; 0T/0S = (P,+P,+2P)2g- S
d(@T/8S) dt=(P+P+2P)2g-S. (P+P+2P)2g S =P;

11.8. L1831~ Ly 8¢~ L, 3¢,- L, 89,= 0 . 1 3¢;= R3¢y; L.
w= S =2Pg/(P+P,+2P).

L =Jg=mre/2; Ly*=Je=m,R%,)/2;
er=-&R;
L,8¢,— m1%g,8¢,/2— L,r 8¢,/ R- myr’g,8¢,/2=0 .
2L,8¢,—mr’g; — 2L,r / R- myr’g,= 0 ;
g =(2L,R - 2L, 1)/ (m;+m,)Rr?;

g =15L,/81° (m r m,+m,) .

13.6. q=s;  d@T/AS)dt-oT/es=Q,. (1)
0A=Q,0s; OA=-P,Sina dstL
3¢ =0s/1;Q,=-P Sina+L/r;

T=358% aT/os=0;
a1/0$ =70S;
d@T/0S)dt=708;

w, = §=(L/r—mgSina)/70;

w; =047.

11.9. P, Sina 8s — Fy, 8s - @,*°8s — L*° 8¢ -
-P,8sc — mywedse - Jo€c00c -
-Py8s; + @;%8s;=0.
Py =mg; O =mw ;
F,=P,Cosa -f=m,fg Cosa ;
Lf=myr’gy/2;
P, =m,g; Je=m,1*; P;=myg;




13.7. Q=9; d(8T/0 0 )/dt - 6T/og = Q, .
0A=Q, 00 ; 08, =08, =100 .
3A=P, Sina s, — P,8s,= P;r Sina. d¢— P,r 3¢;
Qp=_rg(mSino. —m,).
T=T,+T,+T;; T, =mv,*/2
T,=myv,2/2; Ty = Jy0*2=my 1 o

Vi=V,=TO=T1 (b; T=(2m, +2m, + m;)1? (b2/4;

0T/ =0;  OT/d () =(2m, +2m,+ my) 2 (P /2;
d@T/o@) dt= 2m, +2my+ my) * ()/2; (2m+ 2my+ my) * (/2 =r g (m,Sino— m,)

£= () =2¢ (m,Sina.—m,) /1 (2m, +2m, + m;).

13.8. Q=015 d@T/0Q )/dt-3T/6g, = Qqy .
8A=Qq18¢; 8A=L,56¢,~L,6¢,~ L350; ;
38 =185 88, =1,0¢,; 883 = 130¢;;
8s; =08, =0s3; O, = 1,091/ 1p;  8@3 = 1,8¢)/ 13;
O0A = (L,—L,r)/ 1, —Lsr/ 13) 89y

Qp=Li= Lot/ 1, = Lyry/ 135 (0 27T/ Ty (0 15
T=T, +T, +Ty; T=J,0% 2=mr> @ \/4;

T,=T;=myr,’ (0 24 ; T=(m+2m,) 1, (0 24

aT/og=0; OT/o( = (m, +2my) 12D /2;

d@T/o¢ ) dt=(m, +2my) 1> @ /2;
(m, +2m) * @ /2 =L~ Lyr/ 1, — Lyr/ 13

=) =2(L— Lo,/ 1, Lt/ 13 ) / (m, +2m,) r,> = 281.2 G387,

139.  q=0; d(@T/0 @ )/dt - 3T/op = Q, .
8A=Q,8¢ ; 8A=G Sina 8s=P&s + L 8¢ .
ds=1d¢p; 0A=G Sinard¢p =P rd¢p +L d¢ .
Qp= L+r (G Sino=P).
ngseo sbErgmgdl 3G ggm dmd@smdsls:

T=mv /2 +Jc 02 2; vVe=ro=r (0 3 Je=mp?

T=mr? (b2/2+mp2¢2/2:m(r2+p2) ¢2/2;
Mloe=0, aTOP=mE+p>) @; d@T/o@) dt=m@+p>) @;
m(2+p?) =L+ (G Sina =P);

g= (0 =[ L+r ( G Sina. =P)] / m(r> + p?) =3.48 ©32 .
13.10. C (3968 ®als oﬁdo—t‘)abo We=¢€T;
émﬁn%mﬁé\)g‘g‘aﬁ 3By dndGsmdaliol o = 0.
13.11.  q,=s; d@T/aS )ydt-oT/es=Q,. (¥)
0A=Q0s; OA=P,Sina 8s + P; Sina ds¢ ;

Osc=0sg/ 2=03s/ 2; Q=(2P,+P;)Sina/2;
T=T+2T,+T; ;

T, =P, Sy 2g; T,=Jow,/2; S= o1, ;
J=Par,2g ; TP, S¥4g .
C ©oligem .51561'3033615 661@)33(*3 IMdASmMdSs:
Ty= mave/ 2 Hew = Py S/222¢ + Pary/dg (S22 ;. Ty=3P; S /16g .
T =(8P, + 8P, + 3P,) $2/16g. aT/ds =0; aT/0S = (8P, + 8P, + 3P;) S/8g;
d(@T/0S ) dt= (8P, + 8P, +3P;) § /8g;
(*)-r0s6: (8P, + 8P, +3P;) §/8g= (2P, +P,)Sina/2;
wy = §=4g (2P, +P,)Sina./ (8P, + 8P, + 3P,) :
Eg=_WK/_2 5 (Wp= W= Wy =2w¢) .
1312, q=¢; d@T/0Q )dt-aT/dg=Q,. (*)
8A=Q,0¢ ; SA=PQ 5x — L d¢;
x =xg=-1Cos@; 0Ox =r Sing d¢;
0A=(PQr Singp — L) d¢.
Q,=PQrSinp—-L.
VA=X=rSin(p-¢; i

T=Ty+Tap+ Top. Ta=muvy2=me Sin’p- P /2; Tos= 30,72 =15 (0% 2

AB 35635338 sbomgdl 113 3Osmdsls . dogopemo  domabse @geol A

Bmgﬂ\nm. 3(*)(;1)‘31501& 3o€1'338m gt “Uvm&‘)‘aﬁaaoh dﬂmbao V. \)30@)(‘)3: TAB =
My 24, WY 2 s Ju=Je+ myAC? =1, +m, s> AAOB 3o ¢/ Sing =r/
Siny;

306m80L 0365b3s: Siny ~ 5 sdoBmd Y=t/ -Sing ; l// =1/ -Cos¢- (0 ;

339J693s: Trp =m, 1* Sin’e- (D /2 + (J,+m,s?) r* Cos’q/ 2% - ¢ 2,

domosbo bobggdobsogol T =[(m, +m,) P Sin’p + (J,+m,s?) > Cos’p/ 2+ J5] (9% 2.

0T/6¢ = [(m, +m,) 1* Sin2¢ - (J,+m,s?) r* Sin2¢/ /7] ¢2/ 2

OT/6 @ = [(m, + my) ©* Sin’p + (J,+m,s?) 1* Cos’p/ 2 + 3] @;
d(@T/ 8 @) dt=[(m, + my) 1* Sin’p +(J,+mys?) 1 Cos’e/ 2 +J5] (P +
+[(m, + m,) r* Sin2¢ - (J, +m,s?) r* Sin2¢/ (?] (pz .

99308600 dopgdmo 360336gmmdsbo maptebiols Il ggastols (*) 3obEmmgdsdo:

[(m;+m,) P Sin’e +(J, +m,s*) > Cos’p/ £ 2 +J,] (D +

+[(m,+m,) - (J,+m,s?) / £ 2] r* Sin2¢ (pz/ 2=PQrSinp-L.

9L 8oL dm3g3neo 39dsbobdol ImdBsmdol 3sb@mmgds.
13.13. Loliggdsl szl oo msgolbngnmgdol bstalbo: q=s;; gy =s;.
oa63b7g0l 336@mmgdgdo 0d69d0s6:

d@T/0S ) Mdt-0T/os, = Qg (=1;3) (%)




3) =815 Qo= S3= const;
0A = Q,,8s,; 0A=0; Qu=0.
3) q;= s,= const; q,= 833 8A;= Qy0s3;
3A;= P;Sinads;;
Qs=P;Sina = = m3gSina=2\/Tg .
T=T,+T,+T,. vv=S; T,=m S 2/2;
3omobee0 sbermmadl dhgygm Ind@smdsl: T, =m,ve? /2 +Hcw?2 .

VC - 3omobemol C 396@60L s3bomadaco Lobdsegs.
~$,.
v C%| | v 1> 93083, v C:\7 ]+\7 Crg 967 v c= S T S 35 030bmsbsgy:
Vo= 05 0= S3/1, (,=KC). 33086905 Ty=my( S +S 312/2+my 1,X(S /6,7 /4=

=m,(S 2+2S,S:Cosa+S2)/2+m, S 2/4 =0,15m,(2S 2+45,5,+3S ).
33-3 Lbgnmo sbmgdl Gome gses@ebon dmd@smdsl:

V.-V, V, - $8,;

C §9680mol gstrpmdomna bobJstry: Veg= V3

080md: Ty=myvi2/2, oby T:=02m, (S 2+2S,S ,Cosa+S ;). dorgeo
LobBgdobsmgoals: T=m( S 2+0,5 S 1 S 3+ 0,65 S ).
114

g0bsoresb:  OT/Bs,=0; T/0S =2m (S +0,25S 3); d(@T/8S ) dt=2m,( S 40,255 ,);
0T/0s,=0; 8T/0S 7=m,(0,5S +1,3S,); d@T/8S,)/dt=m,(0,55 +135,);
mo3@ebigols 11 33060b 3obBmmadgbo doomgbgb d9dwgs babyl:
2m( § 40258 )=0; o6y §,40258,=0;
m(058 +135,) =2vV3g; §,42,65,=6,79.

sdgesh: wi=_ S, =-0722 a/5?; wy = S,=2.80 9/

13.14. LoliBgdsl gsshbos mGo msgoligamgdol bsdalbo: q; =@, q =0,
@1 —1 330msbsl, borygnm @y — I Bs®hmls F93mdcrgbgdols ynmbggdo.

d(@T/o @ /dt - 3T/og;=Q; . (=1,2) (*)
8A1=Q, 3¢, ; O0A=L,59,; QLZ_LL;
8A= Q, 8¢, ; 0A,=L,00, ; QgLL_ .

T=T,+T;+T,.
A ©s B gdomsbgdo slérmmgdgh dG@ggem dmd@emdsls.
VA:OA'mZ:(Rfr)(.DZ:ﬁ(pZ;

Ve =Vve=0K-0, =R @ =3r @ ;
vB:OB-wZZ(R+r)¢l2:4r(b2;

3) ®3=op=V,/AD=v¢/KD;

3= (Vo + vg) /(AD + KD) =

=@, 43P )/ =30, +20,;

3) o= ®,=Vvg/BN=v;/EN;
o= (vg +vg) /(BN + EN) =

=@ Q43P ) =30 +4Q, T,=J0,/2=mR> @ Y2=9m @ ?;
Ty =myv, /2 + 1,0/ 2=mQr @ Y/ 2+mP@ @, +2 Q) /4=
~OQYAT3IQ, QB3P ) me.
Ty=mvy¥ 2+ 150, 2 =m(4r Q) 2+ mPG @ +4 D)/ 4=
—OQYA6D P, 12Q Hmr.
dogemo Lolgdobomgol: T=Q27Q 22+9Q (P, +15@ P)mr.
aT/6¢=0; OT/OQ =mP27 QP +9P,); d@T/ o ) dt=mQ27 P +9 P ,);
0T/09,=0; OT/0 () y=mr(9 ) +30 D ,); d (2 T/ 0P ) dt=mr2 (9 (P +30 P ,);
3363650 11 33060 a06Hmmadgdo doowgdgb Bgdrga Labgl:
mPQ7Q 9P =L, ; by 27 H9Q,=L,/m;
me(9 () +30 @) =L,; 9¢ 30, =L,/ mr.
53 Tobiggdol sderblbs azodemgsl: P = (10L,—3L,)/ 243 me;

3906893000 gl Gomeds; dogomgde: ;= ¢ =[A0L, -3L,) /243 mr?] t. (C,=0).

13.15. LobBgdel gsoshbos ™o msgols T Sobbolqp =@, o =00
@ — I 3d0msbsl, bome @, 115 3L (Gammal) F93mdéabgdols gambggdo.
d(0T/0 @ )/dt - OT/0@; = Q; . ( 1,2y \ 4
8A=Q, 8¢, ; 6A=L18¢, ; Qi =L, ; 8A)=Q,89,; 8A,=L,3¢, ; Q,=L,.
39-3  gdogsbgdo sLEmmadgb
3B gge dmdersmdsb.

V= O =1, (0 15
Vp = Mol =T (0 2-
) bobsbowsb :
oy = vg/BK=v/KD ;
ok = (vg+vp)/(BK+KD)=

=(r @ +Q,)/ 2.
vs=(Vp—Vg) /2=
=(r2(02—r1(01)/2;
hob@aaohom;;oh:
T=T+T,+4T;.
T,=J,0,%2=m,? Q 24,

T, =10,/ 2 =myr,’ (/4

Ts= myv3*/2+ Jyo” =my( 1, ¢ > 1 (0 )Y 8+ my(r, (0 IRyl (0 )7 16;
dogmo Lol gdobsmgol:



T=2Q N6-15,Q,
+(b o 8+11r)’ §b22) m;
oT/op=0;  d@T/ 0@ ) dt=mr, (T, P -1, P )/ 8;

oT/og,=0;  d@T/ @) dt=mr,(115, P -1, (P ) /8;
336567906 I 33960l gsbBmmagdgdo  doowgdgb Fgdrga  Labgl:

mr (7, @ -5,Q,)=8L; mn(-n@,+11n@,)=38L,.
53 Tobggdol sdebls agedemggb: @ =2 (11 L, r, + Lyry) / 19 myr,2
s

@,=2 (L1, +7 Lyry) / 19 myryry? ;

3906893600 gl Beommdgdo; befgolo 30Gmdgdals gsmgsmolfjobgdom (ty= 0, @1=0,

92=0, ¢1:0, ¢2=0) dogopgdon:
o=@ =[2(1L 5+ Lyr)/ 19 myr’r, ]t

=0 ,=[2(L,,+7L,r,)/19 mrr,’ ] t.
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14.1. k= 0; m,;=m,; v =63/§3; v,=0; u,=u,= (m,v,+m,v,)/(m,+m,) =33/{3.

14.2. k=0; P=12; v,=2; P,=14; v,=0;

u=m,v, / (m+m,) =0,92 3/¢3; s=mm,(v, —v,)/ (m,;+m,) =12,92.

14.3 k=0; v=10; v,=-4; P,=10; uv=0; (m,v,+m,v,)/ (m,+m,)

mv, ¥m,v,=0; P,v,+P,v,=0; P=Pv,/v,=4.

14.4. P,=200; P,=100; v,=0;u=6;
u=(m;vitmyv,) / (my+my)
vi=(m,+m,)u/m, = (P,+P,)u/P,=9.

3980 3960938 h Lodspmmowsb vi=0 LsGgobo LobJserom. 3s8ob

vi=2gh; h=v¥/2g=4,1283.

14.5. vi=4; v,=2; k=0,8; m=m,=m.

d0NINNISS: 3ndzeo  dqgaomemgdol  (3968698%g  gedsgemo
©gedo Mol n . 3s30b, OBl  dmmel  dgdormmgdols

BoBJocrggdol agadogmgdo 88 @g®dbg Igbsdsdolse 0gbgdash:

14.6.

14.7.

14.8.

14. 9.

14.10.

U = un+k(un_vln) >
Uy, = un+k(un_v2n) ’
boas(y u, = (myv,, + m, v,,) / (m;+ m,) 360l 3630693500
OB 430l Ol Lbynmgdols LogOme  Lohsey.
B396 Fgdmbgggzsdo:
U, = (v, + My vy,) /(M my) = (vitvy) /2 =3.
u, =u,tk(u,-v,,)=3+083-4)=2.2;
u,, = u,tk(u,-v,,) =3+0,8 (3-2)=3,8.
vi=4; v,=-2; k=08;u=1;u=-14; u,=34.

bogmog®o Fgogomol st gds mddeg gz bgosdocrby.

v,=v Cosa=7,2746 ; u,=-kv,=-2,42; n
u,=v,=v Sina 4,2 ; alv
u=Vu>+u’ =4,847. . B

k =tga/ tgp ; tgP=tga/k=V3. B=60°. u

u dodsGrorgeos 3nG0bmbE s . o

st gdol 0d3ymlo:
s =m(1+k) v, = 19,7948 6¢3.

117
sE3gbol 3ogBoEegh
OB gdol gmmby 0,
T96&omdo 0go39s,
A3 3Mg33mols yymby
0 G9o@omBo . sdogmd B Y
0, F9o@oedo:

W/ tgp=V3/3=0,577.

k =tgp/ tgy . 0 0,
tgy=tgB/k=V3. y=60.

6B Yds SoMEs3060s (a=0). u=kv. B
OB 9ol Jgdmqa 0B 3bsby: h
mug’/ 2 - mu¥ 2 =-2mgh ;

us=0; u=+V4gh =2Vgh; k=0,5; v=4gh. A

OB gdsdrg A0 gbsby: VoyAu i h
mv?¥/ 2 - mv,/ 2 =mgh ;
l6gh/2-v¥2=gh;  v,="14gh . 0

380b Gobs Py =2 36. Bodabyol Gmbs P, =1 36.
H=1,2253. v,=0; v, = 2gH =4,903 .
OB 43S 3G J@0s:



u= (mv,tmyv,) / (my+my) = (Pyv, +Pyv,) / (P +P,) =3,27 .
3080 ©s bodabyo gomse dndGsmdgb u bobJséom. 30bgdognGo
7696308 0obstrixqds F =23 36 Gobsmmdol asmsmasbzsby:
mu*/2=Fh.
h = (m,+m,) u*/ 2F = (P,+P,) u* / 2gF = 0,071 3 =7,1 1:3

14.11. 13683 Ubgmembg (v;=0) 3690693900 ©36@4gd0bsl  3ndol dogé

©33563 M0 30bgBogneo 9bgHyos:
AT=T,-T,=mv,?/2 - (m;+m,) u*/2=2816,763 .

118

wodgedgns
L 5. gmbgodg — mgmMonzgo 9gdsbogol 3uéLo
(wobosdogs)

2. 6. Bdsbgowdyg - oy ®mOovzo dgdsbogol
396OLbo (@obsdogs)
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©0653030L ™G0 doG0msEo SIM(396s - - - - - - - - - -3 (96)
F90@omol 3s@Imbogmo Gbggs ------------ 14 (99)
T90@omol dogmggsmo Gbgge === ------------ 18 99)
T968omol odnmagdomo Gbgge -------------- 24 (100)
dsbg30L  (39680. Igs@o Lbgnmol 0bye 300l

R e R EEE LR 29 (101)
3sbg30L (3960l INIHSMBS = = = === === - - - - - - 35 (102)

3ndA5m3ol BomEabmdols (33emomgdols mgmegds - - - 40 (103)
dndeemdol MsmEgbmdols dmdgb@ol (33momagdols

o R R E R LR R T 46 (104)

3069804960 g69c300L (33m0mgdols mgmegds ---- 51 (106)
. 3gbsdmm gopssEaomgdsms 3063030 - - - - - - - - - 61  (109)

©0b653030b Bmgoeo asbBmegés - - === ------- 69 (110)
336Bma80907mo  Jem®Eabsggda. 3ebbmyspgdmma

N e 75 (111)
@oacsbgob II 33560l 336 mmgdgdo --------- 80 (112)

EOOBYId= = = = = - m - m e oo e oo 92  (117)
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	    ÀËÍÚÀÌÀÇÀ  ÉÐÄÁÓÊÈ 
	                          
	 À)   ÃÈÌÀËÈÉÈÑ  ÎÈÐÅÄÊÈ  ÛÈÐÈÇÀÃÈ  ÀËÍÚÀÌÀ    
	 
	çó   ëíúäëóêèà m ëàñèñ ìèåçèäðè M(x,y,z) üäðòèêèñ ëíûðàíáèñ éèìäëàòèéóðè âàìòíêäáäáè ãäéàðòäñ éííðãèìàòäáøè x=f1(t),  y=f2(t),  z=f3(t), ëàøèì àë ëíûðàíáèñ âàëíëüåäåè  (X,Y,Z) ûàêèñ âäâëèêäáè âàìèñàæöåðäáèàì  (1.2)  ôíðëóêäáèç, þíêí çåèç  ûàêèñ ñèãèãä ãà ëèëàðçóêäáà  âàìèñàæöåðäáà ôíðëóêäáèç:                                      
	çó ëíúäëóêèà m ëàñèñ ìèåçèäðè M üäðòèêèñ ëíûðàíáèñ âàìòíêäáà áóìäáðèåè ñàþèç s=f(t),  ëàøèì  (F(,Fn,Fb) ûàêèñ  âäâëèêäáè âàìèñàæöåðäáèàì  (1.3)  ôíðëóêäáèç,  ñàãàú   
	ûàêèñ  ñèãèãä  ãà  ëèëàðçóêäáà  âàìèñàæöåðäáà ôíðëóêäáèç :                            
	                               F = ( F(2  + Fn 2  ;                                (1.7) 
	              
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	       
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 




